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HRT -1/ PART -1

[3]

[A]

9 fopr ue freee / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frifed & & B9-8 Gepea

Sy A T T HaE| g 7

(1) g afmH

(2) e e

(3) i faerd

(4) ergdfea ergfpan

BEE & THIGNE OeM & faE| @
IR STaEr F AY-fER, REEE &
TS G @ Fied § € e
YT & TG § ¢

(1) TaeamE s=m sigeard

(2) @R S9H 9 U9 HeE

(3) UBd SE M U A

(4) EEH S 4fFER 39 (Role Confusion)
e 1 I8 Hegd HeT AW A SR
g T B @ s & S Hedl @

(1) =FiFTTa s

(2) FAH 390

(3) TARTRT SEtEr

4) gt FarEr

AIgFT  FeR a9 (Applied
Behaviour Analysis or ABA) fifed &
A forg fosid ox anena B 7

(1) e STgdes

(2) fopan T ergee

(3) dimdfte s
(4) FRIeTomeTes IR

a1 AN B g8 HEA
?‘Fﬁ T g | e #
O ESUGEERES

(2) FAMSH 33

(3) o 3

(4) SArcAIEHEA

5 3
N AT ST
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1.

Which of the following concept is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's theory of Psycho-sexual
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

(1) Trust vs mistrust

(2) Autonomy vs shame & doubt

(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable

(2) Imaginary audience

(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Observational learning

"Young teen-agers often believe that
they are completely unlike any one
else.' This phenomenon is known as :
(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

P.T.O.
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[A]

FeoTes Aftrm & 9] 9l B ger

AL 7

(1) S@gM — SR — 9RO &
— Yo

(2) A — gROT BT — JASAEA
— BT

(3) HIY — TR — RO BT
— TR

(4) @I — IR HET — SAEROT
— godred

freifed & @ @9-a1 ®o9 e &

e o & frsid @ d@ed # @

& 27

(1) 98 39 HgaT W oeig ® %
foepra U STEAd iR 2|

(2) F& 9 AT W eTeid ® 6 o=
e Ug STHETR e R HiEd
2

(3) ¥ 39 THEAT W oEiRg ? %
foepr ws Tad ufEr 21

(4) 98 39 THEaT W omHiRg ® %
G {9 9 aon & & 2|

Sie 9 (&) @ HeheqaT, T W ©

(1) =T AT &l

(2) fopam 9ga STgee &

(3) Sidefte S &

(4) ofe &1 o

TR Gee U a8 § F qey § 7

(1) a9 fREl PR 1§36 a9 2 |

(2) 3 TR STFRAT BT HHOIX B ¢ |

(3) TERHE YAda el AR @l
3% ST & SEih 42 R TR
F FHAAR A 2 |

(4) THEIHEF QT R e &l

C T EC [y IS | ol S el

TR BT T A ¢ |
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[4]

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —
Reproduction — Motivation

Retention -

(3) Attention — Reproduction —
Retention — Motivation

(4) Attention —  Retention —
Motivation — Reproduction

Which of the following statement is not

true about the theory of cognitive

development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

4 It
development takes place in four
different stages.

believes that  cognitive

The concept of 'Life Space' is a part of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Lewin's field theory

What is the relationship between negative

reinforcement and punishment ?

(1) Both tend to strengthen a response

(2) Both tend to weaken a response

(3) Negative reinforcement strengthens
a response whereas punishment
weakens a response.

(4) Negative reinforcement weakens a
response  whereas  punishment
strengthens a response.
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11.

12.

13.

14.

(2) TH I X SEA B

(3) oTafas &9 & d9-9rd & g
(4) Ufoay da-gls e

frfafag & & @9-ar foeer efffesy
W fegaiEy & fauar 78 & ?

(1) 3= AR G & F=en

(2) AT STfhar H T

(3) 9fess AR AMfEs THET § qHEn
(4) STTATHE /ATEN FTEN

fhH S STUMT HiEEd Ha Seddy w4 qa%
foram | o9 fRpdl 3 SEeR T S 9Bl
e IO % a9 ofF & IS F U

TEHT HIOT FiRT § 9 B Tl B -

(1) &R

(2) JEERRT e

(3) &u

(4) ULFEA

fr=rifhd ® @ $9-91 FHE A &

gﬁ;ﬁ—ﬁ@ﬁ%%@ﬁ%ﬁaﬁﬁﬂﬁﬂﬁ

(1) 5= S & @d, o gemar &,
T X T ¢, 3¢ B 8¢ d a5

(2) Trexs e &1 o=, 39 fosid @
T A B |

(3) T 919% & SIS [dpre § AT
& T @ SUET BT 2 |

(4) 98 99T faem § 99N U9

TG B R W Td T © |
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10.

11.

12.

13.

14.

[A]

If one activity occurs more often than
another, it can be used to reinforce the
activity that occurs less often. This
principle is known as :

(1) Premack's principle
(2) Thorndike's principle
(3) Skinner's principle
(4) Pavlov's principle

Which of the following is not an
example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month

(2) Dialing a busy number

(3) Having a periodic dental checkups
(4) Getting increment every year
Which of the following option is not a

characteristic of Autism Spectrum
Disorder ?
(1) Problem in vision and hearing

Problem in social interaction

Problem in verbal and nonverbal
communication

Repetitive behaviour

2)
3)

“)

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :

(1) Decay

(2) Proactive Interference

(3) Suppression

(4) Regression

Which of the following is not true about

the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already
do independently.

(2) Concept of Zone of Proximal
Development (ZPD) is a part of it.

(3) It ignores the importance of
language in cognitive development.

(4) It emphasizes role of socio-cultural
environment in cognitive
development.

P.T.O.
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[A]

15.

16.

17.

18.

19.

& & AR & AFAR, Mg § A

T IS & & U S0 787 & ¢

(1) TN (2) fasaser

(3) deawor (4) SR

qRask & W-hed dHiedd @ AN [+Fihd

T q H-a1 Y T J@7 e ® ?

(1) N aREEs

(2) fia

(3) T TN

(4) T ug Zqur

fPX el & fRarew & dew #

gn:ﬁm ¥ q 9T FUH G9E T8
,

(1) I 9fFT OF & 06 TR 2|

) famEas & W FReiR S gfE
W I & g8 3% H e 2 |

(3) HH AN % SO SRIG fohar
e B 2|

(4) 39 IR® & S99 TWRE ha
T Bl 2|

U AR T HegH HYT © b AT T
S 9T TEq 9 B 9 T2 R 7
7€ Hdd B ¢

(1) HIF &3F H

(2) AR Hu® A

(3) SH-YR= /9B

(4) UM Ghe H

gl ‘TH B F B8 ud gEl e H
e ToW foeifed ¥ 9 R meR &
35 % gaay e § 7

(1) SUFM - 9REN B8 &l

(2) 9REN - URER &3 &

(3) JUFH - IUFH &3 Bl

(4) 89 SUFM - UNER B8 &l
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[6]

15.

16.

17.

18.

19.

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?
(1) Application

(3) Synthesis

(2) Analysis

(4) Responding
Which of the following is not controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing

Which of the following is not true about
Day Dreaming among adolescents ?

€]
2)

It is a form of active play.

The roles adolescents adopt in day
dreaming are heroic.

(3) It involves more physical activity
than mental.

“)

It involves more mental activity
than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It
indicates :

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

The phrase, 'six on one hand, and half a
dozen on other' best describes which of
the following type of conflict ?

(1
(2
(3)
4)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double
conflict

Approach - Avoidance
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20

21.

22,

23.

24.

SEASR & ‘TRRfa@E = & R
% AR F=Ied § § -9 d% &
‘Teq & ¥ Hfed 78 © 7

(1) fomme (2) 99

(3) &rgd (4) qfq Rasr

TR & 899 4 g § 8 $E-a

Fo TE & 2 7

(1) 72 Read 1 0% TR 2|

(2) T8 98T Faer H gha &Xar 2 |

(3) T& TH S IS ¢ |

4) T8 FIFN & 3T B & Qe
T 2

GEEIR F FEg e @

g

(1) o wd |Eae g/

(2) 3T Td Fed EN

(3) e g gae Enl

(4) aeET TF X &

“foepr & 39 O H d= oTONl o,

HM, B UG Y Hdal HW & BN

fefqe & g1

I8 FoE [ifed § 9 fR9 G

frepra @l eTaeen @ Tay AR § 7

(1) FIaT TMHE STaeen

(2) Y4 SR ST

(3) HoI HRRAHE AT

(4) SNvenies GfpaTHs STaw

=g § 9 fhe d@-otemad @
GRS AT 1T B 7

(1) 3T@he foo

(2) FEER wEE

(3) Sito ©d &

(4) dlo Tho R&pX
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[7]

20.

21.

22,

23.

24,

[A]
According to Ecological systems theory
of Bronfenbrenner, which of the

following does not belong to Macro
system of the child ?

(1) School (2) Values

(3) Laws (4) Customs

Which of the following is not true about
areward ?

(D
()
3)
@ Tt is

response.

It is a type of bribe.

It increases desirable behaviour.
It is a pleasant stimulus.

given to strengthen the
The 'investment theory of creativity' is
given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart

(4) Watson and Ryner

"At this stage of development, children
think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

P.T.O.
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[A]

25.

26.

27.

28.

29.

30.

freifed & @ @9-T fRONEeEr &
auRe fide &1 e 787 8, 9 %
Tdfhrs R 9/ T 8 ?

(1) aTestars

(2) aE-fqarE @ ggfia

(3) gffserar /s

(4) fafersedr %1 ggfd

Frifed & & -9l e Zeee
Awais 78 & ?

(1) THe qHE

(2) ufEeT

(3) @9

(4) wEe™

dFe® BN Ry ™ i
Rrgid & ®F-a1 M Qe @bl
HHT & TG © ¢

(1) I9AT FT 39

(2) AR &

(3) 99 &I +IH

(4) TR (o) @1 frem

AT uh el T e ©

(1) 3fte qriaer g s==i & foe

(2) A el g el & ol

(3) IR HABRHACT gl & forg

(4) difEH HeHal Ja F=al & U

¥ gfE F MEaied § 8 S

Hebad ddiad © 7

(1) & T8 103 & 91 BT

(2) W4 & Fad e B

(3) S IS U HEAT

(4) TS & YA HEE T Hl T
BT

UF S BT BT oY Geuel @l
3% Ul YRR ARGl & 99T 39 Igd =Y
T 3T G & A 2| TE FaRIT B
(1) fopam 9ga STgeed &

(2) I AT

(3) MOEeTHS I #

(4) dAmfte AR @

[8]

25.

26.

27.

28.

29.

30.

Which of the following is not a form of

immaturity ~ of  thinking  during

adolescence as proposed by Elkind ?

(1) Idealism

(2) Argumentativeness

(3) Assertiveness

(4) Specialness

Which of the following is not a

democratic teaching strategy ?

(1) Problem solving

(2) Project

(3) Discovery

(4) Demonstration

Which law of "Trial and Error' given by

Thorndike is similar to the concept of

'reinforcement’ ?

(1) Law of Use

(2) Law of Disuse

(3) Law of Effect

(4) Law of Readiness

'Modelling' is an effective teaching

method for :

(1) Children with visual impairment

(2) Children with learning disability

(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator

of high intelligence ?

(1) Scoring 103 on an IQ test

(2) Reciting poem from memory

(3) Earning high grades

(4) Not making the same mistakes after
receiving feedback

A child angrily hits a playmate in the

same way that he has been punished at

home. It is an example of :

(1) Operant conditioning

(2) Classical conditioning

(3) Observational learning

(4) Insightful learning

Level-3/3317
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[91] [A]
HET- 11/ PART -1
A (R= ©d $i3sh) / LANGUAGES (HINDI & ENGLISH)
[ &=t / HINDI ]
@1 : =i god] % Gae @7 @ [ qq8 ST [aped gl
31. aniE 3fe & ofgE 9= BifeT 35. ke § dgaE o1 A= H SFGAT H
(1) ST Bifeq :
(2) aeafhd (1) srpalt
(3) siHET™ @) A
(4) BT () gt
32. @y &l gfte 4 ogTT fahed T 4) gt
(1) TF + 91X = GEER - ,
36. 9 ey H ‘orgm OgEY THE &
(2) fasa + oo = fqsanie T g 2 7
(3) TAW + R = FHAER () e @ R

(4) 9 + =T = HAIRA .
(3) WA (4) T

33. U # ge § FHIT faehed T 37, @R A B F6 @ Y - am A T

(1) Fry + 7= e &

(2) $% + 7 = et (1) P (2) S

(3) AT + T = *AhE 3) UFEREE  (4) GEVEEE

@ RRrS + == e 38, T W G A aw AR
34. §IE F e q -4 A9 o g7

87 (1) R &R ==

(1) 99 571 99iid = dq gofia (2) T, a9 o

(2) 9T & TN AT Tl = T (3) fefT X eeh

(3) @ Sl =g AT HT = T (4) @, ard T ge

(4) TIER % [T 0F = GHERIE

Level-3/3317 P.T.O.
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[A]

39. 59 9= ¥ ‘qUivy o A’ &l GIT

40.

41,

42,

TET & 8 7
(1) s
(2) =B~
(3) THD
(4) HIg=BE
TE AR g d Al B B - I
e faQer @ e @ feg sraem @
ara® & 7
(1) Feaeqn

(3) STHIERAT

(2) FvEET

4) 3T & #1E T
=1 4 @ fpm foeed & ST aes
e B 7

2 g

(4) g«

(1) g
(3) T

FROBRE P qH G

(1) & G 9 | el ¢ |

(2) I R 3@ M2

(3) T Y&l | e e ¢ |

(4) 39 @Edl BF | UF == H 6§
goe | T |

[10]

43.

44,

45.

qu-fax @ e | oI faeed

g -

(1) T% & M & I=and & a9 @i
% AN 8 M @Y IR & R
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYFR W@ FA ¢ |

2) FTER @S B TP g TEE
T @R A T 2 |

(3) o1 @ & IR ¥ gar T 9
T g @A g@ A4 e o
I AAE WX &Rl A o
S B9 @ & SERe {4y
G & G- AR d G b
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
e 2 |

BAAHY SR UH-gEY H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BIegHe e (2) Hred Al
(3) 9Mg Aia=q (4) | aaHm

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, ¥, aRife], &1

(2) &, A, A, foase

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, e

Level-3/3317
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[11]

[A]

[ 31351 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
1) A (2) An

(3) The (4) zero article

Level-3/3317
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49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
(2) He told I have passed.
(3) He said he must have passed the

examination.

(4) He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate
(3) Detach (4) Valid

P.T.O.
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[A] [12]
53. Choose the correct plural of the word 57. Choose the correct option of the
'species’ : underlined phrasal verb :
(1) Specis We must cut down expenses or we will
(2) Species be getting into debt.
(3) Speceis (1) Reduce in size or amount
(4) Specieses (2) Appear

(3) Expose

54. Choose the correct preposition for the (4) Rise to the surface

blank given below :

58. Choose the correct form of the verb

She had great affection ............. her 'play’ from the options below :
grandchildren. They .............. (play) since four
(1) within (2) into O'clock.
(3) against (4) for (1) have played
(2) will play
55. The old man was tired of walking. (3) play
The underlined word in the sentence is (4) have been playing
used as a :

59. Choose the correct past tense and past

(1) Participle participle of the verb 'Begin':

(2) Gerund (1) Began, Begun
(3) Noun (2) Begun, Begun
(4) Adverb (3) Begin, Began

(4) Begun, Began
56. Choose the correct form of the verb :

60. Choose the correct synonym of the

Gymnastics ............... my favourite
word 'Pinnacle' :
sport.
1) Peak 2) P
(1) is Q) are (1) Pea @) Pass
(3) Foothills (4) Deep
(3) were 4) do

Level-3/3317

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others



Telegram - @TeachingExam

[13]

[A]

HET -1/ PART -1l
qHEg 31e9g-1 / GENERAL STUDIES

[ A% JRGdT, difthsh AT G |MT 319 U9 ST / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

g " 10, 12, 15 q&1 18 &

faiora 8 arem e ot & B
(1) 876 (2) 900
(3) 981 4) 1024

CHMUTARAND, BH P EIA
H WL ERIFND & 921 C 2, a B
3 E &1 91 95 & 7

(1) A (2) 4w
(3) dfd 4) e

fepdl wibfcss w1 § 'CERTAIN' &l %¢
= 'XVIGZRM', 'SEQUENCE' & %z
& 'HVIFVMXV' &, @ 'MUNDANE'
9<% I FE BN

(1) NEMWZMX
(2) NEMWMZX
(3) NFMWZMV
(4) NFWMZMV

fr1 § 9§ ®9-91 =5 "DICTIONARY"
% e B JAN B §U FgT oAl S

Tl & 7
(1) RATION (2) DAIRY

(3) NATION (4) ACTION
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61.

62.

63.

64.

The least perfect square number which
is exactly divisible by :

10, 12, 15 and 18
(2) 900
4) 1024

(1) 876
(3) 981
A is the father of C and D is the son of

B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(3) Husband

(2) Brother-in-law
(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded

as 'HVIJFVMXV' then how would
'MUNDANE' be coded ?

(1) NEMWZMX
(2) NFEMWMZX
(3) NFMWZMV
(4) NFWMZMV

Which of the following words cannot
be formed by using letters of word

"DICTIONARY" ?
(1) RATION  (2) DAIRY

(3) NATION (4) ACTION

P.T.O.
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[A]
65.

66.

67.

68.

69.

70.

- @TeachingExam
I P, Q # 9E &, R ,Pem 2 S, T
AL E, T, QH IAE, TS F AR
HN 2 7
() R 2) Q
3) T 4) P
"BRIGHTER" 91 & STeidi & fhad U
fF SfIel oy & 2 § ?
(nH 4 () 2
31 “4) 3
g Lot g q [N g aw
y 5 ' 7 2y+x
2
1 3
(1) l Q)-;
1
3) 3 4 1

Uh AYX H, A 9 C & 49 & AII

2:18 &% AdB % 9 FET @
3:2 8| AR ITH FW A9 B

1,573 &, @l Bl feher & e 7

(1) 363 Fo (2) 484 %o
(3) 605 %o 4) 726 %o
U AEH AU G G 14 a9 g H F

g, a1 a¥ 9@, IEH AY A I H

AY 1 A BN A g @ aaEe g
e 7

(1) 84y (2) 10 a9
(3) 12 a9 4) 14 a9
S # e gl Hemr S i
10, 12, 28, 90, 360, 1850

1) 12 (2) 28

(3) 90 4) 360
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65.

66.

67.

68.

69.

70.

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

(1) R 2 Q

3 T 4 P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

(H 4 (2) 2
3 1 “4) 3
If £=i, then value of (E_Zy—x]
y 5 7 2y+x
is :
1 3
1) — 2) =
(D p () p
1
3) 3 4 1

In a business, A and C invested amounts
in the ratio 2 : 1, whereas the ratio
between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.
How much amount B will receive ?

(1) Rs.363 (2) Rs. 484

(3) Rs. 605 (4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of
his son is :

(1) 8 years
3) 12 years

(2) 10 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1 12 (2) 28

(3) 90 (4) 360



Telegram - @TeachingExam

71.

72.

73.

74.

75.

28 9 & TS, 42 89 B TSI g 21 FW
3 U2l @ Uk & IR WX 39 YR 9
T S R s vde iR § dad
T% & TER & GHF §eq § U el al
el gl #B I & U G dfRE
% gE& erl o

(1 9 2) 10

3) 11 4) 13

A % = B 8 g U B & = C A
et &, afe Rl g0 &1 C, 54 fee H
T Ha P, A B M o H 9@
F4T ?

(1) 9 e (2) 18 e

3) 12 Hee 4) 15 e

AT AFAPR e B TEE Td AR
AT 50% TA 20% TR A B, o
56 &5 § fehad T gha B 7

€] 2)

3) “4)

wh W

10 @eX 39 | 8% UMl &, TEH b
g gy e e Sed 3w e |
Il 4% & T 7

(1) 63X (2) 8dex
(3) 10dmex (4) 15 dex
PIiS sinA—cosA=0 g, ar
sin* A+cos* A & A BT
(1 o ) 1
1 3
3) 5 4 2
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71.

72.

73.

74.

75.

[A]

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in
which the above trees may be planted is :
1) 9 (2) 10

3) 11 4) 13

A is twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time
will B cover ?

(2) 18 minutes

(4) 15 minutes

(1) 9 minutes
(3) 12 minutes

If the length and breadth of a
rectangular plot be increased by 50%
and 20% respectively, then how many
times will its area be increased ?

€] 2)

3) “4)

wh W

10 litres of milk contains 8% water. What
quantity of pure milk should be added to
this mixture to reduce this to 4% water ?

(1) 6 litres (2) 8 litres

(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :

(H 0 (2) 1

1 3
3) 5 “4) 2

P.T.O.
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[A]

76.

77.

78.

79.

80.

U @, HivEd g @l ergyee %
g9¢ H 0 F & SEh 36 gl H
et #§ %an%ﬁaam%qfaaﬁ
5 foddt ufg =ver @ g @ s&dr g, o
(LSRR B 1 o o s L 1

(1) 10 fFdAver (2) 12 f&H Ave

(3) 13 fFdi/Aver (4) 15 fHt Ave

afs el FIe AT F 'pit dar na'
aad ‘GH =S &, 'dar tok pa'
gl “efe8l X g 'tim na tok' &

e ‘@ g 271 SE AW Y % g
P I= © 7

(1) tim (2) tok
(3) na (4) pit
e SR HOqE, IT-UREH &
‘oiygw aRv-ulE @l REr @

S a9 U AW ol T B, o
‘TAT H FA el S ?

(1) aferor (2) FA-uivEH

3) TUC-TE 4) T

TF O 3Rl Hl G 4p3 H 984 S
W UF IR 3l & G 13q7 o< =il

213X 13q7, 119 999 &, @ (q—p) F
qM B

1) 8 2) 9
3) 7 4) 11
Ru 0 FHHRT & A FA qEr #
foeel & e & faq e fowel @
el % qYE g
9*7%2%3%1(
(2) —+X=
(4) X+=—

(1) x++=
3B) +-x=
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76.

77.

78.

79.

80.

A boat covers a certain distance

.1 .
downstream in — hour, while it comes
2

back in 1% hours. If the speed of the

stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph
(3) 13 kmph (4) 15 kmph

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language
which word stands for "they" ?

(1) tim (2) tok
(3) na (4) pit
If 'South-East' is called 'East’, North-
West is called 'West' 'South-West' is

called 'South' and so on, what will
'North' be called ?

(1) South
(3) North-East

(2) North-West
(4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

(1) 8 2) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace '*' signs
and to balance the given equation :

9% 7%2%3%10
) —+x=
4) x+=-

(1) x++=
3B) +-x=
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81.

82.

83.

84.

85.

86.

Raarel, ™R 2018 & wREE @« #
ol qesh S

(1) @1 Ea

(2) I g

(3) fq™ F=1 Fred

(4) dmr i

frfafas & & F9-0 e afedr J
Tfed 78 el § ?

(1) & (2) FHHEEC

(3) 3= (4) g

& R v e J 1857 & shifaen Al
ECET-e e Mo B oo M 2|

(1) 9aa (2) Ueah

(3) Hard (4) ARA
STO-2011 & STUR WX ERATm @
JET FERAT X ©

(1) 75.6% (2) 65.9%

(3) 84.1% 4) 71.4%
FrfaRad § & b9 T & |1 R
TET U’ ST || T T © 7

OREEIESIEE

(i) ITETS

(iii) TeTEIN

(iv) 9oTTd

q& ST Y

(Dh @Tar Gv)  (2) 1) TAT (i)

(3) (i) T (iv) (4) FAF (iv)

do FHRT M & I} | fr=fareag § 9

BT AT FFT § 7

(1) do Jm Ml J fods & EmEd
el | wewayel G e |

(2) e oEd & NN S
T § WSl @ U S @
ST T o |

(3) S=H NaFl ¥ U Adied  Hawr
TRISTe foha |

(4) 1952 ¥ 1956 T% di {9 99 &
T R©
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81.

82.

83.

84.

85.

86.

[A]
The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia

Which of the following rivulets does
not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :

(1) Panipat (2) Rohtak

(3) Mewat (4) Narnaul

The male literacy rate of Haryana as per
the census-2011 is :

(1) 75.6% (2) 65.9%
(3) 84.1% 4) 71.4%

With which of the following states, the
"Kalesar National Park"
boundary ?

(i) Himachal Pradesh

(i1) Uttrakhand

(iii) Rajasthan

(iv) Punjab

Choose the correct answer :
(1) @) & (iv) (2) (1) & (1)

3) (i) & (iv) (4) Only (iv)
Which of the following statements
about Pt. Neki Ram Sharma is not true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi
'Sandesh' from Bhiwani.

He was a Rajya Sabha Member
from 1952 to 1956.

shares its

2

(3) Weekly

“4)

P.T.O.
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[A]

87.

88.

89.

90.

‘JegrEl foare A AN & R |

Frretferiee semt oX fer=m iy

() Wh fagar & T F faaE &g
gl,OOO U e feEr o
|

(b) U fauar wfeen & aiffie oM T
TRE B9 § FHH B IR |

SEE § & B-A1 #0978 /8 7
(1) Bad (a) T B |

(2) Fad (b) TE 2|

(3) Tl (a) AR T 2 (b) FE B}

(4) (a) T (b) AT T F |

frfofag & @ ®9-891 ®od ‘9qErr
T AT $ ST a7 & 7
(1) = (2) ST

(3) TR 4) @

Frefafad & & @e-a1 BEa g
geuis (dlo Silo g=go) T & ?

(1) Srerdt (2) g
(3) WEMYA (4) T
feeferiT el GHfer difon

Gy ]

A, X A% T () e
®R afTead

B. #HeX 3% Uem@d (i) o
® FAtad

C. HexX 3% uemad  (iii) 38%
WY HeH

D. Efedes BT (iv) B
ECm ATy

@& e g

A B C D
(H @ @ G Gv)
2 @ (@) @G) Gv)
3) Gv) @y Gi) (@)
@) Gv) @) @G) @
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87.

88.

89.

90.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

Which of the following crops does not
cover under the 'Bhavantar Bharpayee
Yojana' ?

(1) Sugarcane (2) Potato

(3) Tomato (4) Onion

Which of the following is a Painted
Grey Ware (PGW) site ?

(2) Balu

(3) Bhagawanpura (4) Bhirrana

Match the following :

(1) Banawali

Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa
for Flowers

C. Center of Excellence (iii) Jhajjar
for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :

A B C D
H @ G > o (Gv)
(2 @ @G @G (v
(3) Gv) @) @) @)
4) Gv) @) @G @
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[19] [A]
T - IV / PART - IV
Sl fasT¥ / BIOLOGY
R@sr : =i god] % oY @7 & [ qa8 ST ey i
Direction : Answer the following questions by selecting the most appropriate option.
91. IRACFNH TWH  FMHT B <M, 91. Karyotaxonomy is a branch of
amenfa 2 : classification, which is based on :
(1) HATEerpif~gan & der | (1) Number of mitochondria
2) Tfl'{f»ﬁ X UT S aren 9ef | (2) Bands found on chromosomes
(3) VAW # e | (3) Number of ribosome
(4) ST @t Rafg 9 (4) Position of gene
92. HW T qfges & @ 92. In Honey bee metamorphosis is :
(1) SRRl (1) Ametabolous
(2) oA (2) Holometabolous
(3) STHHETY (3) Hemimetabolous
4) THEd @"?{ Wﬁ'&) (4) Paurometabolous
93. TH Hial Q@W ﬂ"ﬁ, T FH adl 93. A blue Andalusian fowl is the product
T e ﬂ'ﬁ e ﬁﬂ? ¥ IO B 2 of mating black fowl with white fowl. A
L EEIKH gﬁ Bl aa'{ﬁ RIS ﬂ'ﬁ q BT cross of blue fowl with another blue
FEM I RO BT fowl results in :
() 1% : 2 it 1 9% (1) 1 black : 2 blue : 1 white
(2) 1%l : 2 g%e ¢ 1S (2) 1black : 2 white : 1 blue
(3) LS 2 i ;1 H%a (3) 1blue: 2 black : 1 white
(4) 2% @ 2 i (4) 2black : 2 blue
94. 1 H § AT R | Sebid 94. Which of the following is function of
AP 1 FF § 7 reverse transcriptase in retroviruses ?
(1) 98 TRAST HIAH & AL T T &l (1) Tt converts host cell RNA into viral
qERe 8 U7 U H gREfid i B | DNA.
(2) 98 JEW AR UF T H 8 T T (2) It uses viral RNA as a template for
ESER %ﬂ SRR (W) % =9 A DNA synthesis.
HH Al B |
(3) #& I AN UT U H UEH H (3) It translates viral RNA into
Fgmed I 2l proteins.
(4) T& WU HIERT F T T A (4) It hydrolyzes the host cells DNA.
AqEfed I 2 |
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[A]

95.

96.

97.

98.

fr & @ @1 ggeiem & an
qd JE e 7
(1) ug: gfie fages 2idr & |

(2) Y@ Hdel THIeH 3N AU Y |
9T 2|

(3) Henfaferm™ TEfes w9 A I 2 |
(4) =R fafire w9 & o1 S5 2

ESCAIRRIERIE I R OIS

(1) TCEHSH F IS & |

(2) FEEEIE & IAEl T TGEE q

RIS H G|

(3) ®WIE § Wb H G
(4) W G DS BN G|

arel — I & aren — I 9 femse aon
e R U I Fig 1 TR 9 g&

S gu

et -1 et - 11
A. xR (Sge-g9) () TR
B. SR (ii) T
C. BT ST (iii)®geT (Ffem)
D. qgifoTeR (iv)QepIaT
(1) A(v), B, CG), Di(ii
(2) Adi), B(v), C (i), D(@)
(3) AGv), B(i), C@), D i)
(4) A (i), B(v), C(), D i)

gﬂvﬁ@fﬁfwm@w%%ﬂmsw
?

(1) e
(3) faerfe <

) foefm €
4) g
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95.

96.

97.

98.

Which one of the following is not true
about deuterostomes ?

(1) Cleavage is usually spiral.

(2) The mouth form a new from the
surface ectoderm.

(3) The mesothelium arises by
enterocoely.

(4) The blastopore typically becomes

anus.

'Gluconeogenesis' means :

(1) Formation of glucose from
glycogen.

(2) Formation of glucose from
substances other than
carbohydrates.

(3) Formation of glucose from starch.

(4) Formation of glucose from fructose
Match Column — I with Column — II
and select the correct answer using
answer codes given below :

Column -1 Column - II
A. Statocyst (1) Nereis
B. Viviparous (i1) Ctenodrilus
C. Nuchal organs  (iii)Pheretima
D. Clitellum (iv)Arenicola
() AGv), B@Gi), C@G), D(in
2) A@Gi), B(@v), Cqai), D(@3)
3) AGv), Bdai), C@), D@3
4) A@Gi), B@v), C@), DQ(@a)

Cholesterol is required for the synthesis
of :

(1) Insulin
(3) Vitamin B

(2) Vitamin E
(4) Estradiol
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99.

100.

101.

102.

HEAGH TGl & SNl § HrEh!
STl & g d ¢

(1) @i e 2 &

(2) FA RN o 2

(3) FH ST e B

(4) #9 N e &

UF T & BIER H [God @ A
T 2% o) B § @ gl Tl
Fepel @epdl foheg S dem A e
gpd 2 = § F e foaew § o
TR BIAB AT W WET & R
Haifaes e ?

(1) g8 T

(2) AT B ATER ez

(3) el &l AfqurEn] fags

(4) oIS & T TEr faeas

et & @ $9-a1 qgew oo @

BN 78T © 7

(1) g% welwl (eefel) &1 oy
ElEx)

(2) E9X H & 71 fesE ‘

(3) o wedl (Red) & g & e

(4) & F T

A U T g2 % BN el g gy

A. @RSEE ERET & g g
A T &t At — 13 AR
BIeT & |

B. @hE & [ueH g e
Bl TGS — 1% 2N Bl & |

C. 9N faur i delite afeen §
T &g T ®9 § 759F & I 2|

D. gl fque & dends - 1 H
FERrAel R & Jhe BN A ¢ |

%?'.
(1) &ad A (2) AT B
3) A,CTI D &) AT C
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99.

100.

101.

102.

[A]

The haemoglobin of Invertebrate
animals differ from that of vertebrate
animals is in having :
(1) more lysine
(2) less histidine
(3) less arginine
(4) less cystine
The concentration of solutes in a red
blood cell is about 2%. Sucrose cannot
pass through the membrane, but water
and urea can. Osmosis would cause red
blood cells to shrink the most when
immersed in which of the following
solution ?

(1) Pure water

(2) Hypertonic urea solution

(3) Hypertonic sucrose solution

(4) Hypotonic sucrose solution

Which one of the following is not a

modification of placoid scales ?

(1) Bony box of Trunk fishes (Ostra-

cion)

Sting or barbs of sting ray

Teeth on the rostrum of saw fish

(Pristis)

(4) Shark teeth

Pick out the correct statements by given

codes below :

A. Synapsis of homologous
chromosomes takes place during
prophase — I of meiosis.

B. Division of centromeres takes place
during anaphase — I of meiosis.

2
3)

C. Spindle fibres disappear
completely in the telophase of
mitosis.

D. Nucleoli reappear at telophase — |
of meiosis.

Codes :

(1) A only (2) Aand B

(3) A,Cand D (4) Aand C

P.T.O.
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[A]

103.

104.

105.

106.

107.

108.

T RTAE R B B A
g 8 7

1) 16 ) 13

(3) 18 4) 19
Tec/Aelial & 9YE @ BiieT S @
w0 § A % dRal H @l @
A. TEHRNET

B. U=

C. T

ge fameq ®

(1) Atg C (2) BT C
(3) A,BT@H C (4) %39 C
Gaiters e a2 8§

(1) et &t

(2) =1 & (ie-feft)

(3) 1 WSl (WhIfcrAISH) H

(4) ST e P

SR (SfeTesT) ©

() 799 & T S SFad § He=id
2l T o |

(2) SFEERl & AT A [ § daiia
g 9% 2 | il

(3) gl H HHAT HE d TH
BRIy P TE |

@) gl H AT HE d TH
O ST & FYE |

TN ST T JURYT B ©

(1) Fg A (2) g |

(3) e & (4) FAEd §

TRIfFeAfer & gy ¥ 9 &M W

22 A | L

A. 3 yofeen |98 B § e e g
T g o 2

B. T8 Wi 1 19 & 2|

C. FIUHF THE IJTEA GEI< BNl & |
78 BT B

(1) &ad A
(3) &ad C

(2) ®ad B
4) A,BwH C
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103.

104.

105.

106.

107.

108.

Synsacrum of fowl from is made up of
how many fused vertebra ?

(1) 16 2) 13
(3) 18 ) 19

Select the group of fish/fishes which
feeds voraciously on Mosquito larva :
A. Trichogaster

B. Panchax

C. Gambusia

Correct option is :

(1) AandC (2) BandC

3) A,BandC (4) Conly
Longest gestation period is found in :
(1) Elephant

(2) Blue Whale

(3) Scoliodon

(4) Salamandra atra

Z00nosis is :

(1) Diseases of human that can be
transmitted to animals.

Diseases of animals that can be
transmitted to humans.

A group of gram +ve bacteria
infecting animals.

A group of gram -ve bacteria
infecting animals.

2
3)
“4)

Urinary bladder like structure is present in :
(1) Pigeon (2) Ostriches

(3) Penguins (4) Cassowaries
Consider the following statements with
reference to Hexactinellida :

A. They are entirely marine and are
found in shallow water.

B. Spongin is lacking.

C. Cellular dermal epithelium is well

marked.
The correct statements/statement arefis :
(1) only A (2) only B
(3) only C 4) A,BandC
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109.

110.

111.

112,

113.

114.

ks A= T i ) e U B s B Gl
I A ERT Bl § 7

(1) uifeamefafed (2) Tga

(3) W= (4) BIE ITH
uMa & AECRbgar H USEEm Bl §

(1) 60STHX & (2) 80 STFR &
(3) 70SUBRX & (4) 30 STFR &
99 & 9& U #2189 aen
il T8 il g' oEen MR
gRfeq’ Feardl 21 F8 fhas drsdr @
FH P BT Bl B 7

(1) Tl i (2) T @l

(3) R & (4) A= B
Frer & & s-a1 gafad 7&f & ?

(1) SHE aar — STRferEn

(2) TFEHT aRal — ARG

(3) fafsfe arar - &9
(4) Vsfewt arar - gFRTr d=ree

TS § FA:HE Bl §

(1) A=t

(2) ST-=E

(3) ST

(4) ergafeed

STITIST &l TAfereT o AR | g
F A AT E

A

B.

C. fafyre B<eey |

D. UGl & Wi @eel H faeeid
BT

g T B

(1) ATaq C

(2) AT B

(3) BT D

4) A,B,CTH D

Level-3/3317

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[23]

109.

110.

111.

112.

113.

114.

[A]

Which one of the following is a disease
caused by viruses with DNA Genome ?
(1) Poliomyelitis (2) AIDS

(3) Rabies (4) Chicken Pox
The Ribosomes in human Mitochondria
are of :

(1) 60 S types (2) 80 S types

(3) 70 S types (4) 30 S types

After death, the muscles become stiff
and do not relax. This condition is
called "rigor mortis". This is caused by
decrease concentration of :

(1) Actin (2) ATP

(3) Relaxin (4) Myosine

Which one of the following is not
correctly matched ?
(1) Ephyra Larva — Aurelia

(2) Parenchymula - Porifera

larva
(3) Cydippid larva - Ctenophora

(4) Rhabditiform
larva

— Wuchereria
banchrofti

In Echinoderms, the endoskeleton is :

(1) Mesodermal

(2) Endodermal

(3) Ectodermal

(4) Absent

Characters that distinguish arthropods

from annelids and molluscans are :

A. absence of trochophore larva.

B. an external skeleton made up of
chitin.

C. distinct mandibles.

D. subdivision of the
movable segments.

Correct answer is :

(I) AandC

(2) AandB

(3) Band D

4) A,B,CandD

legs into

P.T.O.
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[A]

115.

116.

117.

118.

119.

ARGUTIEN |, HRABE F Hehee,
% T B B
() 'Z¥@Ew F (2 T (@) B
(B3) AT () F (4) HEF D
g@@ﬁﬂ F Hahl H YA HAT FHBArr

(1) e (2) FHEE

(3) 9o (4) eTRIRTRAT

Sl U9 U @Y AR UF U § @l 9
STX fohaT o G B

(1) 3 07 T FH T TR S T
& =Ry &

(2) % TS WFET B A ERT
(3) Teftes grem @1 i &’

(4) fafare s@w & @ 1 (3eh) e
N

TR 9% EaN e O o

Sl B 7

(1) e aEw (T 9rm) &

(2) FET (AM) &

(3) #e (BX) &

(4) TEGEE &

FF T FRU B YeHL Fal (a9

gﬁﬂl:

F (A) : T ATl

gerrgT AT & R SRR Ryl TengH

T PROT BRI G STHAL T

P TEEA H ARAIET B H e

T 2 |

FOT (R) : @& ORoTEEd g A

HFTEAUQHI T S 2 |

ey &

(1) (A) g (R) 31 & & a1 (R)
el TEH & (A) |

(2) (A) @ (R) & 94 &, A6 (R)
el T T & (A) H |

(3) (A) ¥ &, g R o8 2 |

(4) (A) @Y (R) &Nf o B
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115.

116.

117.

118.

119.

Contraction of myofibrils in skeletal
muscles occurs between :

(1) 'Z' lines (2) 'T'bands

(3) 'A' bands (4) 'H' zones

The movement of Neutrophils into
tissues is called as :

(1) Diffusion (2) Internalization
(3) Extravasation (4) Phagocytosis

DNA and RNA may be easily
distinguishable by :
(1) Extraction of DNA by hot

trichloro-acetic acid

(2) Measurement of their ultra violet
spectra

(3) Estimation of rate of trypsin
digestion

(4) Colour reaction for the specific
sugar

Painkiller 'Nyloxin'is prepared from the
venom of :

(1) Pit Viper

(2) Cobra

(3) Krait

(4) Hydrophis

Read Assertion and Reason and select
correct option :

Assertion (A) : Phenylketonuria is a
recessive hereditary disease caused by
body's failure to oxidize an amino acid
phenylalanine to tyrosine because of
defective enzyme.

Reason (R) : It results in the presence
of phenylalanine in urine.

Options are :

(1) Both (A) and (R) are true and (R) is
correct explanation of (A).

Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).

(A) is true but (R) is false.

Both (A) and (R) are false.

2

3)
“4)
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[25] [A]
120. HAG {*ﬁﬁﬂ B AEHGE IR hH 120. By which species Human Insulin is
ST (¥qisefisT) gmT 2 & ° commercially produced ?
(1) zogifaar (2) FAEISTH (1) Escherichia (2) Clostridium
(3) wsw?féw (4) TIEHIFITH (3) Rhizobium  (4) Mycobacterium
121. S99 (A) v@é&éﬂﬁm T T 121. Assertion (A):The cyanobacterium
Anabaena is a
T (R): gFEar % %ﬁ'ﬁﬁl’&“ q diazotroph.
ey 11 Bﬁcﬁﬂﬁ grar Reason (R) : Heterocysts of
I Anabaena lack
(1) (A) X (R) T @& & X (R) photosystem II.
(A) @ TEI A= 2 (1) Both (A) and (R) are correct and (R) is
2) (A) A (R) a1 @&l g ﬁﬁ R) the correct explanation of (A).
(A) &I T& e T2 2 (2) Both (A) and (R) are correct but (R) is
(3) (A)TH 2 ﬁ’ﬁ (R) 316 2| not the correct explanation of (A).

(3) (A)is true but (R) is false.
(4) (A)is false but (R) is true.

122, oK & HEEGd &[S gRERE 9 122. Development of sporophyte from

4) (A) 3\ & g (R) A 2|

gﬁm H UREeT FHedr § gametophyte without the intervention of
-0 gametes is known as :
(1) AR (2) AGHA (1) Apospory  (2) Apogamy
(3) S (4) ST (3) Xenia (4) Apomixis
123. Taueq 4y wq 9 fAfdse fFm o ® 123. Neotype is validly designated when :
SERE
(1) Heusq Juae Tei 2 ¢ | (1) Syntype is not available
(2) THYEY I 2 2 | (2) Isotype is available
(3) AFEEY H B AR 2 | (3) Holotype is lost
4) T oo qrel 9 8 SR 2 | (4) All the original material is lost
124, TI-WF TH H FEA SEAFES H 124. The primary acceptor of carbon di-
s el © oxide in Hatch-Slack cycle is :
(1) offeraferss areet (1) Oxalic acid
(2) IR TESAH T (2) Phosphoenol Pyruvic acid
(3) TEIMH SIEHELS (3) Ribulose biphosphate
(4) BIERFCERE 3T (4) Phosphoglyceric acid
125. fy=fafed & @ #9-9 Sas Coaey § 125. Which of the following tissue is not
G@Wﬁ' A 8 7 present in angiosperms ?
(1) ¥gd+® (2) <IFTHIZHT (1) Parenchyma (2) Plectenchyma
3) g‘cﬁw (4) drgds (3) Sclerenchyma (4) Aerenchyma
Level-3/3317 P.T.O.
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[A]

126.

127.

128.

P — I & #id — I § Gafed &
A U U gef & SWEN @ @@ IR A
TG Y

e -1 e - 11

(T ) (et M)
A. T (i) ereferer el
B. (ii) @B TRIETH
C. 3R (iii) BT FAT
D. =0 (iv) FTESH J9ET
%c:
(1) AGv), B(), C(i), D (i)
(2) Aii), B (i), C(iv), D(@)
(3) A(v), B(ii), C (i), D)
(4) AGv), B(i), C(ii), D(@)

U6 mRNA # J[FECEs &-ga 4
IS Ed ©

(1) eEgNH g4 g/

(2) I-sT-AH Al &

(3) TEHGREE d8 FR

(4) BIEH-SRUEL 41 Z

Frefafad & & ®F-A1 g™ gafa 787
g7

(1) ST LR

(2) M — ey

3) fH g TH - "I

N o

@) TTEER - e
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126.

127.

128.

Match Column — I with Column — II
and select the correct answer using the
codes given below :

Column -1 Column - II
(Common (Botanical
Name) Name)
A. Mustard (1) Arachis hypogea
B. Groundnut  (ii) Cicer arietinum
C. Pigeon pea (iii)Cajanus cajan
D. Gram (iv)Brassica juncea
Codes :
(1) A@v), B(@), Cdii), DA(Gi)
(2) A (i), B(@i), C@v), D@
3) A@Gv), Bq@ai), C(@i), D@
4) A(v), B(@i), C(ii), D@3)

In a mRNA the nucleotides are linked to

one another by :

(1) Hydrogen bonds

(2) Van-der-Waals forces
(3) Glycosidic bonds

(4) Phosphodiester bonds

Which one of the following pairs is not
correctly matched ?

(1) Vivipary — Halophytes
(2) Velamen — Epiphytes

(3) Sunken Stomata — Xerophytes
(4) Pneumatophores — Mesophytes
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129.

130.

131.

132.

133.

134.

frfafed oM W R &Y e R
T el & ST W F& HAT B =TI
FITT

B B0 A E

A. I oAl @ TH H AR FHIEH
2 Tl 2 |

B. @i oMl oral & UH ¥ iU
FEF 2T Z |

C. M ofepiaa: 9 Iak Tl

R Siiat & fore a9 e 2
%< -
(1) Bug C (2) ATF C
(3) "=t C 4) 79 A
TEAAE  dfchl fFE B B S
I T -
(1) e (2) el
(3) Ty (4) TEdE

TEeeH Redeter & U goar & a1"
Testial dreard % ard Weide & a9

R

(1) (2) gwieidFT

3) T 4) s

fqumo] SRl S UrRY F, e
ey I R o Tehd E

(1) w9 A9 dad9 9

(2) 9 Fds Gadd

(3) Mg Hage a

(4) WITHRY G849 9
THRHE & °, T@l & URd & [hd
AN & Hae o f6ar S ® 7

(1) st (2) qarHrd
(3) = (4) g9 BT B
e SguRYT B E

() 7@ s (2) RfFgar 8
(3) geifeia §  (4) wgARE
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129.

130.

131.

132.

133.

134.

[A]
Consider the following statements and
choose the correct statements using the
codes given below :
"The genetic code is degenerate and
universal" means :
A. Amino acids may have more than
one codon.
B. All amino acids have more than
one codon.
C. Codons are common for mostly all
higher and lower organisms.

Code :
(I) Band C (2) AandC
(3) Only C (4) Only A

Gynobasic style is the characteristic
feature of which family :

(2) Fabaceae
(3) Apiaceae (4) Asteraceae

A nitrogen fixing prokaryote showing
symbiotic  association with Azolla
belongs to the genus :

(1) Rhizobium (2) Azotobacter
(3) Anabaena (4) Nostoc

Virus-free plants can be produced from
virus injected parent plant by :

(1) Lamiaceae

(1) Stem tip culture

(2) Leaf explant culture

(3) Ovule culture

(4) Anther culture
Morphologically, the spice-yielding part
of turmeric plant is :

(1) Root (2) Rhizoid

(3) Rhizome (4) Dried fruits
Elaters are absent in :

(1) Marchantia (2) Riccia

(3) Anthoceros (4) Funaria

P.T.O.
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[A]

135.

136.

137.

138.

afifeel it e &= § 2l @

(1) T 0 9 &

(2) S U§ H9 &

(3) T Tg ST @

(4) 9967 T MU &

Fem — I § Ru ‘Adaifes @ @
did — 11 § U @& qeu | gafe
HIOT T+ o0 T Zef H Herdr 4
& AT & FI9 Fi

PiaH -1 CAGL . | |
A. FfEEX 141 () BHETT
B. &9 | (ii) 7
C. 917 9| (iii) Friar
D. 2 (iv) ®T7H
ﬁ?:
(1) A i), B(@), C(iv), D (i)
(2) A (i), B(ii), C(), D(@v)
(3) A@G), B(v), C (i), D (i)
(4) A (ii), B (i), C(@{v), D(@)
o — I & Fq — I 9 ETy

A U T el w e 8 @@ 36X
& T HINT

HieH -1 CA L | |

A. FfE® () e d=94

B. &4 (i) TEHAT
U

C. TEHREHT (iii) rRNA Hgasor

D. WelR|E  (iv) g8q Al &l
qiRee

i’g?:

(1) A (i), B(@{), C(v), D (i)

(2) A(v), B(@), C(i), D (i)

(3) A (iii), B (i), C(v), D(®)

(4) A (i), B(i), C@), D(v)

%“ el AR § Y [
(1) 3 deimRe  (2) TR
(3) RNA @M (4) ToegfmTst
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135.

136.

137.

138.

The taxonomic category "Class" is

between :

(1) Order and Family

(2) Kingdom and Phylum
(3) Order and Genus

(4) Division and Order

Match the common names given in
Column — I with the correct plant from
Column — IT and select the correct
answer using the codes given below :
Column -1 Column - II
A. Reindeer moss (i) Lycopodium

B. Club moss (i1) Equisetum
C. Bog moss (ii1) Cladonia
D. Horse tail (iv) Sphagnum
Codes :

(1) A@Gii), B(@G), Cf(@v), DA(i)
2) A@G), Bdai), C@E), DA(@Gv)
(3) A@{), B@v), C(ii), D(i)
4) AGii), B@Gi), Cq(@av), D@

Match Column — I with Column — II

and select the correct answer using the

codes given below :
Column - I

A. Nucleolus

Column - 11
(1) Lipid Storage

B. Spherosome (i1) Glycolate
metabolism

C. Plasmodesmata (iii)rRNA synthesis

D. Peroxisome (iv) Transport of

macromolecules
Codes :
(1) A@Gi), B@), Cqdav), D>
(2) AGv), B(@), Cai), D(ii)
(3) AGii), B@Gi), Cf(v), D@
4) A@Gi), B(ai), C(@), DQ(Gv)

The enzyme used in Polymerase Chain
Reaction is :

(1) Taq Polymerase (2) Ribonuclease
(3) RNA Polymerase(4) Endonuclease



Telegram - @TeachingExam

139.

140.

141.

142.

143.

144.

145.

I O o N TRk S e
PIMERIART  oT & U9 [hvas
e 2

(1) R o & (2) Ut & |

(3) TGS o H  (4) TR T
‘SFR-SFR’ 1 FspdoT foF S 2

(1) 7T |

() oFfi#T |

(3) USHEH e

(4) BAEEH qE= 9

Uh HPRA B W FFh b 4ol § -
THIEAT (hvaeh Jeaned ardl @

(1) §I9 =i 8”1 (2) Yeligg? =iel &R
(3) U WA EN(4) TiHT =l &

e § | 2 g

(1) Hoofl, dee, T

(2) FTES, STa&ad, TIH

(3) IS, &I, SFIdD

(4) 9oofl, Hagd g, &

EA-H THASEE B & HA
i § Hiex Hifyep Suied e § ¢

(1) Tl & |ael &5%a § ghe & fog
(2) I 9= H 99 dfEd # &

(3) T & Gl kA H FHH B
e AR B @ fg

(4) UEHIHT TARH gROT A & g
Al Faw B HeT F bl &
(1) TRaIe (2) @I
(3) gl (4) wRofEl
gm%aﬁ%w%&?ram@ww

(1) % (F9d & &) (2) BT
(3) @™ 4) |
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139.

140.

141.

142.

143.

144.

145.

[A]

During protoplast isolation, the plant
cell wall degrading enzymes used,
belong to the class :

(2) Lipases
(4) Peroxidases

(1) Nucleases
(3) Cellulases
'Agar-agar' is extracted from :
(1) Argemone spp.

(2) Agaricus spp.

(3) Rhodophyceae members
(4) Phaeophyceae members

In a germinating maize seed the enzyme
a-amylase is produced by :

(1) Seed coat (2) Coleorhiza
(3) Aleurone layer (4) Coleoptile

Periderm includes :

(1) Pith, Cortex, Cambium

(2) Phelloderm, Endodermis, Pericycle
(3) Phellogen, Phellem, Phelloderm
(4) Pith, Vascular bundles, Endodermis

Motor cells are present in the upper
epidermis of leaves of many monocots
to:

)
2)
3)

Increase the surface area of the leaf
Store large amounts of water

Check transpiration by reducing the
surface area of the leaf

(4) Bear unicellular trichomes

All fungi can be termed as :

(1) Heterotrophs (2) Autotrophs
(3) Saprophytes (4) Parasites

An example of fibre obtained from stem
of the plant is :

(1) Kapok
(3) Cotton

(2) Coir
(4) Flax

P.T.O.
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[A]

146.

147.

148.

149.

150.

UEq TgE ForH SeoEg @A S
A & FA 2 A TEREEE W
st &Y 8, ® ¢

(1) (2) SRS

(3) MEwEe (@) R
GCgeA Fahaq dicl Hach Hl qYE FoTH
offfee SR A1 @ oFgURe B B A
T &, aFa H W ©

(1) SYEE/EE (2) FHEHE

(3) EEHMEREN (4) TEHREHIE
frfafeq § @ #H-a1 06 dRNeEs
7& 87

(1) sfa@n (RUBISCO)

(2) VESITEA

(3) Hifeust

(4) TR

99 a9 @ W@ ud & o
AT IO~ G 7 bl S
Tl & -

(1) Th®IE &’

(2) DI g

(3) <fidw=ER g/

(4) TSHTEE T | ITEG &Y
HHRT B W® daE 4l § ga ady
3Tl BT SieT SR BT B

(1) offerardme

(2) TR |

(3) A=z |

(4) TEdEe |

[30]

146.

147.

148.

149.

150.

The sporophyte is not free living but is
dependent on gametophyte in the plant
group :

(1) Algae
(3) Pteridophyte (4) Gymnosperms

(2) Bryophyte

A group of fungi with septate mycelium
in which sexual reproduction is either
lacking or is unknown are classified

under :

(1) Deuteromycetes (2) Oomycetes

(3) Phycomycetes (4) Ascomycetes
Which of the following is not a
polypeptide ?

(1) RUBISCO

(2) Ribozyme

(3) Protease

(4) Nitrogenase

seed coat

Dormancy caused by

impermeability to water and gases can
be broken by :

(1) Stratification

(2) Scarification

(3) Vernalization

(4) Abscisic acid treatment

In germinating oil seeds -oxidation of
free fatty acid takes place in :

(1) Oleosomes

(2) Glyoxysomes

(3) Mitochondria

(4) Cytosol
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6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

e T 3 AT WHI BT R A & I SYHT SR TeAd
HTAT STTQIT |

7. 3% B W—gﬁﬂwl # 39 o & forg & € @relt SFE W & &Y | (Rough work should be done only in the space
provided in the Question Booklet for the same.)

8. T ITR Bact OMR TR TFd W B 3ifhd P | 30 SR SIHYdd 2Afhd B | IR I8 =g ¥9d (o1 (AHE Foge) Bl
T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

9. TS U & forg Ry MU aR Raedl # & Sfd ey & folg OMR STR U9@ W &ad Ud gd & & g4 aRE el / Blet
dfcl Wrse 9 9 W Th IR SR 3ifhd PRA B 9GS Il T8l O Fhdl B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

10. 3 FHARET X 6 59 IR I5d B AIel 9 WY Td I R BIg 31 M9 7 M | 3pgedi =1 gl IR T5d
# feiRa e @ srfaRad e 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

11. TE-YRAHT Td IR TFAF P LGS YA &, R fHe f aRRefy # (Uea—gRaer vd SR =@ & HHie # A
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. U9 RTHT /IR THF § AU T FHHAd B el T RS A g are # ford | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. 3l BT G B/ HeT | YA UF AR YgAM UF & SfIRa [HAl THR B qreadmd, gfad a1 sxifoiad STl B
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Tfad | & AT AMT STYT | OMR SR U3d § FufRa o w | anafdial gmr 9 w19 & o &1 foeme
mmélWm%ﬁwwwmmwm%w@ﬁwﬁammaﬁqwﬁwﬁ
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gE—gRa®T § Ry ¢ &M off ge § 31 IR 1 31 dag B @ 3w oy AR 1 e vl & SwRrT ufdasT @7 @
o srawR fam ST | o enweft fFiRT oTavR & IRM TW TR H AT UfIdST 9IS FrEfad # IO HRaT WHd &1 T AaW
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[3] [A]

{1 -1/ PART -1
91« {9 9 fArnemes / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1. 4 AR SR a9 AR &l e
w7 § gAE A, F[/ECT & AR W
AN iR BT OM GERAT R e
(game) &G W AR & S
RIFRRYT HEA ¢ -

@ 2 Hih 98 I 99 H TR Tl B
T % aa oiR IE% WRaR & A
FT 3| T8 el FaeT @

(1) Haq SN AT H

(2) P I ARTROM H

(3) TIRE AR ST A T SRR
(4) T A R AR T & ’T SIRERIT H

Level-3/4317

1.

Positive facilitation of present learning
through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1) FHeEiE (2) STHHE (1) Vertical (2) Sequential
(3) wsEH @) fEneE (3) Lateral (4) Bilateral
2. fooe@ @SS @R St @ 2. The democratic organisation of school
yeifad FRar B, ST H T BB influence learning, this factor of
Twefeed ® - learning is related to :
(1) fafy e o | (1) Methodological aspect
(2) |HITRE T8 9 (2) Social aspect
3) HdH 987 | (3) Physiological aspect
(4) TG g & (4) Psychological aspect
3. fy=ifeReq § @ d-€t Ao foenfiat & 3. Which of the following is not an
e S| 1 ga T & fQ appropriate strategy for improving
SEREN TR ? students problem solving ?
(1) faenfiiat o yeEies e (1) Functional fixedness of students
(2) TEAAe-[9ed qEERT & TN b (2) Give extensive opportunities to
fTT e ST} A solve real-world problems
3) IR IR gy ¥ A (3) Involve parents in children's
HI |iAfed B problem solving
@) foenfdl @ 9w 9HEE # g (4) Monitor students effective and
AR ol dAewrel @ HireX ineffective problem solving
(EIE?[%FT) Tl strategies
4. A Eﬂgt_ﬁﬁ EIECIERURCE RG] J& 96 4. Rohan is reading a latest Bahubali comic

book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of :

(1) Only intrinsic motivation

(2) Only extrinsic motivation

(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation

P.T.O.
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Hiepios JanE (FE) 8 S99 & g

freifoie & & -6 T STl b

e B ?

(1) fafy= faftal @1 Swam feenfR &
M & [T BT

(2) TH W AFDHIHT TUEOT H ST

HET

(3) AHESI fAR=eT @l AR
% BT T

(4) ST B FW P [T GEHA B
STRT § S

Heaa] & Har ¥ 5 & W Afas
o 9@ AMel UX omuiRa e B
ST GX SR il & °

(1) E-S=eH &R

(2) T &Y

(3) U9T Y= &N

(4) oY Siqaateds WY

fF e fha UWEr dOe 9
HOM T GHEST H GHIEN BT 39
ff gifad &ear &1 39 e # foww
& I Bl &

(1) SATgefmEp

(Z)Err{ﬁ $ % AgHdl

3) T X S8 AR
(4) gaqar (FReaan) s™

frfafeg & § -a1 dor foeft &
FiivTh  (STeleIorh) fawm @i &
Waﬁaﬁwu&zﬂﬁﬁﬁ)ﬁw%?
(1) A (Sgfhedl) TR S
mﬁa%g; ¥ Tyt el RifE
T BEET THAN B B HETT
(3) ol & =9 TR & FEES
B H AT BEH IT ITH aRE
gﬁ?ﬁﬁﬁﬁﬂi’rmﬁraﬁng

(4)Wﬁﬁw%$ﬂ?§lﬁﬂ
& 6 ‘A M
HeMaY Y91 47 B B gHES
7T GUST FHifoTT

Level-3/4317
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Which of the following is a good

assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of
methods

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid using  portfolio  for
assessment purposes

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(1) Heredity

(2) Environment

(3) Early-later experience

(4) Continuity

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute
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IMER, ofed 99N #

ﬁssﬁr mﬁﬁm § § pH-a
ST FH AT AH FA © 7

(1) TR (T5aH) Hae

(2) UBTN Iudfey

(3) BTN faaH

(4) TEEM ArEE-FEY (HRER)

RN fenfial & a9 # #Rd g Th

AeHOE & U gaite SugE FM

T B

(1) feenfiEl § ol &3 & [T e

() & guE FX e @
qReheaHIeT HLEMT

(3) NIl I FHHA GishASA H I
T&N BT

(4) Th FH TA GHA YAl IS Fl
I/ HET

J 9% A e F AW S &

3fte feorar B &

(1) 20/70 & 20/200

(2) Y MaR® o6l & | 20/20 3fe

(3) A9 FaR® a6l & 9y 6/6 3T

(4) 20/10 & 20/30
arftrmear (1R i T
WW%E@W%#T@T
sl @t derdr | SNl gHe @ ffia

FE B U Teded B 8, 98 ® ¢
(1) Sradt TfFm

(2) AFERIT oFast TRty

(3) L SERd SAfrH

(4) ST SR STfETT

g% b AU, 99 T8 [BHl B W
Piad TE @ U, SAY fRAT
g, g Ml @ qXaE el wear @
iR ol B A9 WA & 9™
IFIIYFTT Sie T o/ B, g ¥

(1) FEEM AT SAHsha R &
(2) WE STFTEdl (e ar) &
(3) HAFfH Hadl &

4) T qoE F

Level-3/4317
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10.

11.

12.

13.

[A]
According to Erikson, in complex
societies teenagers experience which of
the following state ?
(1) Identity crisis
(2) Identity achievement
(3) Identity moratorium
(4) Identity foreclosure

Most suitable strategy for a teacher,
when he/she is working with adolescent
students is to :

)
2

Ask students to make comparisons

Propose a problem and invite

students to form hypothesis

Give children
ordering operations

3)

experience  in

“4)

Children considered as low vision who

Construct an inclined plane or a hill

have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

(4) 20/10to 20/30

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

P.T.O.
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Wwﬁaﬁ%mww

qrE FRikEE Rier & et 2|
(1) R (2) IR
(3) = (4) TG

EIRE R S | EE 13 SR T e o
YR, feEmrfi & wRER, @t @R
foeneE ofe Su% fae™ @l gHiad &d

g R 3 g & ©
() F@ T 8q (2 gEa=q
@G) WATIH (4 T@TA A

W We ol o 65
eI § HE G4 2, BEeT B -
(1) SmifeET

(2) 3T SAfRAT~SaT

(3) FREvE qewfa

(4) o= @ &=

et & orfeR, Frfafad & @ @e-a
fuar sl & Nueie  fhaTs
TR | Tafyq 7@ R 7

(1) IREHETHD- TS TebT

(2) STEIETEl qEe

(3) T+ T

(4) ST b

Ted & ghe T0E 39 ofed SR ol
q o gRe @l asﬁ%%waﬁaw%
Tes, dol, g [9ee ok fase &
Is oafis I (FH) 21 SE M B
IT FH I X AW P TG 2 |
e & I ©
(1) feacgfern
(3) feaafrm

(2) feaanthar
4) feonfam
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15.

16.

17.

18.

is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(1) Skinner
(3) Piaget
According to

(2) Seigler

(4) Bandura
Bronfenbrenner's

Ecological Theory,

peers and school etc. influence his/her
development and they belong to the :

student's family,

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding
(2) Inter subjectivity
(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia

(3) Dyslexia (4) Dysphasis
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19.

20.

21,

22,

frfafeg & @ f9-91 g9 foeniiat @

M WM W fgde dW H i

g R ?

(1) W& Sad § o9 fQ &
HaieH FEE@q © 7

(2) ST S S ® 68 TeR Eied
H HqHA B 7

(3) oY o8 YT U w4 W
T & ?

(4) oMY S TR Jea¥ STedalicd g
ST T B 7

gfeenanell St & fog et § @

BT FFHT SUGHRT 78] ©

(1) fafare e

(2) SUARHH freror

(3) @R (TiEs)

(4) THEFT Pl § I

R & TJeaal aif e STeR

amedl olR oTEfye T P B B

T B PR B TE SR e

frepR eaa ®

(1) TARRET Farer

(2) SrEAA-TEERG e (SRt
FHrfeda =JTaE)

@) it
frfofed & & PH-T1 FF TR0 9= B
e SugET &9 | U B § 7

(1) A9 EEHar a a@h Bl
fafare foemeat & farem 3

(2) A9 oMEEEAT A IR R
foenmera # fafdre wem ® fRrew

(3) a9y cTavEdl A SRl B AN
e | otftreRaw gwg frem I

(4) A9 ETHAT AW TED B
A e § Qe R &

Level-3/4317

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[7]

19.

20.

21,

22.

[A]

Which of the following question is most
likely to get students to reflect on their
purpose ?

(1) What is most important to you in
your life ?

2
3)

How can you organise your life ?
What can you do to get good
grades ?

“4)

How can you set better short term
goal ?

Which of the following programme is

not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom
setting

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(I) Anorexia Nervosa
(2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most
appropriately defines the term inclusion ?
(1) Educating children with special
needs in special school

Educating children with special
needs in special classroom of
school

Educating children with special
needs most of the time in regular
class

Educating children with special
needs full time in the regular
classroom

2)

3)

“)

P.T.O.
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[A]

23.

24.

25.

26.

27.

" @ Tl & IR 7 Frefofad § |

H-T1 FIT Fel & 7

(1) G @ o sftrm &)
qRafidd & ST B

(2) G W9 @ W Eer 2

(3)?W@ﬁmwaﬁ
|

(4) dam  w REw emEre
Rr-fe ot foe e B

Sg foEmdl ofrm vy & o

et 36 THeM & S SUNH @

SEN #d & FE oW A

frfafeg & @ @9-T@ 2 ?

(1) FEelis Ao (2) STRM el

(3) Gaer e (4) T Al

56 U Sl AYa @ S gEd W

JaTg BIE 3, Hea § ¢

(1) TS & 6T

(2) T P @A (BH)

(3) AT & FdeREb &9

(4) T B TEH (HRwHH)

STFM F g8 oEe Red T 9 offis

et T gEl @ ORA iR Sited &

g, Fedr © :

(1) & (<) farerer

(2) AR AR

(3) TEart SIfEm

(4) ST STfEH

frfafag & @ B9-a1 HI Ib A

3 freril & X TR ?

(1) foprg & ffed ok g SrgAit
T § B 2|

(2) il & o GHE ¥ '\E e
g

3) fowm omgERE SR amEReT @
SR (afRem) B

4) fTFE T & e W ad
T & |
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[8]

23.

24,

25.

26.

27.

Which of the following statement is

correct about the nature of emotions ?

(1) Emotional expressions
modified by learning.

(2) Emotions are permanent state of

the organism.

arc

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style
Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching

(2) Programmed instruction

(3) Cooperative learning

(4) Discovery learning

Which of the following statement is

incorrect about the principles of child

development ?

(1) Development follows a definite and
predictable pattern.

(2) All individuals are similar in their
development.

(3) Development is  product of
hereditary and environment.

(4) Development works on the

principle of integration.
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29.

30.

MER & AR, FA0 & g (v
@I AREROTET &R W& F Teame Ak

SUGRT STIFRAT B & AR FHEdAN ©

(1) wfte gfe

2) few-Tioaas e
(atfeci-aremedfes i)

(3) Siqdarr® g

(4) SR g

s & ogaR, A} @ s
AN URRgE @ @ o Qe
HYA & Th B GAHT B B A
R

(1) G foar

(2) gifsifea Fepd (HepAelE STHM)
(3) WG AFRE

(4) fae=rm

frfofes & @ fpg wiosee A
fplraeer & Wit e R
‘PR 98w (orafy) § forad

[9]

28.

29.

30.

[A]
According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as :
(1) Linguistic intelligence
(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
without  referring to
circumstances is :

real-world

(1) Propositional thought
(2) Transitive inference
(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to

qmfeTe AR NG &9 @ a9 adulthood,  mentally,  emotionally,
drgraeen & of} omq &7 7 socially and physically" ?
(1) To do TS (1) A.T.Jersild
(2) 3o Hlo TA® (2) E. B. Hurlock
(3) 9o Ho 3™ (3) 1. P. Davis
(4) THo ARTEH (4) H. Sorenson
Level-3/4317 P.T.O.
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[A] [10]
HRT— 1l / PART - Il
A1 (R= ©d 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ f&= / HINDI ]
3% : Fr=ifr&a goal & Gav 37 & [ qae T ey i
. T P H oy = H T 35. ‘O B REaH quAe Yde R
e A<0E w7 - 3@ 9 H g &R
oA H 9T R B
(2) gl .
(3) EYAEF (1) MY degmErEs e
(4) s (2) SEd S GLee
32. -l w gs=-fwor @ e @ (3) Ffvaa aREmEE LT
SR [T e 4) Tl S e B

(1) fasg + v = s

(2) ST + BT = FAT 36. FrE o & ‘oF’ UG AN gOM B 7

3) WR + % = TR (1) ¥
(4) 9 + =R = qEI=K (2) Yy

33. fpg foebeq § & Suwl & o7& g (3) Sta=
87 (4) T
(1) et . . |
) 37. el i gfte ¥ 7@ faebed g -
(3) A (1) &ARE=s 0 §od THaET o
(4) & TR X

34. P P ¥ oEE agEw wom (2) AfFETEF G0 S A 8 |

T T ? 3) &=, [, S, gg ok AP
(1) TR AT G 8 |

(2) ST (4) FFaE® TG WGaEd el @
(3) (&R STfare H@el § WAl At S
4) Tehid Tl B |
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38.

39.

40.

41,

42,

P faheq H ‘ArEdrEs Hq T R
TN &g © 7
(1) o
(3) UBdrEr

(2) fesaE
(4) SIS

wfy % gfte & o e © -
(1) UMY + HHiEr = IS
(2) foaq + AT = fFEd

(3) 9 + HE = Y

(4) IWE + AT = ACTHIT

T FE-Gl AEEEEs G & e
faSroraTe® S § 787 g § ?

(1) e
(3) STUATIE

(2) TIFETH
(4) M9

“A 99 afedr Rl ar dsa &7 -
g qeg § faQmr @ HE-d orawen @

ST g § 7
(1) S=Eer  (2) JamEe
(3) TWEET  (4) IAEET

BT & oY H oG HYT g
(1) To=pd & A ded ‘B e e

WA e oqd BRA | TR
T 2

(2) I g # J FH @&, a e |
R’ o fTREe’ U HE WA
I o § 98 ‘e & OB § |

[11]

43.

44,

45.

[A]
(3) % &4 & s o el O
= P STETHAT ol TS & I%
‘gt e R Fed © |
(4) o, TS wd qom TE gl
Tt fRaTe Bt ¥ |

qrites 3T § & = H =TI HIT
(1) 3=
(2) RS
(3) ofess
(4) et

Tir-foare @ sfe @ o FA W

gifeg

(1) %, i, TR ST 7 2 |

() T @R o< & Ao F e
gl

(3) G, HaW T§ favErs |
gt # fofr @t gfte & fer 2 B

4) B, ¥, A9 oy =
AT STE & arad UE 2 |

et & ‘oifees’ avt -1 & ?
H 3 2) @

3 X 4) @
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[A]

[12]

[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.
(4) He is saying congratulations.

Fill in the blank with the correct
preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4317
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49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."

(1) breeze (2) sea

(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object



Telegram - @TeachingExam

53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which 1is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[13]

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge
improves
reading

your

Which of the options given below is the
correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is

presented by the Bhagvad Gita.

(2) A balanced philosophy of life has

been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a

balanced philosophy of life.

(4) A balanced philosophy of life was

presented by the Bhagvad Gita.
Identify the compound word from the
options given below :
(1) Development
(2) Newspaper
(3) Powerful
(4) Childhood
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HET -1/ PART -1l
Y Y1/ GENERAL STUDIES

[ A ARG, dliche SIRTEHCT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

3 dSH H o|d Mg 16 a T AR
I Y B AU 4 : 57 &, A
94 BIC T8 Hl g Fer & 7

(1) 8 a8 () 9 a9

(3) 12 a9 4) 16 a9

frdl alien & 60% feemdl st # e
70% TP # I g, AT 20% fereed
ol o | W® B T 2500
feremefl Q1 fawal & S @ 8, @ g
qOeniEl i Hem e © 7
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A BATRILIIAEH CAND, E TR
ZTIEEARCE A R AN C, B A
ger B, @1 W H @ dm-a &N
MATE &4 ¥ gF e ?

(1) A,C S8 81 (2)C,D @ sg1 8|
(3) D,C § 981 81 (4)E, B § e 2|

T T H Eel dae @t 81 A R B
9 # X offed B1 A & Tt @R Y
BIAZ & B T was Wik B 7
(1) @@ W (2) IW

(3) | (4) 9B
BAXC&H 9 ABICH A D B
A% i E B @ frafefea & §
H-TT 7FF B ERT 7

() E& g B Bl

(2) B & f@T E 81

(3) D 1 U E B

4 D& T A 3|
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61.

62.

63.

64.

65.

The average age of three boys is 16 years
and the ratio of their ages is4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily true ?

(I) AiseldertoC (2) CiseldertoD
(3) DiseldertoC (4) Eiselderto B
Bottom surface of a cube is empty. X is
marked between A and B. Y marked on

the left of A. Then Z marked on which
surface of cube ?

(1) bottom side (2) up side

(3) infrontside (4) in back side

A is the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) E is father of B.

(3) Eis husband of D.

(4) Aissonof D.



Telegram - @TeachingExam

66

67.

68.

69.

70.

71.

72.

. ofelt auigrer ® fhAm oe & &g
yfafers srafRafad w©a 2 ?
(1) 8 2) 9
3) 12 “4) 11
=1 9o & 7 ag A SIRE
1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R
Ry W fymdl § ¥ §97 B ¢
1) 171 () 131
(3) 161 4) 181
frrifoiiea o=t & =y § U U o
% AR fofem :
i.  Critical ii.  Criterion
iii. Crisis iv. Crisp

(2) i, iii, iv, ii
@) iv, iii, i, ii

(1) iii, iv, ii, i
(3) iii, iv, i, ii
i AN U H fquda w9 § forg
fer o, o s ok @ 199 SR &
Tt X 84T T8 HIF-A1 BN ?

() T (2) P

3) Q 4) R

g 'PROPERTY' ¥ e} & U@ fvem
W 2, s 7 § 991 S @ o @
R & o7 9 el avEer § 39

H9 D AA F A & 7

(1 0 @) 1

(3) 4 “4) 3

q AR A T B IAHA IR B
SFE-AME @2 91 A’ A H OWBE A
F I I TS W B, A T B H
T fpq fesm & ® ?

(1) ot (2) I

3) w 4) =™
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66.

67.

68.

69.

70.

71.

72.

[A]

In English alphabet, how many letters
are unchanged in mirror image ?

(H 8 2) 9
3) 12 @) 11

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) SFU (2) 91T

(3) 15LS (4) 170R

Find the Odd one out from given
options :
(H 171
(3) 161

(2) 131
4) 181

Write the following words in the order
given in the dictionary :
1. Critical ii. Criterion

iii.  Crisis iv. Crisp
(2) 1,iii, iv, ii

) iv, iii, i, ii

(1) iii, iv, i, 1
(3) iii, iv, 1,1l
If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
1 T 2) P

3 Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1

(3) 4 “4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

P.T.O.
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[A]

73.

74.

75.

76.

77.

78.

79.

Qzﬁamtlﬁaqtﬁﬁzﬁ% & 3ifehd I W
15% 0 921 & &, 98 AU " W
SR qed | e A ged Sfehd
fF 38 19% @9 & ?

(1) 34% (2) 40%
(3) 25% 4) 30%
dre ay geeg, foer 6 g
g @ fae
Y IqH T B Y H 7 A &
F KA Y S

(1) 40 a9 (2) 30 a9

(3) 50 ad¥ 4) 45 a9

AL 6 TN & fepg qed, 8 Ui & wd
gm%w%,a?mﬁ/gﬁqﬁramﬁ
(1525%611%1
(3) 33%% &

o 2x+7_3x+11:2x+8_5 33[, ?‘ﬁ

(2) 25% ==
(4) 33%% @9

5 2 3
x="1?
(DO 1 2) -1
3) 2 4 =2

T%H JA9 H THYCE SFABA 264 THIET
T qUT STEAN 924 THIeR B | T A
F TH HaE § T STIUC ST 7

(1) 7:6 2) 6:7

(3) 3:7 @) 7:3

ThYE AN | -6 G 1 9 B
< F 650 To AT 2 qY B o H
676 To & SRR ?

(1) 52059 (2) 57251

(3) 600 I (4) 625599

s I TERET 9 B TH @Y & W 2
¥ & fou IER far ™, AR &N B W
1% afte % Bl Al 399 240 51
s o & | ¥8 o9 fram B 7

(1) 5,000 %o (2) 6,000 Fo

(3) 8,000 Fo (4) 12,000 o
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73.

74.

75.

76.

77.

78.

79.

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
3) 25% 4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years (2) 30 years

(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
(1) 25% profit
3) 33%% loss
2x+7 3x+11_2x+8

(2) 25% loss
(4) 33%% profit

If 5, then
5 2 3

x=7

1) 1 2) -1

3 2 4 -2

The curved surface area of a cylinder is

264 m” and its volume is 924 m>, then
what is the ratio between its diameter

and height ?
(1) 7:6 (2) 6:7
(3) 3:7 “4) 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs.520 (2) Rs.572

(3) Rs. 600 (4) Rs. 625

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000
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80.

81.

82.

83.

84.

125 Hiex T WRME 60 Bl afer goa
Pl = § TR T G B 30 Fabvs |
IR FX A 2 | G H qs e © ?

(1) 375 Hiex (2) 225 WX
(3) 125 #Hiex (4) 250 HeX
forem, e ToT0 e oTaRed ®
(1) & (2) fER
(3) g (4) afsTe

qerEsl & & O oY & MR W
harn & Frefafed  gemtdl @
S (vaitues orfy qdve) w9 §
FaRIT BT :

(i) 9o QT

(i) S @

(iii) g e gge

(iv) 34 dr

?73??@6 gﬁn :

(1) (@), (i), (iii), (iv)

(2) b, (@), (i), @[dv)

(3) (), (i), (v), (iii)

4) (1), (v), (ii1), (1)

Rre o gera: o e @ Rife ®

(1) fEam (2) F==

(3) famit (4) Ueas

I Iq P IR H oTOifcied O W

o FiTT

(a) ST <9 G9TE fae |/ @ Sureme
ff |

(b) ST BRACT & T AT, I BTN
frer g @1 Sregy A T

SR § § BN-ar/AN-8 FE g8

2R 7

(1) %3 (a) T &

(2) Fad (b) T 2

(B) TR (@ M T (b) T

(4) (a) T (b) I T &

Level-3/4317

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[17]

80.

81.

82.

83.

84.

[A]

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter
(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is

situated :

(1) Hansi (2) Hisar

(3) Panchkula (4) Ambala

On the basis of extent of the period as

Chief Minister, arrange the following

Chief Ministers of Haryana in

descending order (longest serving first) :

(i) Bhajan Lal

(i1) Bansi Lal

(i11) Bhupinder Singh Hooda

(iv) Devi Lal

Choose the correct code :

(1) @, (i), (iid), (iv)

(2) @), (@), (id), @{v)

(3) @, (i), (v), (ii1)

(4) (@), (av), (i11), (1)

The district, which is mainly irrigated

by Jui Canal :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Consider the following statements about

Shanno Devi :

(a) Shanno Devi
Speaker
Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/

statements is/are true ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

was the Deputy
of Punjab Legislative

P.T.O.
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[A]

85.

86.

87.

88.

89.

90.

‘G RY TARR-TT H GUEEH BN

g ?
(1) ige (2) gl ;)
(4) 9

(3) Bl ™
3R WO TESE 4 % aR A
Jrefaiead HeH W =R ST -

(a) ¥E FBA-TRREE-IGET TRUE d
off e 21

(b)gﬂa%@faaﬁzoomoaam
|
SR & Q@ B9-91 HI 78 /8 -

(1) ad (a) 9 8

(2) 3ad (b) I 2

(B) T () MRTE (b) A2
(4) (a) 3T (b) AT 9

qReve] o efaiad ® 9 e e §
T e & ?

(1) HEa (2) QT
(3) ®HEA (4) S
AT F [T IW T
(1) Gua (2) el
(3) ST (4) -9

YLIHUS AT BRI Aef-2018 |
frfafeg § @ H9-a1 gewrl e o7 ?

ORLE (2) wF

(3) FoMepEE  (4) TR
frfofag § & B0 B9 &1 SHeen
T T99 F § 7
(1) BT

(3) #o=X

(2) o
(4) Had
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85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal
Consider the following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

ey
2)
3)
“)
The Markanda river does not flow in
which of the following district ?

(1) Kurushetra  (2) Sonipat

only (a) is true

only (b) is true

neither (a) nor (b) is true
both (a) and (b) are true

(3) Karnal (4) Ambala
The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France

(4) Kyrgyzstan
Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) Mewat
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[A]

AT-1V/PART = IV
STiafas= / BIOLOGY

R@sr : =i god] % Gae @7 & [ qa8 ST ey gl

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

|4l WA Uedl H had SEwEed J &
Uq  Herd o

(1) (A) SSTEE; (B) THHIGE
2) (A) 9%=; (B) g9

(3) (A) FHRIEHE; (B) A
@) (A)Z; (B) 381

frfafeg & & @S-8 g€y e
TGN, FHLOT H T T UGS & 7

(1) 3R @& e

(2) &=

(3) =

(4) 99 Td gHT

JAEECE & HeW H Frefated d A
S 7T § 7

(1) Fem & U Sid eTases 2
(2) EFT H IuRefd

(3) =L T JHE TR
(4) @A SIoTIE &l Surfd
TEHEE B 2

(1) 9EF %1 | felied @

(2) ®E wiel ¥ sied deH
(3) TWE Wd € STslied Je
(4) = &1 4 AEsled ad & g8

Level-3/4317

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

91.

92.

93.

94.

Of all the land plants, bryophytes alone
have independent (A).........
attached dependent (B).......... .

(1) (A) Sporophyte; (B) Gametophyte
(2) (A) Rhizome; (B) Rhizoids

(3) (A) Gametophyte; (B) Sporophyte
(4) (A) Elater; (B) Axis

and an

Which of the following systems of plant
classification is a natural system of
classification ?

(1) Engler and Prantl

(2) Hutchinson

(3) Rendle

(4) Bentham and Hooker

Which of the following is incorrect in
reference to Bryophytes ?

(1) Water is essential for fertilization
(2) Presence of archegonia
(3) Presence of motile sperms

(4) Presence of independent sporophyte

Pyrenoids are :

(1) Starch surrounded by protein grains
(2) Protein surrounded by starch plates
(3) Protein surrounded by oil layer

(4) Oil droplet surrounded by starch
grains

P.T.O.



Telegram - @TeachingExam

[A]

95.

96.

97.

98.

99.

100.

SN, EE Td g (|me) & wal
&I R I ©

(1) 3¢ IR B IJURATT & BT

(2) A &l JURAT & HROT

(3) TEIhl T & H

(4) TRONE & BT

Al B B U TEH, 7ES] 6
fafare @eror wefdfa 787 @< & ¢

(1) TeHEHr gehet

(2) FEg disTUE™

(3) ST S Juffd

(4) BTt Sl o

S, a1 Ud Ul H Sfawied 9edl @
it fopam T B

(1) P & oFmia

(2) BT F ST

(3) TEETH & AR

(4) Tperm & ewra

9 + 2 JgHEa e am S @
(1) FhrAmes Hard o

(2) Sfarvas Har H

(3) oMy For

(4) TR&= |

HeTd HIAEH 7eE FHA &

(1) 9RFT el & gdsr

(2) gomIy & fmior §

(3) gorhIT fmioT #

(4) T R & GO JE&E H H

T ST T AT ©
(1) &Hg TFgereswd

(2) dfaa grRTwTa

(3) AT #adiE

4) FERRmAT Pee
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95.

96.

97.

98.

99.

100.

The flesh of pear, guava and sapota
fruit is gritty because of the presence
of :

(1) Sclereids

(2) Amyloplast

(3) Sclerenchymatous fibres
(4) Collenchyma

Sida, a member of family Malvaceae
does not exhibit this prominent trait :

(1) Monoadelphous stamens
(2) Axile Placentation
(3) Presence of epicalyx

(4) Alternate stipulate leaves

Plants not differentiated into root, stem
and leaves are grouped under :

(1) Gymnosperms
(2) Phanerogams
(3) Thallophytes
(4) Cryptogams

9 + 2 fibrillar arrangement is present in :
(1) Eukaryotic flagella

(2) Bacterial flagella

(3) Basal granule

(4) Centriole

Synergids help in :

(1) Entry of pollen tube

(2) Formation of endosperm

(3) Formation of embryo sac

(4) Providing nutrition to male gametes

An example of Archae bacteria is :
(1) Thermus aquaticus

(2) Bacillus thuringiensis

(3) Vibrio cholerae

(4) Escherichia coli
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101.

102.

103.

104.

105.

106.

frefafad & 9 Sggved d IUdsy
TR FEEEYT ©

(1) At ) faf=

(3) s (4) wFd

U SEr] FHIRE GaE B § Uw ar
faafora endt 21 @8 tF #9 9 H
e I S| ST %Y 9 H a8 fhae
T ol ?

(1) 29 e (2) 59 e
(3) 30 e 4) 40 e
ERECIEIL IR ERS IS

(1) TEHUETTH (2) oEdEled |
(3) e ®  (4) RaH

I F A (hee hes BHROT el & 7
(1) orecierr eio

(2) g Wio

(3) RrelErdg Tio

@) f%egira dio

IR [T B 98 dew Ed HR
ESIERI RIS U B B C B I C L
m@zﬁﬁﬁm fopar T %, 2

(1) frfed

(2) Ul

(3) FEUEErAED

4) =R

'i’gﬁﬁﬁﬁ?:ﬁ%:

(1) omfehar @ oeafad dfesl &l
2

(2) T @ @ ) SURed 9Edl &
dfest 2

(3) Sfcsl ® JE N A SAead g
Ueu & A el 9 e
2

(4) F=IOR 9red @9el & aie B |
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101.

102.

103.

104.

105.

106.

[A]

The most abundant carbohydrate
present in the biosphere out of the
following, is :
(1) Cellulose
(3) Rubisco

(2) Lignin
(4) Fructose

A bacterial cell divides once every
minute. It takes one hour to fill a cup.
How much time will it take to fill half
the cup ?

(1) 29 Minutes
(3) 30 Minutes

(2) 59 Minutes
(4) 40 Minutes

Heterospory is seen in :
(2) Isoetes
(4) Pteris

(1) Lycopodium
(3) Equisetum

Red rust of tea is caused by :
(1) Ustilago spp.

(2) Puccinia spp.

(3) Cystocarpus spp.

(4) Cephaleuros spp.

The cell wall component because of
which class cynophyceae has been
renamed as cyanobacteria is :

(1) Gelatin

(2) Pectin

(3) Pseudopeptidoglycan

(4) Murein

Ethnobotany is :

(1) Branch of botany that deals with
Archaea.

(2) Botany of plants present in various
hot spots

(3) Branch of botany that deals with
relationship between the tribal

people and the plants
(4) Botany of lower plant groups

P.T.O.
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[A]
107

108.

100.

110.

=g # daifts 3= oifET ®

(1) dEheed (2) FHTHT
(3) e (4) A
g9 Haedl URW % ofed 9% §
(1) B (2) SgYPE
(3) P 4 fagteE

frifafad & (A) 3R &R (R) W
ffem #it ok A= Ru T e @
TEEdl § @8 IaY H 99 BT ¢
FIT (A): AN g9 H g
arE @ % fged & @™
fofeiicen o=l &S S

@ el w1

SR (R) : SFeicen o Tode W |
O-THESS  # W @
IRT e 2

%< -

(1) &4 (A) T (R) &F g 3R (R), (A)

& GEl A B |
(2) @t (A) @ (R) @ ¥ fFg (R),
(A) % T e T B |
3) (A) & g g (R) 378 2 |
) (A) 79 B g (R) T 2 |
A e MU et i weEd A e
¥ § e e & @ Fi
(A) ERTTTH
(B) ¥RV
(C) =
(IDRIGEEIEL]
(E) Tl a@
(1) A,Bud E
(3) AT E

(2) A,B,DT E
4) A,BTW D
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107.

108.

109.

110.

The most advanced order in

gymnosperms is :
(1) Cycadales
(3) Gnetales

(2) Coniferales

(4) Taxales

The sporophyte generation in the life
cycle of all vascular plants is :

(1) Triploid (2) Polyploid

(3) Haploid (4) Diploid
Consider the following Assertion (A)

and Reason (R) and choose the correct
answer using the codes given below :

Assertion (A) : Gibberellic acids control
seed germination by

breakdown of stored
food material in
monocot seeds.

Reason (R) :  Gibberellic acid
induces the activity of
o-amylase from
aleurone layer.

Codes :

(1) Both (A) and (R) are True and (R)

is the correct explanation of (A).
Both (A) and (R) are True but (R) is
not the correct explanation of (A).
(A) is true but (R) is false.

(4) (A)is false but (R) is true.

Select the living cells from the
following using the codes given below :
(A) Chlorenchyma

(B) Collenchyma

(C) Bast

(D) Prosenchyma

2

3)

(E) Sieve elements

Codes :
() AABandE (2) A,B,DandE
(3) Aand E 4 A,Band D
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111.

112.

113.

114.

115.

URUF A, S e JHE & qEH
FaE Il 8, P GadT weandl 8 ¢
(1) qg™= (2) fawgm=

(3) FETTT  (4) UG

TRRT 97 1 SfA:aN a1 2l ©
(1) S Y AR &

2) fafye ok Mem &

(3) U SR fafe @

(4) fafT IR e &

TR & qAGT & [T e Fad
§ SRR 1 fawE Fear @

(1) YIS
(3) eAfTREE

(2) AGHA
(4) Heriitsar

DNAH A TS HY T G, Co Y
gaq Bl § | FrEfRed § 8 s
F9 39 U § T B 7

(1) A/T a7 2 |

(2) A+T=G+C

(3) GHE C& IS B 2|

(4) DNA & Uh o9 & geriedleEs

STRH H TN YT Y U S
feaia & & fou fear s @
2|

RNA U§ DNA & =X &I 8 -

(1) <Y Td 8R & HROT

(2) M TG BT & B
(3) FAA BT B PR

(4) &R U %Ehe & HROT
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111.

112.

113.

114.

115.

[A]

Fusion of mature individuals which

directly act as gametes is called :
(1) Isogamy (2) Anisogamy

(3) Apomixis (4) Hologamy

Intine of pollen grain is made up of :
(1) Cellulose and pectin

(2) Lipid and protein

(3) Pectin and lignin

(4) Lignin and lignans

Development of sporophyte from the
gametophytic tissue without involving
fusion of gametes is known as :

(1) Apospory (2) Apogamy

(3) Parthenocarpy (4) Metaxenia

In DNA, A pairs with T and G pairs
with C. Which of

statements is incorrect in this respect ?

the following

(1) AJ/T ratio is constant
2) A+T=G+C
(3) Gis always equal to C

(4) The sequence of nucleotides on one
strand of DNA can be used to
determine the sequence on the

complementary strand.

The difference between RNA and DNA
18 because of :

(1) Sugar and base

(2) Sugar and phosphate
(3) Only sugar

(4) Base and phosphate

P.T.O.
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[A]

116

117.

118.

119.

120.

. JAEE FIREEN J9ReT

(1) Aree qr&dl & T Tl |

(2) %HB THESEE TN & S A

7

(3) HB THASEE Ol & e e
)
(4) STEE & a & Howd J
% UU<ES GEdr & G & g
SUEE SIF & Fed @

(1) &S S
(2) FHIEX S

(3) SAfREX S
(4) WS S|

T & fou TF Al H
U9e GHT HAM & ¢ refarag § |
fohg SIMUTEY & ST A GHIOT HLETE ?

(1) #ad TT

(2) ®ad tt

(3) Tt

(4) TT TG tt 3=

TR Bl qrEar T Y RISl ST
3; 96T P W B IET BNl &, Heam
E

(1) FEHFR®

(2) g fog

(3) HgeH (FHIHeF) fog

(4) A g9

frafafad & & @9-a1 M S9-
JAH & 7

(1) aEaA (2) aEES

(3) i (4) TEASTEH
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116.

117.

118.

119.

120.

Bulliform cells are present in :
ey
2

stomatal pits of succulent plants
upper epidermis of some monocot
leaves

3)

lower epidermis of some monocot
leaves

(4) stem cortex of hydrophytes

Gene which is responsible for the
synthesis of a polypeptide chain is
called :

(1) Structural gene
(2) Promotor gene
(3) Operator gene
(4) Regulator gene

To  back
heterozygous for tallness (Tt), it will be
the

Cross an individual

crossed  with parent  having
genotype :

(1) TT only

(2) ttonly

(3) Tt

(4) BothTT & tt

Light which
photosynthesis will be equal to the rate
of respiration is known as :

intensity  at rate of

(1) Climacteric

(2) Optimum point

(3) Compensation point
(4) Minimal effect

Which of the following is a non-
proteinaceous biocatalyst ?

(1) Virons (2) Viroids
(3) Prions (4) Ribozyme
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121.

122.

123.

124.

125.

126.

T (dE) o o S
3

(1) w&m (Ferdl) & (2) Sfesn &
3) ERE § (4) arHE F

R 1 faeee 91 2 2

(1) ¥ad@ K o d

(2) 3ad Cd' oA ¥

(3) @9 Na' W Cd' T A
4) Na', K @ Cl” o &

HE-T1 I0F BT B SIRRNT
® PE T 7@ oA S ?

(1) TG

(2) TRACIRIHA

(3) WA

(4) NSRS

g (dsi) &= gam AT T
2

() STqed

(2) AR TI T H

(3) T T FA X TH T A 4

(4) 9eH 9

3T TENT &1 BlhRE il 2

(1) T~ O RESEIRI

(3) BN (4) FEifsEr

frer & @ F9-a1 aRay § s g
BERUEIRIECIC P oA I

(1) 9 Th

(2) BIEHRE T

(3) TEgeH T

(4) FEE Th
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121.

122.

123.

124,

125.

126.

[A]
Syncytial (Coenocytic) epidermis is
present in :
(1) Musca (2) Pheretima

(3) Ascaris (4) Starfish

Ringer's solution contains :
(1) Only K ions

(2) Only Ca ions

(3) Only Na+ and Ca+ ions
@ Na+, K+ and CI ions

Which dye is
chromosome ?
(1) Feulgen

(2) Acetocarmine
(3) Safranin

(4) Haematoxylin

not used to stain

The first genome is thought to consist
of :

(1) DNA

(2) RNA

(3) Both DNA and RNA

(4) Protein

A sponge harmful to the oyster industry
is:

(1) Spongilla
(3) Hyalonema

(2) Cliona
(4) Euspongia

Which one of the following is not a

gaseous  biogeochemical cycle in
ecosystem ?

(1) Sulphur cycle

(2) Phosphorus cycle

(3) Nitrogen cycle

(4) Carbon cycle
P.T.O.
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[A]

127.

128.

129.

130.

131.

% AR T TG99 § Ia W T | 36
U H e HEH qE S

(1) @ierg
(3) RIS

e d & #F-a1 998 IR &
g7

(1) TAfTET, Aawh, Heel
(2) TATET, oTdIel, Hawh
(3) THEAEHT, BHERe, Hieel

(2) TS
(4) adr

(4) STTArET, AR, IHEASHT

15X AFBRpT o= qe1 45X AEed® o=
IR UHS HYE gEesii A AEE
BT B

(1) 1000 (2) 2000

(3) 675 4) 875

Frt & @ ST & SIF-d1 enargs®
(Afersif) orgpd FE fAw i
USIg™ ZaRT 9 989§ Al |
FTEN ST TRl & 7

(1) 5'- CACGTA - 3'

3'- CTCAGT - 5'

5'- GAATTC - 3'

3'- CTTAAG - 5'

5'- GATATG - 3'

3'- ATGGTA - 5'

5'- CGTTCG - 3'

3'- ATGGTA - 5'

T & @O (e o) | and ©
(1) dFwiEs g1

(2) TSP Fd

(3) HEwIEE I
(4) AT Fa

2)

3)

“4)
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127.

128.

129.

130.

131.

A person is undergoing prolonged
fasting. His urine will be found to
contain abnormal quantities of :

(1) Ketones (2) Fructose

(3) Glucose (4) Fats

Which of the following groups is of
deuterostomes ?

(1) Annelida, Mollusca, Chordata

(2) Annelida, Arthropoda, Mollusca

(3) Echinodermata, Hemichordata,
Chordata

(4) Arthropoda, Mollusca,
Echinodermata

Light compound microscope with 15X
eyepiece lens and 45X objective lens
will have a magnification of :

(1) 1000 (2) 2000

(3) 675 4) 875

Which one of the following palindromic
sequences in DNA can be easily cut at
about the middle by some particular
restriction enzyme ?

(1) 5'-CACGTA -3

3'-CTCAGT -5’

5'- GAATTC - 3

3'- CTTAAG - 5'

5'- GATATG - 3'

3'- ATGGTA - 5'

5'- CGTTCG - 3

3'- ATGGTA - 5'

2

3)

C))

Golden Age of fishes is :
(1) Coenozoic era

(2) Ordovician period
(3) Mesozoic era

(4) Devonian period
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132.

133.

134.

135.

136.

% ofied HEEM H SiuAu & fhad
oy B ?

(1) I &

(2) %ad T

(3) Fad e

(4) Faq AN

FR-3-¢ AgH B B B

(1) T XX-3798 &, TH T Y
AN Jod o] e

(2) 219 wEE™ § B

(3) 59 oG @ Al BT YT BT A
() &

(4) 5 TOGS H T YA H AT BT

Frt & | #F-81 wa e 8

(1) =X R
(2) #rer fEr o
(3) X SffREd
(4) @1 ST REd

qed H TEWES AR H HRE
q HH-A1 B ?

(1) S

(2) A

(3) TS

(4) W

TRl UF He T ©

(1) deed & fogve (e dreed)
% S H

(2) HiAIsH Uaq wHEIEH & o &

(3) UHISH UEH UUEISH & &id H

(4) et & fagred (fadee woeieH)
% S H
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132.

133.

134.

135.

136.

[A]

In one non-replicated chromosome, how
many DNA molecules are present ?

(1) Only two
(2) Only one
(3) Only half
(4) Only four

Cause of 'Cri-du-chat' syndrome is :

(1) Fertilization of an XX egg by a

normal Y bearing sperm.
2
3)

Trisomy of chromosome 21

Loss of half of the short arm of
chromosome 5

“4)

Loss of long arm of chromosome 5

Which of the following is a poisonous
mammal ?

(1) Male Guinea Pig

(2) Female Guinea Pig

(3) Male Ornithorhynchus
(4) Female Ornithorhynchus

Which of the following causes typhoid
fever in human ?

(1) Shigella

(2) Salmonella

(3) Toxoplasma

(4) Microfilaria

Coelom is a space between :

(1) Splitted mesoderm

(2) Mesoderm and ectoderm
(3) Ectoderm and endoderm
(4) Splitted endoderm

P.T.O.
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[A]

137.

138.

139.

140.

141.

URAIR (o) s sfied @

(1) a1 &= & ush 9@

(2) o= @ Usht |

(3) TRy @ IRy @

(4) aAfer %1 Usht 4

UfueEe & ogasayT ¥ U U

SO 2 2 -

(1) e grEwts gar

(2) UfteerEd ZEET FaN

(3) AT B (SRR $aey IFs)
EEI]

(4) THETHET-tSTRTAT s garT

e # gt FIREN TR S ©

(1) 7 &

(2) g A

(3) HraufmE §

(4) dbereT |

fg & @ @F-ar a9y sifad sfarem

e & 7

(1) ®HEH (2) wEREEd

(3) 9 (4) TR

=1 & @ 3F-a1 91 @ 9@ & aR

q e 7@ g v

() gl & AvS wHe= fHferpr w1 o
B 2

@) g & 9o d feem sdass
2

(3) T H T AU U Ak B H
T YT 2 |

@) T & ome § q oshiicar &
2
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137.

138.

139.

140.

141.

Areolar connective tissue joins :
(1) Fat body with muscles

(2) Integument with muscles
(3) Bones with bones

(4) Bones with muscles

The first
polypeptide is catalyzed by :

step in biosynthesis of

(1) Terminal transferase
(2) Peptidyl transferase
(3) Initiation factor (IFs)

(4) Aminoacyl-tRNA synthetase

Kupffer cells are found in humans in :
(1) Liver

(2) Testis

(3) Muscles

(4) Nerves

Which of the following reptiles is a
living fossil ?
(1) Sphenodon
(3) Varanus

(2) Crocodylus
(4) Tortoise

Which of the following is not true about
chick embryology ?

(1) The Eggshell is formed of Silica.

(2) Cleavage in chick embryo is

meroblastic.
(3) Chick embryo receives its nutrition
from yolk sac.
“)

Eggshell membranes are two in

number.
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142.

143.

144.

145.

W fE dgeRE @ R S, o R
U AR gWEl e @, ged
qea-di SHferal B B 2 | 39 AR &
TBd Fed ¥ agelyfaar eM @ fehe
i & ?
(1) 100%
(3) 25%

g% M & fo = § ¥ de-ar &
M & ?

(1) @BUHERT gerai

() ABUFERT TR

(3) TBETTT CIATET

4) TEITT FrHeT

qUSH GART AL HeX & I Feql

FERE & art S o fohe o
W fenfer are S 7

2) 75%
4) 50%

Q) =@
4) d=

(1) =X
(3) @d

Uh S H U HISERSA H R

Ueq AYhiEd R T O oder 9

S gam & FUEel ¥ EdeT |

A A Il Sedl 8l Hh, FE Ul

TN I o1 e HifE d6 @ 2

AT S B, A AT FE R 7

(1) STYHETT I & TR & 3D
(TrToe) @ Sufafy & forg whe
H4 |

(2) SUHET AA H AFEIAE & I
(crasae) @ Sufafq & fw ol
HLI |

(3) T qa1 & o HIART FT AT
2l

(4) T8 IAT aEd
T AT I

g & % a8 S
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142.

143.

144.

145.

[A]

A man is affected by brachydactyly, an
autosomal dominant trait that causes
shortening of several fingers. What is
the risk that the man's first child will

have brachydactyly ?
(1) 100% (2) 75%
(3) 25% 4) 50%

Which one of the following is used for
bread preparation ?

(1) Saccharomyces ludwigii
(2) Saccharomyces cerevisiae
(3) Rhizopus stolonifer

(4) Rhizopus fermentis

The genes controlling the seven pea
characters studied by Mendel are now
known to be located on how many
different chromosomes ?

(1) Four (2) Two
(3) Seven (4) Five

Cells obtained from an organism were
homogenized and centrifuged. A test
indicated that the cells contained
glycogen. If you were asked to find out
as quickly as possible whether the cells
were from a plant or an animal, you
would :

(1) examine the centrifuged sample for
the presence of extracts of
chloroplasts.

(2) examine the centrifuged sample for

the presence of centriole.

(3) answer immediately that the cell

were from animal source.

(4) It is very difficult to answer
whether it is from animal or plant.

P.T.O.
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146.

147.

148.

149.

150.

1 & @ F9-a1 308 @@ TR &l
ar 8 7

(1) AFa | 9o 9 - 4

(2) TN ® UW S art ST O - 16
(3) SRS & UK - 6

(4) A9a ¥ Hlar HA5H - 8

ARl & A Uh PE H Hmies
% dE e ©

(1) @G & U qon ST o A

(2) FugEl | & ugq FEeE § °n
(3) HEE Tay FEgEl ANl § AR

4) gl uaq apHgE A A A

Tl & U8 B § ¢
(1) Masdds (2) onfermafaera
(3) FHEdIaaH (4) TGS

UfSeleiae S T et

2T B

(1) W& afe@l & T U
EEIN

(2) HFGAT ST FHAEA FAT

(3) TP HIERA ZaRT

(4) STRET-TCHET BRI @R

frggall o St @ fawear & e e A
T H-a1 e § 7

(1) €R¥ gifeast

(2) ToSIdiieE

(3) A & Hfcret

(4) T & RIS A

[30]

146.

147.

148.

149.

150.

Which one of the following gives its
correct total number ?

(1) Floating ribs in humans - 4
(2) Amino acids found in proteins - 16
(3) Types of diabetes - 6

(4) Cervical vertebrae in human - 8

of
chromosome at metaphase is :

Number chromatids in one

(I) One in mitosis and two in meiosis
(2) Two in mitosis and four in meiosis
(3) Four in both mitosis and meiosis

(4) Two in both mitosis and meiosis

Eggs of insects are :
(1) Telolecithal (2) Oligolecithal
(3) Centrolecithal (4) Mesolecithal

Angiotensinogen is produced and
secreted by :

(1) Cells lining of the blood vessels

(2) Macula densa cells
(3) Liver cells

(4) Juxtaglomerular cells

Which of the following is responsible
for failure of vaccine in infants ?

(1) Serum protease
(2) Endotoxin
(3) Maternal antibodies

(4) Glucose molecule of blood
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Iy faedt g & 2= 9 ooh argm & fr=rar 2 o 3RSl 7reas &1 99 S AT S |
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[3] [A]
T -1/ PART -1
1 fqepr 9 RN / CHILD DEVELOPMENT AND PEDAGOGY

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. frefofed & @ d9-a G @ a8 1. Which of the following is not the
Qe 7&f & ? true characteristic of Development ?
(1) fqeE & uRads & 2 (1) Development involves changes
() TP foEm wadl e @ (2) Early Development is more
S Ikcd qBr_clE{”f B § critical than later development
(3) farETE® Ye GTWTI El (3) Development Patterns are
g unpredictable
4) T H s ar B (4) There are individual differences
T in development
2. fy=ifofag & @ d-8 WA & 9 2. Which of the following is indirect
=g e oy g7 method of measurement of motives ?
(1) ar Eﬁ qbriehl (1) Sentence completion technique
(2) usaat (2) Questionnaire
(3) =% fore (3) Checklist
(4) R (4) Interview
3. ‘O GUA B SMYR FM 8 & ? 3. What are the basis of 'Self Concept' ?
(1) |rfoE it (1) Social Roles
(2) T g (2) The Body Image
(3) ST (1) T (2) (3) Above (1) and (2)
(4) ST | § B A6l (4) None of the above
Level-3/9217 P.T.O.
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[A]

4. Frefafad & @ -0 971 a0 e

sl fame yhR e i L
7§ ?

(1) SATTBEd
(2) STIemaTat

(3) TN WE F Sied BEES F
T

(4) T H MR W FSw & 9
S ar

16 a4 &% AY % AR H 9R
SUCHICE IS

(1) 750 I & 900 IH
(2) 1200 919 § 1400 7
(3) 1000 I & 1200 IH

(4) 800 I & 1000 IH

P-4 TSI A SO R
Wt v’ & s A9 =@
JsTe6 & & faaem aeqq fear e ?
(1) feare

(2) SFft wos &ve

(3) SN

(4) G W9 e

Level-3/9217
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[4]

. Which

. Which of the following is not the

characteristic of introverted thinking
type personality as given by Jung ?

(1) Self Centered
(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm

(4) 800 gm to 1000 gm

Psychologist ~ presented

scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport
(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton
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frefafag & @
Heds b EN QU
e & SO @ied WX &

A B 7

(1) 38 TG SATSAHIT

(2) GRS

(3) STH TEH /T TSH!
(4) FA AR IR e

Bl
1y

fr=ifoifeg & @ H9-di fpeRran &l
faQrar 782 ?

(1) Hame ReRan
(2) o AR gamd
(3) a9 HI Fa=

(4) A YOI &l e

ST M AT BN B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
e, Fead &

(1) fregaey faeeie
(2) e e wEwT (IEP)

(3) APRIAE Ieed

(4) 9 &

Level-3/9217
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10.

[A]

Which of the following is Direct
Method of Adjustment ?

(1) Repression
(2) Regression
(3) Withdrawl and Submissiveness

(4) Rationalization

Which of the following orientation
falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability
(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills
that student should master after
instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

P.T.O.
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[A]

11.

12.

13.

14.

frafofea & & #=-w ot wfq @&
T TFET e 7

(1) e
(2) SfEd 4reT
(3) g

(4) T8 9ERET & & 999 W S
HET

Freifafaa & & dF-a1 99 9ga
& g A S | g
7R ?

(1) HisfeiT
(2) STgHe

(3) STFHIT
(4) STAABAED TR

Jeed 7 AHRE T F MR W
JUIHLT H AFG L TS TS
Rl H Aol U e qar § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

R & AJER ‘Afde o’
%l UreEl TaR HE-E 8 7

(1) uRs™ B 9M e
(2) Y9 SAM YA Hif
(3) FMear 9 faa ™

(4) IAEANEN T ReRar

Level-3/9217
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[6]

11.

12.

13.

14.

Which of the following is not the
symptoms of Good Memory ?

(1) Rapidity
(2) Average retention
(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not

related with Bandura's Social

Learning Theory ?
(1) Modeling

(2) Adaptation
(3) Imitation

(4) Observational learning

What is the ranking ratio given by
Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
(3) 1-1-7 (4) 4-4-4

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) 1identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation



Telegram - @TeachingExam

15.

16.

17.

18.

Frefeied & @ d-a1 Fawie &
Yo GOl B O 787 o

(1) yartear
(3) TEET

(2) IFHI
(4) Afciwar

frefofag & @ d9-a1 M &
gITCeh TR & YR 7e & ?

(1) Tsd SRR

(2) hifeH T

(3) AT TR

(4) I TR
Frefafgd & @ dH-d1 BES &N
T TGN STae & ?

(1) Qeereen

(2) T@E TEET

(3) Jaraw

(4) qamaen

e @1 % ‘mifEe Siifed

Sig-SJall & X & G s
3”7

(1) &R faferm g
(2) | HilE e
(3) HeFdl TR
(4) ferm S=q

Level-3/9217
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[7]

15.

16.

17.

18.

[A]

Which of the following is not the

element of creativity as given by

Guilford ?
(1) Fluency (2) Incubation

(3) Flexibility (4) Originality

Which of the following is not the
type of positive transfer of learning ?

(1) Lateral transfer
(2) Sequential transfer
(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage
(2) Autonomy stage
(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures" ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James

P.T.O.
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[A]

19.

20.

21.

frfofag & @ SF-d1 Rer m=fes
T ofeee o gl fafr 787 2 ?

(1) gaw Recs & & srear dimr
o fafy

(2) ReR IEus @l faf
(3) e srgar e e i fafy
(4) T ARy & aRAEH

‘W OFH @ ®UER, e T
YAETeH & SR S &l T SR
3 78 Frefifed & 9§ fees gfes
%l FalH e §

(1) foamst
(2) et
(3) WIS
(4) 950

(1) o

(2) STTETEBLT
(3) TR
(4) HIAIBRT

Level-3/9217
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[8]

19.

20.

21.

Which of the following is not the
type of "Psychophysical Method" of
study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by

transforming, organizing and

re-organizing previous knowledge.'
This best explains the idea of which
of the following ?

(1) Piaget
(2) Vygotsky
(3) Freud
(4) Bandura

the
Development Theory of Piaget, "The

According  to Cognitive

basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation

(3) Accommodation

(4) Equilibration
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22,

23.

24.

U IS & HAeHUH A ferenft
F TN T Be B GgI ded,
BHd H dgae  Eeed, U9 @
SgaeH U9 I HA 4 el 7 Ae|
P SgI Tl 9 ASEd a0 e
TE 8 TER & ARH MR 6B
JEEI B 7

(1) gicHeh =T

(2) FOMHSD =
(3) I A
(4) AT ST

frfefeg & @ @9-@1 W @
TETS /A e § 7

(1) ARrel

(2) oTEq

(3) fommen

(4) TET HI Ity

s R EUN | o1 NI £ B B o
e A & e e d
dafa & °

(1) it o1 st

(2) 9 T gHR fET

(3) y fasra

(4) TgRITAS R

Level-3/9217
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[9]

22,

23.

24.

[A]

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer
(2) Negative transfer
(3) Zero transfer

(4) Vertical transfer

Which of the following is objective
determinants of Attention ?

(1) Interest
(2) Habit
(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception

Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

P.T.O.
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[A] [10]

25. frfofed & § dH-1 ‘Few AMRS 25. Which of the following is 1.Q. Range of
e gl H s Al TR © 'Moderate mental retarded' children ?
(1) 52 9 67 (1) 52to0 67
(2) 36 9§ 51 (2) 36to0 51
(3) 20 ¥ 35 (3) 20to 35
(4) 20 9 F= (4) below 20

26. Mg § & HF-@1 EaR &} 26. Which of the following is not the
Ci i GG IR %ﬁ Sae Al B type of life styles for the
THR 7el e 7 development of personality given by

Adler ?

(1) STaEl 2=y (1) Lazy type
(2) STEHE TERY (2) Ruling type
(3) fcrepeHl ey (3) Go-getting type
(4) TEHK b TN A (4) Escaping type

27. AN WME g qOE©r § fhaA #E 27. How many cards are used in
SN § fou oq € 7 Rorschach Inkblot Test ?
(1) 10 2) 12 (1) 10 2) 12
3) 15 (4) 28 3) 15 (4) 28

28. Fr=ifeifed & @ SiF-81 gl & gfe 28. Which of the following is not a type
9 =] g} R ™ aflka @ of Personality given by Sprenger in
JHR TET 8 values point of view ?
(1) S (1) Theoretical
(2) T (2) Economic
(3) BAlcHSD (3) Asthetic
(4) GerwE (4) Athletic

Level-3/9217
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29.

30.

freifefeg & @ ®9-a1 9FeEs 3™
yed ARFT & Mor/TeEE ET § ?

(1) deqxar & fam
(2) 1rE &1 fEH
(3) AFTE® gir &1 |
(4) ueE &l oEm

fr=ifoifeg & @ d9-t fpaxEn &l
el fadwar 788 ?

(1) Famaeen Bl IEE| AR
TIEHEE & S @ qRadt sTawer
g

(2) fFiREer § s orue Jufk®
feafy et 2

(3) TG JgEET 1 &
B B

(4) FRINEE  grdiGHaett @ qHY
BT Bl

[11]

29.

30.

[A]

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise

(3) Law of mental set

(4) Law of effect

Which of the following is not the
true characteristic of Adolescence ?

(1) Adolescence is transitional stage

between childhood and

adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9217
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[A] [12]
HRT— 1l / PART - Il
AT (R=T ©d 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &= / HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. froEm® ¥aa™ g a9 BifeT 35. =1 & @ ‘9%’ = W@ 7@ o ?
(1) a9 o< oTp¥s  aad & (1) gdH (2) Brl
= (3) o 4) BY

(2) &P MY & T ST

(3) MY TN 9TV & S|

36. STiarE S g a9 78 ¢ -
(1) TSR B TET3AT Sgd e

(4) S G T T (2) STEA AU E Ay @ A

32. i gie ¥ oFge fasheT e Hifo
(1) FeEa (3) - A & orsEA S
2) AR STl 1
()i (4) ¥ orgwa fpr B 65 o8 SR @
©) Y [T
@ 37. %9 Iy ¥ =om 9 &1 W= 787
8. faim @ 3 F oI A M ger 8 ?
e : (1) e (2) arfigex
(1) S« 3) T @) fien
(2) SATST-SMIE
(3) SrgRiR-faRe 38. G A F T PO :
(4) HEBR-[RERR (1) 98 B HE b A & & aHan
2l

34. %Y [T ¥ ‘T I B TN T8 ©) ¥ o e B

g e ?
(1) 3w 2) wRE (3) FHUAT TAET &8 HIT B U B
(3) B (4) S 4) &1 & & A g B

Level-3/9217
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[13] [A]
39. ¥HME # 3fte ¥ o e Bifew : 43. 59 fowea § srerisme que 7
(1) i - YT Aoy (1) RS
(2) HS-9EHR - GAER && 2) FAE
(3) fe@mée - STurRE TgeY (3) ST
(4)12111113—%#3?33‘3 (4)@-@:[
40.WQT%WQEFQE3€[§W@ i & 7 IR :
s P ST 44. YT FH I @ FGIT g+
(1) To&T + 3% = TERYS
(1) el w1 & oTFid M arcll B8 e .
TEA HAT - A<TH (2) I + %% =
(2) FAlER T~ S a1 ST (3) ST + F = ST
e (4) TR + 3T = e
(3) o fopeit s & - ot 45. fpe fobeq & ‘o SUE @ FENT oM
(4) B v Rer T ¥ - e 7
. (1) STiEeRI®
41, AT g 9w g ,
() et ad & g § 3@ aR” @
s it g (3) st
(2) gsh & de-ar T ST (4) D
(3) R %M o & FHIA B
(4) GR 3T SAHATE B I TS 2
42. THHH BHA AT AT T
(1) PEr Ak & sl o © 91
(2) Bl aeme ¥ a¥ W@
(3) 419% TeF W AT @ B
(4) T 7 T H PR R
Level-3/9217 P.T.O.
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[A]

46.

47.

48.

[14]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to W_ho """ o WS coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
. (4) did you say that
(4) to work this week
o ' 50. Fill in the blank with the correct
Fill in the blank with the correct ) )
' present perfect continuous tense :
option : ,
o He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting L
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | - the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o ]
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9217
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present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)
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53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[15]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9217 T 0.
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[A]

[16]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SIRTEHCT TR | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

Th HT AW H, 'DISTANCE' &
IDTATOEC' f@er omr ? &R
'DOCUMENT' @ 'ODDMUFTN'
foren s 8, @ 3@ WM e A
'THURSDAY' @& forar s :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA

(4) VIRUDSZB

FAA 10 HeX I H SR Fad ol
TRl |, a8 ST H SR 6 Hiex T
3l B @@ @ & oY 3 Hiex Fomm
3l T M JEART fg & Hew d
g R d § 7

(1) uig=m

(2) aferer-uivem

(3) Su-gd

(4) aferer

Level-3/9217
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61.

62.

In a code language, 'DISTANCE' is

written IDTATOEC' and
'DOCUMENT as
'ODDMUFTN', then in same code

'THURSDAY' will be

as
1S written
language,

written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA

(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South
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63.

64.

65.

66.

67.

g 9§ & U M P e ¥ 5%
P ghs & TNl T oW ay F ged
5% @ F & A 51 A TR aW B
oV ¥ SHEEnr 79,800 #ft, @ e
ay & TN H G o o ?
(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600

B R A (o e | I L
1CV, 5FU, 91T, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

a1 S W B 2 2 3 % oTgu A
qAqT SH HARAT 5 3 B q
%f|a=|'%aqma=ﬁ%qwa§crm%:
(1) 27:20 (2) 20:27

(3) 4:9 4) 9:4

Mg X 7 gHAt Y & W FE
‘At Y, 30 @ & 9 @ g
37 g X, 4 Y § e @R
gefag & ?

(1) T

(2) 2T

(3) dfa

(4) TG

qull H HH Tad [OAT QU g ao
H TEH IR T B
'HEARTLESS' fa+ o= d1efe It
§ fofora fbam o g & °

(1 1 2) 2
3) 3 “4) 4

Level-3/9217
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63.

64.

65.

66.

67.

[A]

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

(4) 79,600

of the

Find the wrong terms

following series :

I1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R

The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :

(1) 27:20
(3) 4:9

(2) 20:27
4) 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father

(2) Grandfather

(3) Husband

(4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?

(D 1 2) 2
3) 3 “4) 4

P.T.O.
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[A]

68.

69.

70.

71.

72.

W qher #, 27% fErd ofen #
g AR 38% fase #

W, A 19% a9 fawdr o

g, @ 2T fawdt & Sl B AR ©

(1) 46% (2) 54%

(3) 62% 4) 81%

o1 deEr 9o $ o UE B
20,20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 2) 10, 11

(3) 13, 14 4) 10,9

T FAK g % fqudg fem 7 13
fFlt X g @ fRem § 28 el A
I &Y B 9R 5 HS &H W Al
B U @ R e B ?

(1) 15 fpHt /guer

(2) 2 fpHt /gver

(3) 2V4 fopHt /guer

(4) 3 fpHt /gver

I 9m 1 q 100 d% W Ul
ferear B, @ a5 fhaet aX 3 e ® ?

(1) 19
3) 20

A, B3 Igre s@s C X D, E @
REEAMCHTgA T & R
C,BA g8 a = & & a4
HIT AETF W9 ¥ FT B ?

.

2) 11
4) 21

(1) A,C q 921 Bl
(2) C,D ¥ g1 |
(3) D,C q 921 Bl
(4) E,B ¥ g7 2

Level-3/9217
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[18]

68.

69.

70.

71.

72.

In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46%

(3) 62%

(2) 54%
4) 81%

Next terms of the following number
series are :

20,20, 19, 16, 17, 13, 14, 11, 2, ?
(1) 10, 10 ) 10, 11
(3) 13, 14 ) 10,9

A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?

(1) 1% km/hr
(2) 2 km/hr
(3) 2% km/hr
(4) 3 km/hr

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?
(1) 19
(3) 20

2) 11
4) 21

A 1is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.
(2) Ciselderto D.
(3) Diselderto C.
(4) Eiselderto B.
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73.

74.

75.

76.

M, T, R, K &R D & ya@% & @ar
TR, M Bad T @ 8l & iR D
dad K @ o« 31 39 9 dEa 999
qaT AfRT HIF 8 ?
(1) T (2) D
3 M 4 R
b))
42 32 C2 UG CIC TR
3 1
b))
4 3
2
11
(1)2E
1
(2)2E
11
6)315
1
(4)3E
g Y g, U @ ooy SEh
&l # fo @t e ad g,
ol &l g I T B Ag W 7
T e R & e oy
(1) 40 a9 (2) 30 a9
(3) 50 a9 (4) 4599

& A R Y R W I &
T I F V& ol SHB A
ufye feem & &R B SHH 94 B
fPa Ram A 2 ?
(I) S
(3) uit=H

(2) aferor
4) g

Level-3/9217
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[19]

73.

74.

75.

76.

[A]

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?
T

3) M

(2) D
4) R

The square root of

is equal to :

11
1) 2—
(1) )

1
@3-

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years
(3) 50 years

(2) 30 years
(4) 45 years

A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East

P.T.O.
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[A]

77.

78.

79.

80.

(1) 15 Mo & 1§
(2) 12 Mo & T
(3) 14 o & T
4) 16 Mo & &
10% daq¥s & X X TSame

THIRE B T 800 TG P TH WA
926.10 T fhas ag § a9 W ?

(1) 3 a9 (2) 12 ad

(3) 4% T8 4) 2%

8, 15 X 24 § fowfog 8w am
FAH I eI IR B

(1) 120

(2) 1800

(3) 3600

(4) 6400

I 6 YT A {9hT gd, 8 Al & A

ﬁ%w%,a‘rwmﬁqﬁm
qe:

(1) 25% a9
(2) 25% &

3) 33%%@%

(4) 33%%@1‘#

Level-3/9217
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77.

78.

79.

80.

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both  taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes
In how many years will a sum of

Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?

(2) 1% years
(4) 2 years

(1) 3 years
(3) 4%z years
The least square number, which is
divisible by 8, 15 and 24 is equal to :
(1) 120

(2) 1800

(3) 3600

(4) 6400

If the selling price of 6 pens is equal

to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit
(2) 25% loss

3) 33 % % loss

4) 33 % % profit
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[21] [A]
81. R@Pm & W9 Wea 62 T fm 81. Who is the Chairman of the newly
AR & =ARHA (S1ee) & © ¢ constituted ~ 6th  State  Finance
Commission of Haryana ?
(1) forprar e (1) Vikas Gupta
(2) T Geel (2) Rajesh Khullar
(3) dlo TEA= @ (3) P. Raghvendra Rao
(4) <io dio THo THo THIE (4) T.V.S.N. Prasad
82. R Bﬁ TP & I BN & 7 82. Who is the vice-chairman of Haryana
Urdu Academy ?
(1) MYEE TRT (1) Gopichand Narang
(2) Y& S99 (2) Kumud Bansal
(3) T B (3) Chander Trikha
(4) g 911 (4) Suraj Bhan
83. eRaT ¥ ¥FW wWE H Hew wel 83. Where is the palace of Begum Samru
aafed & ? located in Haryana ?
(1) BER (2) aQNTa (1) Faridabad  (2) Sonipat
(3) THIM (4) Ve (3) Gurugram  (4) Rohtak
84. FHUATT WAl H WO USH faoiam Bl 84. The award is given by the Haryana
BRATON TXHR /T & T arit g&pd Government to the gold medal winner
TR in the Commonwealth games :
(1) a9 e (1) Three crore
(2) & P (2) Two crore
(3) Tgedy e (3) Seventy Five lakh
(4) 3T HS (4) One & half crore
85. 1857 & foRie & AW Tedw @ 85. Who was the Collector of Rohtak
foramdiar i o ? during the uprising of 1857 ?
(1) gi99 feeq (1) Thomas Semton
(2) s=go I (2) W. Eden
(3) TEH A= (3) Adam Loch
(4) gsaq (4) Hudson
Level-3/9217 P.T.O.
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[A]

86

87.

88.

89.

90.

. §& T, S % oY &l W ©

(1) AT

(2) Hifest

(3) TeA

(4) T=1

feapt i@ eRaen & fpe R #
R B 7

(1) e

(2) daga

(3) B

(4) o

BT fqerEe, S SRSy 2019 &
A & 9 TMed B W D

(1) 124t (2) 134t

(3) 144t (4) 15dt

fisT ®RMe @ B B 7 R UKl
@R & GG o T B ?

(1) EoTEE STaE

(2) S e

(3) TSE M T I ST

(4) A< Iae

fFg TeX & IR M Fe o ?

(1) Fe=T%
(2) STl
(3) o

(4) GF9q

[22]

86.

87.

88.

89.

90.

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang
(2) Sahibi
(3) Dohan
(4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak
(2) Panchkula
(3) Karnal
(4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12%
(3) 14"

(2) 13"

4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh
(2) Ambala
(3) Kaithal
(4) Sonipat

Level-3/9217
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[A]

AT — IV / PART - IV
Sfiaf9s¥ / BIOLOGY
3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

‘AN TR w & ged § gt o
FH T BN
(1) &1 @& HEPA fheeX &1 ST

P fotviigpa fohar S B

(2) T W PH HA THT FoOHBIT
% fg UV fafezelt &1 SuanT e
S B

(3) 39 I @9 ¥ Gaue At ug
P B T B oTEET FE B
fo Sy # foram Sam R

(4) AT T AHNR TSR A N
T fotdiener &1 frsra 9 2

T H AT AT W fhEe R B
g7

(1) &&IeRT
(2) el
(3) SETIRTT
(4) TR

Level-3/9217
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91.

92.

Select the true statement, with

reference to the Laminar Air flow :

(1) Air is sterilized using HEPA

filters.

(2) The UV radiations are used to

sterilize while working on the

bench.

(3) It is primarily used to sterilize

the culture media and glassware.

(4) The principle of sterilization is
the same for both autoclave and

laminar air flow.

Red rot of sugarcane is caused by :

(1) Cercospora
(2) Phytophthora
(3) Alternaria

(4) Colletotrichum

P.T.O.
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[A]

93.

94.

95.

TheioTR qred fored fadiaes i el

g, & TH I B
(1) fsrifaar

(2) R

(3) gefrr

&) aersiar

AT SHISIHEe Hl Jaed B :

(1) TIHNETT
(2) feaforder
(3) i
4) @i

WY R @ oWaw W S
A B & I 3R @B

(1) SFicediteas
(2) TGeH

(3) T B
(4) S

Level-3/9217
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[24]

93.

94.

95.

An example of a monocot plant

having secondary growth is :
(1) Bignonia

(2) Nyctanthes

(3) Dracaena

(4) Leptadenia

An example of homosporous

pteridophyte is :
(1) Lycopodium
(2) Selaginella
(3) Marsilea

(4) Salvinia

The innermost wall layer of the
anther which completely surrounds

the sporogenous tissue is :
(1) Endothecium

(2) Tapetum

(3) Nurse cells

(4) Intine
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96. fasmeeE fouwiEl  (SEAEME) @

97.

T el €

(1) TRAS

(2) F/Y

(3) SBICRFT

4) g

P 1 B Hed [ § GAfka i

AR A g o § § @Ef s
H T HINTT

e 1 i 11
(A) ANEEE - (1) 2n+2
(B) Fferenfi (i) 2n + 1
(C) Tr=diti® (iii)2n — 1
(D) IR (iv) 2n -2

% -

A B C D
(H ) @@ @@y @Gv)
(2) Gv) @) @ (i)
(3) () (@) @Gv) (@)

4 @) @Gv) @) @)

Level-3/9217
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[A]

96. The avian relatives of Dinosaurs are :

97.

(1) Crocodiles
(2) Turtles
(3) Archaeopteryx

4) Gavialis

Match Column I with Column II and
select the correct answer using the

codes given below :

Column I Column II
(A) Monosomic (i) 2n+2
(B) Nullisomic  (i1) 2n+ 1
(C) Trisomic (111)2n -1
(D) Tetrasomic  (iv) 2n —2

Code :

A B C D
(H Gy @@ @) @v)
(2) Gv) @) @ (i)
3) @O @G @Gv) (i)

4 @) @Gv) @a) @)

P.T.O.
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[A]

98. UTATCIR Iedmiad Bl § :
(1) @@FFda ax
(2) e &N
(3) TE T B
(4) TRT=7 &

99. & T @+l Ho T B, R -

(1) 3gfa g fefe 2N gde 2

(2) the T R 3N afaw &
(3) Hifthd T Togare M ehaiiigd
2l

(4) fafspeim T fo=adie A ol
g

100. WYHER F 1-HA SElgH AR AH

BRI @fad erll &

(1) T werel @ AfFsga] af &
(2) i FFEl Bl Al I g
(3) T Gl AT AT FRT
(4) TR el i Afeger Ay &

Level-3/9217

[26]

98.

99.

100.

Aflatoxin is produced by :
(1) Saccharomyces

(2) Nostoc

(3) Aspergillus

(4) Adiantum

All statements given are correct,

except :

(1) Insulin and Trypsin both are

proteins.
(2) Abrin and Ricin are toxins.

(3) Morphine and Cellulose are
alkaloids.

(4) Vincristin and Vinblastine are

drugs.

In honey bees a pheromone I-Keto

decanoic acid secreted by :

(1) Mandibular glands of queen bee
(2) Maxillary glands of worker bee
(3) Intestinal gland of queen bee

(4) Mandibular gland of male bee

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others
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[27] [A]
101. 9 # 9 P9-91 SEFNIeH WO & 7 101. Which of the following is a
hydrozoan coral ?
(1) gearaTT (1) Alcyonium
(2) g=figere (2) Anthipathes
(3) &BEaET (3) Stylaster
4) 73@7??7 (4) Madrepora
102. fr=ifofaq & & @9 T & o< e 102. Which of the following is obtained
g7 from rhizomes ?
(1) QT SR FR (1) Clove and Saffron
(2) TR AR T (2) Turmeric and Ginger
(3) TR AR B (3) Turmeric and Saffron
(4) AT R TERH (4) Clove and Ginger
103. AR ufgw IuRAT A ® ¢ 103. Casparian strips are present in :
(1) 9R3w # (1) Pericycle
(2) e | (2) Xylem
(3) SidEE® | (3) Endodermis
4) T (4) Cortex
Level-3/9217 P.T.O.
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[A] [28]

104. ffafad & & f9-a1 Saea arey 104. Which of the following is a fossil
T ? plant ?
(1) BT (1) Rhynia
(2) Frwm (2) Ginkgo
(3) @ (3) Psilotum
(4) sFEIHIcH (4) Equisetum

105. TABE T 9T S © ¢ 105. Dolipore septa are found in the

species of :

(1) FHoEaed & kb & (1) Oomycetes
(2) TEpEEHed H ade | (2) Ascomycetes
3) a@%ﬁWﬁ'ﬂ P W | (3) Basidiomycetes
4) %@'ﬁ'ﬂﬁ'{ﬂﬁ'ﬂ %l T | (4) Deuteromycetes

106. freifaiag & & -6 AH-Tdis 106. Which of the following is a non-
=i B & 7 allelic gene interaction ?
(D) GTT'? T (1) Incomplete dominance
(2) g&aan (2) Epistasis
(3) Hewsfaar (3) Codominance
4) dg fereheaar (4) Multiple allelism

Level-3/9217
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[29] [A]

107. STgaeioral § FrefaRed § | fhed 107. Which of the following has the

RGN ol gAqH HEA Bl © minimum number of chromosomes
in Angiosperms ?

(1) <ty Ifdfara (1) Haplopappus gracilis

() orEEleTT Sfergrr (2) Arabidopsis thaliana

3) IFisaf @9?37-7 (3) Ganoderma lucidum

4) Fifeq dar (4) Coptis teeta

108. fr=ifeifad & & #=-ar I CIEER 108. Which of the following is not a

H TqiaRa Sia 78 © ? genetically modified organism ?
(1) "B (1) Glofish

(2) e =d (2) Golden Rice

(3) WR da) (3) Flavr Savr

(4) S 9 (4) Dolly Sheep

100. f=fifed & § &9 "Edfes 9% & 109. Which of the following is toxic to

forg former & ? mitotic spindle ?
(1) FIEEEN (1) Colchicine
(2) T (2) Giemsa
(3) THICRIEN (3) Acetocarmine
(4) g (4) Fuchsin
Level-3/9217 P.T.O.
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[A]

110. Fr=ifafad & @ #F-a1 FRItA 319
H HYH 787 & !
(1) TrRgIeT
(2) HerT
(3) HifREH
(4) SIS

11, 9 9] %99 &3 70 ¥ -

(i) PC,®W I = e d8% ol

(i) Fe| F Tl fera &&mw

11

(iii) FRIIgEET C, WEdt @ T 2

(ivyPEPCO, C; Uedl & 9q@
TRl GEH Rl

F&7 HI & W B S BT
(1 @, (i)

) @), (v)

(3) (), (iid)

(4) (i), (iv)

Level-3/9217

[30]

110. Which of the following is not a

111.

component of chlorophyll molecule ?
(1) Nitrogen

(2) Manganese

(3) Magnesium

(4) Oxygen

Four statements are given below :

(i) PC 1is a copper containing

mobile e carrier.

(i1)) Chemiosmotic theory was given

by Mitchell.

(ii1) Photorespiration is feature of C,

plants.

(iv) PEPCO i the main

photosynthetic enzyme of C;

plants.
Find set of correct statements.
(1) @), ()

(2) (@, @iv)

3) (i), (iii)

@) (i), (iv)
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[31] [A]
112, H-HHSIG f[‘TRfﬁ & A GUel H 112. The interchange of segments
EH-UEN FEAT © between non-homologous

chromosomes is known as :

(1) T SR (S ) (1) Crossing over
(2) TEABIT (TR (2) Translocation
(3) 5 (IeBH) (3) Inversion
4) g (fEem) (4) Duplication
113. ffofag & & #9 ‘O_Y @ 113. Which of the following is the 'Joker
St ® ? of plant kingdom' ?
(1) Sfme (1) Desmids
(2) HTEHIIHT (2) Mycoplasma
(3) SRTeH (3) Diatoms
4) g (4) Pogonatum

114. JAAH Ha% B BN o HET 114. The cell wall of true fungi is made

A ® up of :
(1) G B (1) Chitosan
(2) SEEA @ (2) Xylan
(3) W T AN i (3) Chitin and Cellulose
(4) FEfe &l (4) Chitin
Level-3/9217 P.T.O.
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[A] [32]
115, &oAfMar Sa Teiar § ¢ 115. Leishmania donovani is a parasite of :

(1) AR (1) Muscles

(2) dreRett & (2) Nerves

(3) IYehedl Hdh hl (3) Epithelial tissues

4) iiEEBQEiIQrE:I%ﬂﬁIﬂFT GERCI (4) Reticuloendothelial system

116. IREH (A) : TR T 116. Assertion (A): Acetylcholine
R e ol @l transmits the nerve
TaRd ®a 2 impulse across a
synapse.

RO (R) : URCEAREN TgHND Reason (R) : Acetylcholine  is
dfeR a) Wi & secreted by
z| adrenergic neurons.

(I)AQHERﬁW%HﬂTR,AEET (1) Both A and R are true and R is

e TEHT 2 correct explanation of A.
(2)A®ERﬁW§,ﬁﬁR,A (2) Both A and R are true but R is
FH e TREB TE B not correct explanation of A.

3) A¥Fd g T9q R 36 Bl (3) Aistrue and R is false.

(4) ATaq RAN o6 2 (4) A and R are false.

Level-3/9217

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others



Telegram - @TeachingExam

117. &= & @ 9 o & Fagw =@

118.

TR S ® 7

(1) 7
(2) TS

(3) ST

4) I

7T I AT -
(1) Sig 9IdE 2 2

(2) DNA @ fFareme 3oE Reg @
Tl ST ER B

(3) W Elo To Uo &l HEH BN
THE § o [ JAHdeH § wEM

2

(4) WA dfed & G FaueH
Sihe TEq A T A em

Level-3/9217
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[33]

[A]

117. In which of the following organ is

118.

the Glisson's capsule is present ?

(1) Liver

(2) Lungs

(3) Pancreas

(4) Kidney

Select false statement :

(1) The genes are protein.

(2) The functional unit of DNA can

be regarded as cistron.

(3) Recon is the smallest unit of

DNA capable of recombination.

(4) Operon model was first

suggested by Jacob and Monod.

P.T.O.
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[A] [34]

119. HRH (ﬁiﬂgﬁﬂ) 4 o JURYT 78] el 119. Which one 1is not present in
g7 Blastula ?
(1) BH s (1) Blastomere
(2) B B (2) Blastopore
(3) BIE = (3) Blastoderm
(4) B Tl (4) Blastocoel

120. /91 # @ 59 UR & o @ 120. In which of the following type of
STETd & @9 ® 2l 4 scale, the basic structure resembles a
Tt & ? tooth of mammals ?
(1) <iHiEe I (T q5) (1) Placoid
(2) AEHIES & (W ) (2) Cycloid
(3) dIFigs ek (3) Ctenoid
4) e ah (4) Ganoid

121. UEAMESN &g H *'Il'is‘:lxﬂvl e N 121. At which position does nitrogen
B & 7 occurs in pyrimidine ring ?
() 1'Td 7®|M ©® (1) At1'and 7' position
2) 1'td 3'®WM W (2) At 1'and 3' position
(3) 1,3,7' T 9 ¥ | (3) At1',3',7" and 9' position
4) 1,379 9 &M |® (4) At1',3"and 9' position

Level-3/9217
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122, TF THieq & v faQwaet &

123.

& | TEd g

(A) BT B68

(B) AYART  SuRe  wa  STWIR®
RECE|

(C) 728 UM orguierd aril &

(D) FAEHT THHTE qal GEferdt
W= Bl &

59 TR B AW ©
(1) A7ga
(2) g7
(3) garzed
4) BT

HO-T & B ¢

(1) TS & A

(2) TSR] Hl bl

(3) SAIEE & ARG HI b

(4) gHEH ST H Al

Level-3/9217

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[35]

[A]

122. Consider the following characteristic

123.

of an amphibian :
(A) Reduced lungs

(B) Copulatory organ present and

fertilization is internal
(C) Tail muscles are absent

(D) Vertebrae are amphicoelous and

ribs are free
The name of this amphibian is :
(1) Xenopus
(2) Ascaphus
(3) Alytes

(4) Rhacophorus

Function of Copper-T is to inhibit :
(1) Fertilization

(2) Ovulation

(3) Implantation of blastocyst

(4) Gametogenesis

P.T.O.
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[A]

124.

125.

126.

M’ T B STENT AT ST B

(1) Elo THo To FH I1& | Pl
% fe

(2) Vv ST & [T

(3) FopH FIE % o1
(4) &R0 To To TERIT & fT

T T g IRy IR B

(1) el

(2) a4

(3) R

(4) S

Frafafed & @ feadl “Tps
ARG AT el S &

(1) defierer grRprierg

) GHFIRTT BT

(3) gearifrar #ieg

(4) @baser e

Level-3/9217

[36]

124.

125.

126.

The term 'teminism' is used for :

(1) Semi-conservative DNA

Replication
(2) Central Dogma
(3) Reverse Transcription

(4) RNA Splicing

An example of a plant having

pseudostem is :
(1) Banana
(2) Bamboo
(3) Coconut

(4) Potato

Which of the following is referred to

as "natural genetic engineer" ?
(1) Bacillus thuringiensis

(2) Agrobacterium tumefaciens
(3) Escherichia coli

(4) Saccharomyces cerevisiae
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[37] [A]
127. & =E H TH G © ¢ 127. The name Kary Mullis is associated
with :
(1) 3 sﬁa@qﬁw q (1) Gel electrophoresis
(2) o THo To SINERM 9 (2) DNA sequencing
(3) diams =9 Ruw™ 9 (3) Polymerase chain reaction
(4) Sto THo To THTRMFET | (4) DNA fingerprinting

128. @™ I & Hfaq 11 9 ﬁﬁﬁlﬁ T 128. Match Column I with Column II and

R I fRu T 'ﬁ:;f H I q choose the correct answer using the
&l I B TG BT codes given below :
w1 Sied 1T Column I Column II
(A) AT (i) I (A) Lamiaceae (i) Vexillary
goed e aestivation
(B) TeRHl (i) THEHl gbEr (B) Asteraceae (i) Monadelphous
(C) ®adt (iif) ST stamens
GIGED] (C) Fabaceae (iii) Gynobasic style
(D) ArTaEl (iv) J=% oA (D) Malvaceae  (iv) Capitulum
inflorescence
g7 - Code :

A B C D
(H a) @) @Gv) (i)
(2) (i) Gv) @) (@)
3 @O G G @v)
(4 (@v) @) @) ()

A B C D
(H G @ Gv) (i)
(2) i) Gv) @ 311
3 @O G () 3Gv)
4 (@v) () () (1)

Level-3/9217 P.T.O.
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[A]

129.

130.

131.

frfefaa & @ PH-a1 fifet 89 8 ?

(1) HI

2) H2A

(3) H2B

(4) H3

FHU<RS T4 "RHE o R

§ q B9 T > Gl B HIAH
fufy & dues € ?

(1) SEwEE
(2) SEeREBE
(3) TR

(4) HAHEE

fEsl e =gee & g9 W
feed 2 -

(1) Srgmes o

) YT |

(3) ST A

(4) fe=id &

Level-3/9217
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[38]

129.

130.

131.

Which of the following is the linker

protein ?
(1) H1

(2) H2 A
(3) H2B

4) H3

Mucopeptides and muramic acid are
the components of cell wall of
members to which of the following

class ?

(1) Cyanophyceae
(2) Bacillariophyceae
(3) Phaeophyceae

(4) Charophyceae

Bivalent  chromosomes  clearly

appears as tetrads in :
(1) Zygotene

(2) Pachytene

(3) Diakinesis

(4) Diplotene
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132.

133.

=T a1 Barr #HifoTg

(A) Ef&Ted A

(B) THfeheT ahifSrent SFeqeriar

(C) TwifoH

(D) TR fagm

(E) Ui gfdeprg

SEFE § @ B AR S

SAREAT & BT F&TE 7

(1) ATaq B
2) AT C
(3) BwH E

(4) Duaq E

JFIRTA TR & e H gy
HIT P T PO -

(1) <A Bl 8 SARARg el =il

(2) TIHR SIEE & & B B
(3) g& ¥ wg Q1 g

(4) Y, Th T AERN HT q FHAw
S 2T B

Level-3/9217
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[39]

132.

133.

[A]

Observe the following :
(A) Huntington's disease
(B) Sickle cell anaemia
(C) Albinism

(D) Turner's syndrome

(E) Muscular dystrophy

Which of the above are not due to

autosomal gene mutation ?
(I) Aand B
(2) Aand C
(3) Band E

(4) Dand E

Select false statement about bacterial

flagella :

(1) Not surrounded by plasma

membrane.
(2) Made up of tubulin protein.
(3) Show a range in number.

(4) Composed of filament, hook and
basal body.

P.T.O.
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[A]

134.

135.

136.

frefofeg & @ weleRge  SAied
HA A (Il B FA BT

(A) Fa%

(B) dar@

(C) fermey

(D) |9l STy
(E) 8 Uy
(1) B,D,E
(2) A,B,E
(3) B,E

(4) Fad E

fererieT o e R

(1) forge wdio |
(2) CFe wio |
(3) @EHT To &
(4) TE7T Wo |

Frefafed & @ aF-91 9RY SA%ET
7 87

(1) FrSiar
(3) TR

(2) grRar
4) GrhgEHY

Level-3/9217
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[40]

134.

135.

136.

Choose the option given below that

produces carbohydrates :
(A) Fungi

(B) Algae

(C) Viruses

(D) All Bacteria

(E) Green plants

() B,D,E
(2) A, B,E
(3) B,E

(4) Only E

Chilgoza is obtained from a species

of :

(1) Cedrus
(2) Taxus
3) Cycas

(4) Pinus

Which of the following plant is not a
bryophyte ?

(1) Cladonia (2) Porella

(3) Anthoceros (4) Polytrichum
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[41] [A]

137. SifeMH SRR X1 feesd R &t 137. Botulinum exotoxin prevents the

el ST & 7 release of :

(1) ATP f=Rw (1) ATP synthetase
(2) e (2) Thyroxine

(3) THIEE (3) Amylase

(4) TR (4) Acetylcholine

138. /= FuAl @ dfew uqq G 138. Read following statements and

g choose correct one :

(1) TS @ cu”’ dEE &l (1) Enolase requires Cu"" ion
AL Bl B

(2) FRHA GET H FES IIed (2) The most productive pathway of
T TARHARN &l cellular respiration is glycolysis.

(3) THHNCHIESH  FHIABRE B (3) Glucocorticoides inhibits
REE GG glycolysis.

4) ‘glq;lqvl'iqvj Edl *qq?lq & i K, (4) Glucokinase has a lower K, for
g el B glucose.

Level-3/9217 P.T.O.
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[A]

139.

140.

141.

SRR Ui ST ® ¢

(1) SfEamrE ¥

(2) fadbenars #

(3) e |

(4) AfEasEs 3
Fr=fifad & & Al & gg
qq g T
(1) gEeEdE - — STl
(2) Farm —  HiReE
(3) sw=t LRE
4) Ed d I8 - w9

A § 6 o1 g STHIE BNl
Bl A q 'AER § SO H B
et 4 @ a8 Il § oiew
(Sreftam) e &t Bar & 7

(1) s
(2) 9%
(3) &<

(4) 99

Level-3/9217
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[42]

139.

140.

141.

Hemerythrin pigment is formed in :
(1) Brachiopods

(2) Cephalopods

(3) Gastropods

(4) Ophionoids

Select the correct match from the

following :

Extinct animal Country
(1) Thylacine — Africa
(2) Quagga — Mauritius
(3) Dodo — Australia
(4) Steller's sea cow — Russia

Ruminants have a large compound
stomach. These are the mammals
that chew the cud. Which of the
following Ruminant lacks omasum

(psalterium) chamber ?
(1) Goat

(2) Sheep

(3) Camel

(4) Buffalo
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[43]

142. A PEO] & R F =1 § | B0
I 7E e ?

(1) ThEM g &9 T2t FHam

Q) e ¥ SR g
AT Bl © S fh ofuer @
IRA g fEdl 5, aReTHEEw
f= 8 R

(3) ThEH H IuRed wWH aruEeh
(AERM) oS & SmERE &
T FX e § wers 8 ol

(4) HEM Th GI& GEAT A
P FIA B, PEE TWH, SIS
P W I B

143. 79 & § SF-1 90 IEH Siadsd
HXfera-ae B 7
(1) AR
(2) 9=
(3) =T 2

(4) T
Level-3/9217
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142.

143.

[A]

Which one of the following
statement about human sperm is

correct ?

(1) Acrosome serves no particular

function.

(2) Acrosome has a conical pointed
structure used for piercing and
penetrating the egg resulting in

fertilization.

(3) The sperm lysins in the
acrosome dissolve the egg
envelope facilitating

fertilization.

(4) Acrosome serve as a sensory
structure leading the sperm

towards the ovum.

Which of the following is the oldest

Biosphere Reserve of India ?
(1) Nilgiri

(2) Panna

(3) Nanda Devi

(4) Simplipal
P.T.O.
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[A]

144.

145.

146.

Rrdvigs oRY & F|/EIT 8
(1) Ufcaem

(2) gedl

(3) YHIRS T

(4) 2AMge

fr1 & @ @ a9 78 © 7

(1) wEddtga @ @A ¥
oE d9- R

(2) T8 Bl & [T AESig

TEARE FHaad Bl

(3) HITHT H TS, HE H e
F B

(4) AEAEM o= e (TRrs)

SERCII I

TEaRigad 3o do THo (ETS) &
gty IVHE 8§

(1) W a, a; @ & HWR &=

(2) 9B a,, b U@y AR
(3) @ by, 2, T FAD
(4) FAD, FAN taq €& a

Level-3/9217
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[44]

144.

145.

146.

Example of sesamoid bone is :
(1) Pelvis

(2) Patella

(3) Pectoral girdle

(4) Pterygoid

Which of the following is not true ?

(1) The stain used to visualize

mitochondria is Janus green-B.

(2) Mitochondria  without outer

membrane are called mitoplast.

(3) Aleuroplasts stores starch in a

cell.

(4) Lysosome is a part of

endomembrane system.

Complex IV of mitochondrial ETS

contains :

(1) Cyto a, a3 and two copper

centres
(2) Cyto a,, b and Iron
(3) Cyto by, a; and FAD

(4) FAD, FAN and Cyto a,
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147.

148.

awa # = od | e 23 o

A E?

(1) THEMR

(2) facios FHeEe

(3) STEe

(4) St

F% Uie § AW ga TER B
MY s § o dam g
gt fafeerga heEm B R, 3
Fad §

(1) S (segeres)

(2) “RRE (g% )

(3) Herwifear (Jsa 3n®)

(4) dremhitafRTEr (sTiigans fre)

Level-3/9217
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[45]

147.

148.

[A]

In human which of the following has

23 chromosomes ?

(1) Spermatogonia

(2) Secondary oocyte

(3) Zygote

(4) Oogonia

In many polychaeta nephridia are of
open type, each having a ciliated
into  the

nephrostome opening

coelom, they are called :

(1) Protonephridia

(2) Nephromixia

(3) Metanephridia

(4) Protonephromixia

P.T.O.
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[A]
149. Uh el A YT

ST TR @ AW

(1) oReEeT -
(2) Uil -
(3) FrEeHicET -
(4) Hesie -

150. T P Pl THET TR ©

(1) Yfesfewd ama
(2) i amar
(3) HehET ARAT

(4) ATEHRAT T

[46]

(+, +)

(_9 _)

(- 0)

(+,0)

149. Select a correct match :

Name of interaction Symbol
(1) Predation — (+,+)
(2) Parasitism - (=)
(3) Amensalism — (- 0)
(4) Symbiosis - (+,0)

150. Infective stage of Hookworm is :

(1) Rhabditiform larva

(2) Filariform larva

(3) Cercaria larva

(4) Metacercaria larva

Level-3/9217
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U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

7. X% B W—gﬁﬂfm H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space
provided in the Question Booklet for the same.)

8. Tl ITR Bad OMR STR TG WX &I 3ifhd B | U SR LFYdd Afhd BN | SR 98l B 90 9 (ABE FRS) BT
T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

9. UF U & forv fIy v IR fwedi # 9 3Ifad fawey & fw OMR STR 956 W &dc Ud gd &I & T TRE Hlof ard
wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

10. 3 FHARFT X 6 59 IR I5d B Ael 9 WY Td I R BIg 3 M9 7 A | 3pgedi =1 gehHld IR T5d
# feiRa v @ srfiRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

11. TE-YRAHT T4 IR TFAF P LGS YA W, R fHe f aRRefa # (Uea—gRaer vd SR =@ & HHie # o
o1 Rafq &1 Breaw) W U Eﬁﬁ?ﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. W—W/W TN H ﬁ(’ MU HHD Bl 3pgeft TE b W TR I ¥ ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13.ameﬁaﬁqﬁmgm/amﬁmwsﬁ?qﬁﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

14. RIETH §RT I8 O W YRS el U1 Yael &Ts (I 7o) 3R Ugd ud faw@m | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

15. B ENetd AT Wded P A Gquf?f P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)
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[31] [A]
~-I(PART-T)
919 fae e g REII (CHILD DEVELOPMENT AND PEDAGOGY)
3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1 9=l g% 90er e a7 1. Who developed the first intelligence
test ?
(1) qa& (1) Lavator
(2) (2) Sanguin
(3) wI~ad TMeed (3) Francis Galton
(4) ks oM oiR d=Fe (4) Alfred Binet and Simon
2, TGS H AR S 8 AT HA 2. A branch of psychology which
g & am E@ SiaTh| | Qie, studies how people change physically,
oM oiR |t &9 | %’@[ cognitively and socially over the
A &, PEAR © entire life span is known as :
(1) ST wfa= (1) Clinical psychology
(2) WA FNfIEH (2) Counselling psychology
(3) foeprEeTs FRIfasT™ (3) Developmental psychology
(4) A6 TS (4) Experimental psychology
3. fefefed & @ 3@ S 3. Which of the following is not the
AERE 7& & ? innate motive ?
(1) gen (2) q@ (1) Safety (2) Hunger
(3) 9| 4) fagm (3) Thirst (4) Rest
4, 78 fhOM ®el & “TRAEEn &M@, 4. Who stated that "Adolescence is a period
@, T o EEY &l oraer 8 7 of stress, strain, storm and strife" ?
(1) faferaw wgo @9 (1) William H. Barton
(2) W B (2) Stanley Hall
(3) o o BSHIS (3) J. A. Hadfield
(4) S o (4) Jean Piaget
5. fr=ifoied § § &9-a1 W &0 WS 5. Which of the following is the highest
ST A RaT @1 STaad ®i) level in hierarchical theory of
g7 learning given by Gagne ?
(1) 9981 g9 ™ (1) Problem solving learning
(2) s st (2) Principle learning
(3) g 3T (3) Concept learning
4) E@%ﬁW CIbyE (4) Multiple discrimination learning
Level-3/311 P.T.O.
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[A]

6. f=ifeifeg & § ®N-T@ afda 99
P STEd THAE & °

(1) g vty

(2) GEEIEGE Sty

(3) & Aty

(4) qfet wfafe
frfofag & @ -1 o8 9w
W & T & B 7

(1) |iaRes qRYFad

AR IEECIS]

(3) SR

(4) HATH Yedich I &l

frafofag & @ @9-a1 " SiF
e 9 o demeTe o e
§ gz ?

(1) STHATIRIT (2) THAH
(3) Hichic® (4) |

Freifafad & & ®F-81 T =X ane
3 faem 3 e ¥ S 3 EW
fraiRa oot # & 787 ® 7

(1) STuRepd HaT & =)

(2) A H =0

(3) ATHIHME X

(4) TRURS =1 & AT

10. G a6 & QHISTS-Hikhias
Rreid & 5% @ & ?

(D) SiF s (2) SR )

(3) T9 AECEH (4) HrEAET

11. e & & $F-d Atka /e
F wad ufafy 7&f B ?

(1) o= qEad qae

(2) 9599 I AT &

(3) @R gfd e

(4) R ®IFH glEeT

[~

|

|©

Level-3/311

[4]

|®

[~

|

|«©

Which of the following is the non
projective technique of personality
measurement ?

(1) Association technique

(2) Sociometric technique

(3) Construction technique

(4) Completion technique

Which of the following is not the
characteristic of good mental health ?
(1) Emotional maturity

(2) Self confidence

(3) Intolerance

(4) Capacity of self evaluation

Which of the following concept is
not introduced by Jean Piaget in his
Cognitive Development theory ?

(1) Assimilation (2) Accommodation
(3) Symbolic (4) Equilibration

Which one of the following stage is
not prescribed by James Draver in
the context of development of
character ?

(1) The stage of crude emotion

(2) The stage of sentiment

(3) The self regard stage

(4) Conforming conventional stage

Who was the founder of socio-culture
theory of cognitive development ?

(1) Jean Piaget (2) Jerom Bruner
(3) Lev Vygotsky(4) Kohlberg

11. Which of the following is not the

type of projective technique of
personality measurement ?

(1) Word Association Test

(2) Woodworth's Personal Data Sheet
(3) Sentence Completion Test

(4) Thematic Apperception Test

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others



Telegram

12.

=
w

- @TeachingExam

frefefeg & @ #9-91 ded 3N
gidIed R & TAHS [AA9E Bl
YHR 78 o ?

(1) iR (2) = ==

3) WA @ (4) Sieard

fH g T & U Sih Sy
qlET (Hied) AR & bl § 7

MH285a@ @0F4a

(3) 16 § 18 a¥ (4) 3 § 10 a9
frefofeg & @ ®F-@ fhaREer @
faqrar 72 & °

(1) ATIRET & IR H
& 20% B Bl

(2) feara= &= @t vy sgdl o

FA R F AR

(3) YEHT TE T B

(4) qHTYH A SO X
W Ugd SN Sl

frefofeg & @ ®9-8 IRERT @&t

o7y faQwar ® ?

(2) IRERT @EerR MR & B

(3) ARBIRG FIER & Wi HOR
Bl Bl

(4) ARPROT A= F Feil qREeH
FHA Bl

W%ﬁg@aﬁﬂ«w % AN

qMfe  Heal d SRl
g@aﬁmﬁmwsﬁr%?

(1) 529 67 (2) 369 51
(3) 209 35 (4) 209 &=

Level-3/311
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Which of the following is not the
type of dynamic trait of personality
given by Cattell ?
(1) Attitude

(3) Sentiment

(2) Urge

(4) Conservative
For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2to 5 yrs. (2) 0 to 4 yrs.
(3) 16 to 18 yrs.(4) 3 to 10 yrs.

Which of the following is not the
characteristic of Adolescence ?

(1) Weight of muscles 1s 20% of

total weight of body.
(2) Tendency of day dreams
increased.

(3) Vocabulary too increases.

(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal oriented.

(2) Motivated
continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

According to Stanford-Binet IQ
scale, what is the IQ range of low
mentally retarded children ?

(1) 52t0 67  (2) 36to 51
(3) 20to 35  (4) below 20

P.T.O.
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[A]

17.

Td & T Hsid & ufdues di
g ?

(1) et I9

(2) BT

(3) & WY

(4) Sflo WA B

fr=ifoifeg & & H9-91 t% omeEal @l
faQraetl & dot ¥ 7T wuA R ?

(1) omeg fafiee Rafd & fow @@
PRERIE

(2);@&3@%@%#@
|

(3) oTed ol dXe § e yee R

(4) TMEd Bad GO URRfRT 8
W IEfid &l 2

frfofag & & @9-a1 Rara Iftrm

gi o fowral @ gEfed 78
?

(1) AR TP H s

(2) & id & s

(3) GHN S19ud & [¥ar

(4) TEEHOT A RS

frfafag & @ @9-@1 9FeE® @
qerars S &1 o W Je e 7
(1) SEEIuh FTferan Rrsr=
(2) AWM # §Y e

(3) STgsfad srgfehan &1 s
(4) a9 Tl e A s

21. Frefdiad & @ @A Sy

TGS %1 eI el &

(1) Gl FEeR W &AM DI Hl 8l

(2) G el IX e i
AT &l

(3) i FeAe W HiHd B

(4) J69 [EBE H AT R HET o
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[6]

Who was the propounder of
Anticipatory theory of play ?

(1) Karl Groos

(2) McDougall

(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is

the wrong statement in context of

characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit 1s acquired through
heredity.

(3) Habit is a well Ilearned
performance.

(4) Habit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline

(2) Theory of rote memory

(3) Theory of identical elements

(4) Theory of generalisation

Which of the following is not the
other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuses on overt behaviour.
(2) Focuses on cognitive processes.

(3) Focuses on the biological events.
(4) Focuses on critique of male bias.
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22.

Frfoied & @ $9-°1 0% qavgrE
3 faQwareT & gt § Tgg HeN B 7

(1) JAERT ST Brelt &l

(2) JavafT aga afemen e 2
(3) JavgrT STeuaIa il ol
(4) FersgRy AN @HE B

23. fER, ol @9, 9w R o S=

qHe ek 9

Sl S
TiafafeE @ wer S R

(1) g7 =&

(2) G54

(3) 9

(4) @/

frefofeg & @ #9-91 #09 ogw
g7

(1) Iftrm ws ufker & 9 fF Sl

(2) S ufF W9 IEeLAYE e
Bl

(3) ARFE & & AUH ST D

(4) gevghy T R feael & aw
BN 99 FEeR & URgad ot
e 99 S

25. g § § H9-91 So dio firame

N e g & RiatE aew & o
e [Auas] YR T © !

(1) SArpicrn
(3) Wikl

(2) SOt
(4) HAGRRS®
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[Z]

22.

24.

25.

[A]

Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called :

(1) Visual images

(2) Cognition

(3) Concepts

(4) Propositions

Which of the following is the false
statement ?

(1) Learning is a process not a

product.

(2) Learning process 1is always
purposeful.

(3) Area of learning is broader.

(4) Behaviour changes through
instincts and reflex actions are

also considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural (2) System

(3) Symbolic (4) Behavioural

P.T.O.
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[A]

26.

Frefafad & & a9-a1 @fd & d@

H e b FH ©

(1) M — g7 TR - R —
REEIR]

(2) §T: R — FARFH — gRT —
REEIR]

(3) FFE — T T — T@EH —
g

(4) HARFM — gRT - G TR -
REEIR]

27, GoNNAT & QN9 U9 H9ed @ [

qRask Joad fafyr @ Afued e
fepam o ?

(1) A4 (2) T

(3) S (4) A

Peffes & @ dea @

| Ch e e B & o M B
T 78 T ?
(1) WM~ Siafeamn
(2) foremge
(3) g
(4) ST HHOM
29, ffafag & & #9 & BH-@ WX
gaanl R g@ mfa & o
et s/ R ar ® 7
(1) &9 (2) o’Yq
() T ey (4 i

Ty [y & S B & ?

(1) Sio o e
(2) faweew goe
(3) Frmve W
(4) Slo THo %hed

[8]

Which of the following is the correct

logical order of elements of memory ?

(1) Learning - Recall —
Retention — Recognition

(2) Recall -
Retention — Recognition

(3) Learning - Recall -
Recognition — Retention

Learning -

(4) Learning — Retention —
Recall — Recognition

27. Who propounded Brain storming

method for fostering and boosting
creativity ?
(1) Torrance
(3) Osborn

(2) Myres
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional energy ?

(1) Substitute responses

(2) Displacement

(3) Regression

(4) Self pity

Which of the following structure of

mind  directed according to
Hedonistic and pleasure principle ?
(1) Id (2) Ego

(3) Super Ego (4) Choleric

30. Who was the propounder of psycho-

analytical method ?
(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell
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[9]

[A]

[T - II (PART - II)
A7 (B wd 37T [LANGUAGES (HINDI & ENGLISH)]
&< (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

DA A HEEgEs  ofEd &

I B 7

(1) g @ forn, 38 39 g

(2) i B TN Hg TG T B

(3) ¥ w9 fo T, o qer
TR H&

(4) S GI9-TEEET S

32. ggfaq faim 9= g YH A
Tei~y

(1) fafyr — e
(2) @@ — oo
(3) oY — 7
(4) I/ — Bg

33. TabT T Y© @’ ARR B oG

ardf ® ¢

(1) 399 B | I a1

(2) 3E § gdl 9} | g
(3) 3TAEh AR BT

(4) TIEE T T

34. 7= & § @@ @Y g 9= dHE-A

g7

(1) g + ReX = gfafax
(2) T& + IRA = 9
(3) AR + T = AT
(4) T + FIAY = Ty
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35.

frafafag af & ded § P=-
foepea o ® 7

(1) I — diered, FUel, 99

(2) § — T, g6, Fgagal

(3) 9 — gy, =Y, FIT

(4) ¥ — g, ST, STE

36. W9 W g q FgAfa o @

T HIT
(1) 9MT = R +7
(2) areg = adh + 7

(3) Vggd = @ + 7
(4) AR = fftre + 3

37. g 4@ fffg o=t & dad § d9-a

e o7 & 7

(1) aR — w3, qiRwies, gy
(2) AT — YR, AN, FAELIR
(3) ¥ — g, FFRBR, AT
(4) "fer — ot Site, Sei

38. I B I F FFIT FH AT

(1) Tl — qe 9
(2) e — I IR
(3) U8 — g9 I

(4) TEHITER — 6T I
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[A]

39.

-l @ e | FE-ar 9w

FTGTTR ?

(1) gH — YA & FHIA arel

(2) AR — W H g g AR

(3) FgTF — A JIH H TIE

(4) EET — @S W) @Ak
EISIRCH

40. 71 ¥ 9 7T [THE TEAY ¢

(1) 9 — 37 9 FiHa wearas
GEl
(2) Feiar — qam | T AaaEs
GEl
(3) AR — wArares d= @ M
ferSreer
(4) sfemel — fQiver | i

NICEICECEl

41. 3 % e § FH-A @] E@ TE

R ?
(1) TN gaE Gb — = &l and
BT

(2) ST e T @ A —
SEEA BN GX oSt BT

(3) SR T P oA — THHAF TEW

(4) BT &GS H A6 q b —
SRSl T HHIT BIAT

[10]

42. ‘A e Gaar 3 SHd A @l

FHHar H T

(1) i b Qe

(2) G Frdbe & S 2

(3) G | fohebe @ ST Tl
(4) |fed & T fhbe e STl ol

43. 1 d 4 T famew @ gl fRamd

‘IFRHE T 7

(1) =, GEhTHT, e
(2) 3T, T, fore
(3) &I, @M, |

(4) T, IS, HresT

44. IH T G A HH-AT T gAr

7 &7
(1) 3= | T3 R 2
— foeiiesTas
(2) ¥ A H1 F&T & A
— Feygs ae
(3) & Gl ® g8 ST 9 & ST
— TWEYS q
(4) T W A9 A AT @ @I
— Hphars ared
45. ‘TG, Ah, MG U= Frgeh wHgdrE
g7
(1) &t (2) TX
(3) Hoh (4) f&B
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3Tl (ENGLISH)

[11]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(1) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym
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50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) The landlord told him that if he
wanted to smoke he would have
to go upstairs.

(3) The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.
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[A]

52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

it :

(A) You should
(B) tell to me
(C) exactly what

(D) happened there
(1) A 2) B
3) C 4) D

Select the correct preposition to fill
in the blank :

They live ........ the same roof.

(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[12]

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

51. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the queue and got promotion.

(1) replace something

(2) hopping

(3) blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/311

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others



Telegram - @TeachingExam

[13]

[A]

[T - ITI (PART - III)
9MNI 1999 (GENERAL STUDIES)

B ARG, i STEHT T4T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

fpdl Wi ®2 § MONKEY @&
XDIMNL fe@n s|, @ TIGER &
9 foren s ?
(1) SDFHS
(3) QDFHS

(2) SHFDQ
(4) UJHFS

62. I fha fMiem Jet & 9 * 3 = 36,

10 %6 =64,9 * 1 =25, a I Y
X 23 * 3 % AN FT SR 7

(1) 169 (2) 52

3) 32 4) 576

63. X 1988 ¥ 15 STTERI AR I HMA

T T, A g8 1989 # TR R wemn
T oar ?

(1) IFER (2) HIAER

(3) TEIR (4) PR

o SOX @ o 10 fFft Iwar @
Tef ¥ 6 fFdr sl # ok T @
3% YA 3 fdl @ &l T =
3l 9 g8 AU RN fg @
fepar foprdt e fhe Ram H 2 7

(1) 5t aftem (2) 5 ot S

3 7 @ (4) 7 R aiEm
U RE-RST A 9 B, T Ui #
feg #1 A, B & it IR SR E, C
% S SR & O A & aEt &R 2
B, D % 3@t X 81 HN-91 4 ThaH
g § 7 ?

(D A (2) B

3) D 4) E
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61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDFHS (2) SHFDQ

(3) QDFHS (4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64, 9 * 1 =25, then in same
pattern what is the value of 23 * 3 ?
(1) 169 (2) 52

(3) 32 (4) 576

If the Independence Day in 1988 was
celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?
(1) Monday (2) Tuesday

(3) Thursday (4) Friday

Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5km West (2) 5 km North-East
(3) 7km East (4) 7 km West

65. There are five different houses A to

E in a row. A is to the right of B and
E is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

(1) A 2) B

(3) D 4) E
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[A]
66.

qelpdl H Th Ul § e & e
{81 & R UM B wWE A
171 % 3 3 o9 W SET-9ed §
A o s ¥ 144 WM WA SR
R Uk & g feae agfer § 7

(1) 27 (2) 29
(3) 32 4) 30
0.3467 +0.1333 THM BT :
(1) 0.48 (2) 0.4801
(3) 048 4) 0.48

& ST A ST 98 T BN
127, 128, 136, 163, 227, ......
(1) 352 (2) 350

(3) 357 (4) 341

69. AT A H o ‘T, B & A

‘ger@’, C & o ‘A, D @ o
U B, A i R JW
T BI 7
IS8A12C6D2B5 =

(1) 25 (2) 27

3) 15 4) 17

e & T SRR gEen ¥ 8 gu e
H T B

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca

(3) dbbca (4) bbdac

711. BFE @ % oWiga ok aRdd &

BSItheT BT STUT BT
(1) 1:4 2) 4:1
3)1:2 4 2:1

11, 11.11, 0.11, 0.011 & HoHoYo
T BN 7
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111
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[14]

In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
right, if they interchange their
positions, Shilpa becomes 14th from
the left. How many girls are there in
arow ?

(1) 27 (2) 29

(3) 32 4) 30
0.3467 +0.1333 is equal to :
(1) 0.48 (2) 0.4801
(3) 0.48 4) 0.48

Find the next term of the number
series :

127, 128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 4) 341
If A means 'plus’, B means 'minus’,
C means 'divide by, D means
'multiply’. Then what will be
simplified value of
1I8A12C6D2BS5=?

(1) 25 (2) 27

(3) 15 4) 17

Find the missing letters in the given
letter series :

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca
(3) dbbca (4) bbdac

71. The ratio of the areas of the incircle

and circumcircle of a square will be :
(1) 1:4 2) 4:1
3) 1:2 4) 2:1

What is the HCF of 11, 11.11, 0.11,
0.0117?

(1) 0.011
3) 0.11

2) 1.1
4) 0.111
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2) 16
) 10

(1) 18
3) 12

& @A 132 HieX ug 108 Hie
ol TH-gER d foes R # o W@
g et 9w @ o 32 fHvEer
q gl W 40 ReEfAra B Rew
g § 9 TH-gE Bl IR HT A 7

(1) 880 (2) 10 Fo
(3) 12 ¥o 4) 11 Bo

A 7 955 7 FHEA B 8 g H &
wbd ¥ A, 70 98 70 HRIA H T

g fohee gUe TR ?
(1) 8 gue
(2) 560 gu&
(3) 56 g9
(4) 70 gque
el a%] ® 99 20% ¢ S 8,
AT fhEl SUHET &R 9T JUHRT
g fohae oS @ A B G 9N B
3% @9 H $E g & @ ?
2 2
(1) 16% (2) 15 %
2 1
(3) 17% (4) 16 %

Level-3/311

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

13.

[A]

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 1| 25
8 6 16
12 5 ?

(1) 18 2) 16

3) 12 ) 10

Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.
(3) 12 sec.

(2) 10 sec.
(4) 11 sec.

15. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?
(1) 8 hours

(2) 560 hours

(3) 56 hours

(4) 70 hours

The price of any item is increased by
20%. Find the reduction in the
consumption of the item by a
consumer so that there is no increase
on his expenditure :

(1) 16%% ) 15%%
3) 17%% 4) 16%%
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[A]

11.

242424242 T 99 F|T BT 7
(1) 0 2) 2
(3) 1 (4) 231/32

% 10,000 =pgls &1 & &9 | 5 a9
T M & 9 8 @ 20 9§ 9sEg
SHl Tgfs &N B W ¥ T@ 9
feperaT &1 S ?

(1) 240,000  (2) T 60,000
(3) 80,000  (4) T 1,60,000
AT BaH 91 10% a9 ¥ 39 & ) B

730 CH 10% & & &= & ik CH
gEl & gd T 990 TR &), Al §CET A
39 g3l B e § wder o ?

(1) 900 (2) % 1,000
(3) T 1,200 4) 2950
215 YU aArcll Tk dem § -l

YU S:68 S ?
(1) 12 2) 11
3) 13 (4) 14

‘SRyAr WiYe 9FET BT GRS R
ST B

(1) o & Seeh f&er am
(2) BT A STHEHT ST
(3) BRATT H&pa HbEH &N
(4) BREen B gy steHl 51

82. ffoRead & & & 2021 § ‘ggw

T A<t & 7
(1) ST 9EE Ed
(2) dr= R
(3) A R
4) g e
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[16]

71. What is the value of \/2\/27 V20242 2

(o
31

2) 2
(4) 231/32

A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :
(1) 40,000
(3) ¥ 80,000

(2) % 60,000
(4) T 1,60,000

79. A sold a watch to B at a gain of 10%

and B sold it to C at a loss of 10%. If
C paid X 990 for it, then how much
amount paid by A ?

(1) 900 (2) ¥ 1,000

(3) ¥ 1,200 (4) %2950

80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto 5:6 ?

(1) 12 2) 11

(3) 13 4) 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3) Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82. Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh
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3. T/ @ fafeq @i, Fores/fmd
A P oo T B
(i) svERd
(i) I AT B AT FA
(iii) P
(iv) R =l
7& FT H AT BT :
(1) F= (i)
(2) (i) &R (i)
(3) (i), (i) AR (iii)
@) (i), (i), (iii) 3 (iv)
fFrefofad & @ feg <& &1 ST
e GIT B 7
T
(1) gT&
(2) I=_R

SEYLIRSE]

— HaT H TETSAl

(3) AREvEl  — R @ geiedr
(4) T — AR # veIEE

85, Mg # ¥ M 99w wg
BRI Ie= AR & g g
% @ ¥ Fd 78 e ?

(1) Sii&d g% I

(2) SIReH To Ho Hiwd

(3) SIRTH THo THo i

(4) Jfeq Hog R did

‘FIOTETg 39 Y9 @A AR ©

() eREenr @ § Q@H US @
GRECICaE I

(2)%Wr&ﬁi%1ﬁﬁ§$ﬁ P IR
EEICESI] G E
FT &g

() Rl WEea  HHEl @
S gEEe # o Ted JeN

FTT 5]
A g @ e @

4) &Q
AU Bl iedlied HIH &Y
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83.

[A]

Identify the text/texts, in which the
reference of Thanesar is found :

(i) Harshcharit

(i) Travelogue of Yuvan Chang
(ii1) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (i) and (ii)

(3) (1), (i) and (iii)

4) (1), (i1), (ii1) and (iv)

84. Origin of the which of the following

rivers is not correctly matched ?

River Origin Site
(1) Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

85. Who among the following did not

serve as the Chief Justice of the
Punjab and Haryana High Court ?
(1) Justice Mukund Mudgal

(2) Justice A. K. Sikri

(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

86. 'Pran Vayu Devata Pension Scheme'

is aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical
staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.
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81.

frfoiea sREenm & Togue § 8§

e e 98 X Ted g ger ?

(1) o THo Tghaql

(2) TmIG &

(3) So TFo &l

(4) GER Tgo THo T

Recll-T8  SlElie HReR & i

g ¥ wwaifad faw asveienfies

?ﬁ@a&ﬁﬁmﬁﬁﬁaﬁﬁmw
?

(1) BIEEE — Yaad shEnfies &=

(2) WWE — AR [y &
(3) FHESel — WU Fasr &
(4) IMEX — 9E9 a9 &8+

89. ERAMM i JdT STENT o™ fhy W

A & aR | A e
H TR HA &

(1) o9

(2) gl

(3) 99

(4) T g |q9

sRaeT & Reciedl gmr < Uit
2021 Sfid T HAT T©@F ¢ -

ooooooooooo

(1) 04
(3) 08

(2) 06
4) 19

[18]

81. Who among the following Governors

of Haryana died while in the office ?
(1) B. N. Chakraborty

(2) Ranjit Singh Narula

(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

89. The

about the proposed investment region/
industrial area under Delhi-Mumbai
industrial corridor in Haryana ?

(1) Faridabad — Palwal Industrial

area
(2) Rewari — Hisar investment
region
(3) Kundli — Sonipat investment
region
(4) Manesar — Bawal investment
region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/311
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[A]

—IV (PART - IV)

Safes™ (BIOLOGY)
3T : R g7 % a7 &7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

91. TERHAM IT BN B :

(1) TR et &
(2) Wi YfeemreT 4
(3) afeT AT

(4) fedfes wfemeT @

WEEQFT

v %%@wgmﬁam%

(2) 79 F XO-TREE S
S| & BRI B

3) Gaem & W 29 @@ W
iR & fop gfamedidl 7 Rl s
U 1 AR el Ean

(4)%@@%%@%

93. UH SIS Ioaell - HU Rl wh

wﬁwﬁﬁ%

(3) e
(4) FRfn

EIRCETR IR e | -

(1) TpIicrees § (2) @y |

(3) FIR H (4) Hew |
fr=fafag ®o=t & @ G AT H
gedrelt &l gal HH MuiRg Hif ¢

(A) Bt W 9Rae|

(B) THifhd  dO0EE  (9) e @
e Rl

(C) DNA ®S & Jgaa&el dae &N
TR
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9l1.

Testosterone is produced by :
(1) Aciner cells

(2) Graffian follicles

(3) Leydig cells

(4) Hepatic cells

92. Selectincorrect statement :

(1) Heterozygous represents a pair
of contrasting traits of a character.

(2) XO-chromosomal abnormalities
in human being caused Down's
syndrome.

(3) Law of segregation is based on
the fact that alleles do not show
any blending.

(4) Hemophilia a is
recessive disease.

sex linked

93. Single pair excretory organ brown

funnels are associated with the group :
(1) Urochordata

(2) Cephalochordata

(3) Hemichordata

(4) Mammalia

Epidermal scales are present in :

(I) Scoliodon (2) Rabbit
(3) Pigeon (4) Frog
95. Determine correct sequence of

events in Southern Blotting from

following statements :

(A) Transport to a membrane.

(B) Hybridization with a labelled
probe sequence.

(C) Separation of DNA fragments by
electro-phoresis.

P.T.O.
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(D (A), (B), (O

(2) (B), (), (A)

(3) (©), (A), (B)

4) (C), (B), (A)

FEmEs § F=OF ¥ e

JeRISEE & & ?
(2) FAWRANA

(1) Qe
(3) St T (4) IRHEAREA

97. Y-ISIVE P & ded A = A §

HH-a1/H-8 F9 g& 2/2 7

(A) FETHS — D — BhivEd
(B) Ueloies —  Hiaeig®
IBISIEE)

(C) feaiva= g
HIATDHE

g famq /2 -

(1) (A) & (B) &

(2) ad (B)

(3) &ad (C)

@) (A), (B) ¥R (C)

“RTEE SRl T ©

(1) TYIEE H  (2) FHILE H
(3) ®EULE H  (4) f&uee @

%

- -

99. Hffag & § -1 I el H

JecHIE® I 78 © !
(1) qefamm (2) HicaaH
(3) FREE (4) TR

el ERE 9 g TEE
W%uwwma?

(1) Sfo TRFI M
(2) T W faeE
(3) = e
(4) MY e
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Correct sequence is :
(1) (A), B), (C)
(2) (B), (C), (A)
(3) (O), (A), (B)
) (©), (B), (A)

96. Which one of the following is not a

photoreceptor in vertebrate ?
(1) Cyanopsin (2) Chlorocruorin

(3) Idopsin (4) Porphyropsin

97. Which of the following is/are correct

sequences in reference to geological
period ?
(A) Triassic — Jurassic — Cretaceus

(B) Paleozoic — Mesozoic —
Cenozoic

(C) Devonian —  Silurian —
Carboniferous

Correct options is/are :
(1) Both (A) and (B)
(2) Only (B)

(3) Only (C)

(4) (A), (B) and (C)

98. Bouquet stage is character of :

(1) Leptotene
(3) Pachytene

(2) Zygotene
(4) Diplotene

99. Which of the following element is

not a macro element in plants ?
(1) Potassium  (2) Calcium
(3) Magnesium (4) Sulphur
The recipient of first Amrita Devi

Bishnoi National Award for Wildlife
Conservation was :

(1) Dr. Ragini Shah
(2) Ganga Ram Bishnoi
(3) Rajendra Singh
(4) Gauri Maulekhi
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fr=ifofeg & § -1 JoeRig TRy
% e sRBRE STgee § 7

(1) C; o (2) C,Th
(3) C, Tk (4) CAM b
e uk faaae wa q

ANfYs 9 & edfiFpd e s,
I9H 99 fa¥g :

(1) T

(2) FH BN

(3) L & S

(4) AT @M

T WS T A b g H
Sufkerd o1 ?

(1) -1 TRt

(2) AT T g4

(3) S8 W

(4) TG

PAR &I & ®

(1) 200 nm - 800 nm
(2) 400 nm - 700 nm
(3) 400 um - 700 um
(4) 200 um - 800 wm

Frffad & @ e qw O orde
o e W SeRi R E 7

(1) 2Nl (2) gEgE
(3) MEA qeX  (4) TaT
Y

(1) ¥ IR e

(2) g fafesd dFf SuRed =il §
(3) T Frarfed RRT STuRe kil &
(4) TH TG dF R S 8

ggﬁrwwmﬁﬁaﬁﬁmmwm

(1) FrefFE (2) anfmw
(3) HEARE (4) Seneirad
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101.
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]

[A]
Which of the following is a
physiological adaptation of desert
plants ?

(1) C5Cycle
(3) G, Cycle

If a solution is subjected to a
pressure greater than atmospheric
pressure, its water potential :

(1) Increases

(2) Decreases

(3) Becomes zero

(4) Remains unaffected

(2) C4Cycle
(4) CAM Cycle

What was present in the milk of first
transgenic cow 'Rosie' ?

(1) Alpha-1-Antitrypsin

(2) Human alpha lactalbumin

(3) Bt protein

(4) Insulin

PAR range is :

(1) 200 nm - 800 nm
(2) 400 nm - 700 nm
(3) 400 um - 700 wm
(4) 200 um - 800 wm

In which of the following, flowers
exhibit both radial and bilateral
symmetry ?

(1) Hollyhock (2) Sunflower

(3) Garden Pea (4) Marigold

In Petromyzon :

(1) Liver is tetralobed

(2) Renal portal system is present
(3) Hepatic portal vein is absent
(4) A Lymphatic system is present

Orientation based
called :
(1) Mnemotaxis (2) Menotaxis

(3) Kinesis (4) Telotaxis
P.T.O.
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(1) YSifew™ arar
(2) Heravaar drar
(3) BRI ARAT
(4) TR AR

R F=BY % < § F& BT g

(1) I HAERRA H T TAd o

(2) ST FETEH HH BT Bl ©
qo AIRIS & Fie Bk sl
(3) HsTeq §5 & TNM B ©
glrﬁ B AP H THM ST B
l

4) R & fee o A (FA 81
T ar) B B

Fret & & Si9-a1 agi fadife T
T T & ?

(1) M (2) 9|

(3) UE =X (4) Ftedl gy

TS B -

(1) EHMEE  (2) TEHNS

(3) Uffafeiie  (4) SEADBUZS

Bl B o1 B -

(1) SRR FHT IYHFT HET
(2) a1 1 STHART BT
(3) T H ITAN HET
(4) 919 FH START FHCA

frfafad & & @9-T1 RNA THFC:
S fIeeiaeT 8¢ JgaR ol ©

(1) 16 STRNA (2) 5 SrRNA
(3) 28 STRNA (4) hn RNA

gffeeae Melhid TS 8 -

(1) ardERene qRadd & 999 9

(2) 9qq fqeE 9

(3) Sig-fafqear @ @

(4) NN TG & & FA A GG o
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110.
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ot
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Infective stage of Hook worm is :
(1) Rhabditiform larva

(2) Metacercaria larva

(3) Cercaria larva

(4) Filariform larva

Select frue statement about male

mosquitoes :

(1) They are blood suckers of
vertebrates.

(2) Their hypopharynx is less
developed and fused with
labium.

(3) Mandibles are needle like and
are serrated broad saw shaped.

(4) Antennae of male are pilose
(with few short hair).

Which one of the following is not
form multimale bisexual group ?

(1) Gorilla (2) Rhesus

(3) Patas monkey(4) Squirrel monkey

Fertilizin is :
(1) Glycoprotein (2) Glycolipid
(3) Polylipid (4) Disaccharide

Coprophagy means :

(1) Consumption of blood
(2) Consumption of faeces
(3) Consumption of stems
(4) Consumption of grass

Which of the following RNA is
commonly used for phylogenetic
analysis ?

(1) 16 STRNA (2) 5 SrRNA

(3) 28 STRNA (4) hn RNA

Montreal Protocol is concerned with :
(1) Mitigation of climate change

(2) Sustainable development

(3) Biodiversity conservation

(4) Substances that deplete ozone layer
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(1) IRNAT  (2) (RNA T
(3) mMRNA T (4) T $RE T
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(4) e
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115.

et
[t

[A]

Shine-Dalgarno sequence is present
on:

(1) rRNA
(3) mRNA

(2) tRNA
(4) Initiation factor
Select the incorrect statement in

reference to the Binomial
nomenclature :

(1) Each organism belonging to a
genus has a specific name.

(2) Same
given to organisms belonging to

specific name can be

different genera.

(3) Linnaeus used Latin for
Binomial nomenclature as it was

a dead language.

(4) Tautonyms are allowed in plants
and animals.

The correct sequence of the three
major stages of Calvin cycle from
beginning is :

(1) Regeneration, Reduction,
Carboxylation

(2) Reduction, Carboxylation,
Regeneration

(3) Carboxylation, Reduction,
Regeneration

(4) Carboxylation, Regeneration,
Reduction

Which of the following plant group is
known as the 'vascular cryptogams' ?

(1) Algae

(2) Bryophytes
(3) Pteridophytes
(4) Gymnosperms
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SHfaa iR &1 I & ?

(1) T&TX HIAH
(2) gOTaY HIREBT
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(4) eI

frfafaa & @ werey fify @ dF-a
WA & RN ST e &
PR TgHEDHE Bl & 7

(1) SUssE (2) FediteEm
(3) 75 U (4) <feq
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IRAET & AR a9 ©

(1) TAfTET, AiEH TG SHsqel
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(3) STATNET, FHIENSHT T

(4) TAfTET, i, T et

Pt & | BIF-|1 s ol IUIEd
% TS (Ao 1 RO § 7

(1) B9 T

(2) TS & AT

(3) AU-FEF REm
@) YparsaE faem

He® & HEFIl § ®
R = § § PN-ar oemgn fafare

Tiafafy & &9 & o g ?

(1) HaAftET

(2) TS Bihes

(3) Mg++ GfpT TENITS (ATPase)

(4) EEgERITS

Level-3/311

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[24]

119.
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Which of the following is an
example of a living plant cell, devoid
of nucleus ?

(1) Companion cell

(2) Endosperm cell

(3) Sieve cell

(4) Sclereids

The cells of which of the following
of
multinucleated due to endomitosis ?

(1) Nucellus (2) Endothecium
(3) Middle layer (4) Tapetum

layers the anther wall are

Trochophore larva appears in the
development of following animal

groups :

(1) Annelida, Mollusca and
Echinodermata

(2) Arthropoda,  Annelida  and
Echinodermata

(3) Arthropoda, Echinodermata and
Coelenterata

(4) Annelida, Mollusca and Bryozoa

Which one of the following is result of
inborn  error of nucleic acid
metabolism ?

(1) Hartnup disease

(2) Fabry's disease

(3) Lesch-Nyhan syndrome

(4) McArdles syndrome

Which of the following enzyme
declines in specific activity during tail
regression of frog metamorphosis ?
(1) Cathepsins

(2) Acid phosphatase

(3) Mg++ activated ATPase

(4) Ribonucleases
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frnfes 1 deamer 2 ©

(1) Beifm & (2) e @

(3) MREFT |/ (4) FEERgE |

Level-3/311

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[25]

124.

125.

=
[=}]

1217.

128.

[A]
Which of following belongs to non-
extinct infraclass of mammalia ?
(1) Eotheria
(2) Allotheria
(3) Ornithodelphia
(4) Pantotheria

Which set of plants bear cones ?

(1) Pinus and Riccia

(2) Equisetum and Marchantia
(3) Cycas and Pinus

(4) Salvinia and Funaria

Metanephros kidney formed from the :

(1) Anterior end of pleuroperitoneal
cavity

(2) Middle part
coelom

of intermediate

(3) Posterior end of the nephrogenic
mesoderm.

of

(4) Anterior part intermediate

coelom

Hemerythrin :

(I) It is a molecule which use
copper atom to bind oxygen.

(2) There is no haem in this and Iron
atom are bound directly to the
protein.

(3) Itis present in Arthropods.

(4) It is green when oxygenated and
pink when deoxygenated.

Niacin is synthesized from :
(1) Threonine  (2) Tryptophane
(3) Methionine (4) Isoleucine

P.T.O.
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Calcium carbide powder which is
used for artificial ripening of fruits,
produces :

(1) Jasmonic acid

(2) Gibberellins

(3) Ethylene

(4) Acetylene

The curd formed by the action of
lactic acid bacteria on milk, is rich in :
(1) Vitamin C  (2) Vitamin A

(3) Vitamin By, (4) Vitamin D

The muramic acid is present in the
cell wall of :

(1) Mycoplasma

(2) Blue green algae

(3) Moulds

(4) Lichens

Select the incorrect statement in

reference to Krebs cycle :

(1) The cycle starts with
condensation of acetyl group
with pyruvic acid to yield citric
acid.

(2) A molecule of GTP is
synthesised during conversion of
succinyl CoA to succinic acid.

(3) At one point in the cycle, FAD"
is reduced to FADH,.

(4) NAD" is reduced to NADH + H*
at three points in the cycle.

Which one of the following is not a
measure for soil conservation, in
modern times ?

(1) Terracing

(2) Windbreaks

(3) Jhum cultivation

(4) Crop rotation
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134.

ol

ot

[A]
An example of alien weed species in
India is :
(1) Carrot grass
(2) Prosopis cinereria
(3) Melia azadirach
(4) Acacia nilotica

3GTPyPuACS5 5SCAPuPyT
G3

is the restriction site of which

enzyme ?
(1) Bam HI (2) EcoRI
(3) Hind I (4) Hind III

Ecology equivalents is best defined

by :

(1) Organisms that occupy the same
or similar ecological niche in
different geographical region.

(2) It is the population of
individuals of only one species.

(3) It is the ultimate distributional
unit within which each species is
held by its structural and
instinctive limitations.

(4) It 1s concerned with the trophic
position of an organism.

Match the following :
A. Tight junction i. Macula adherence
B. Belt desmosomes  ii. Zonula occludens
C. Spot desmosomes iii. Macula communicans
D. Gap junction iv. Zonula adherens
Correct option is :

A B C D

i i i v
@i iv i i
@) ii i iv i
@i i i iv
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Which tissue is not a result of
re-differentiation ?

(1) Cork

(2) Phellogen

(3) Secondary cortex

(4) Secondary xylem

Which of the following is not a
microbody ?

(1) Peroxisome (2) Glyoxisome
(3) Sphaerosome (4) Centrosome

Branchiostoma has :
(A) Exoskeleton

(B) Gonoduct

(C) Heart

(D) Colorless blood
Correct option is/are :
(1) Only (A)

(2) Only (A) and (B)
(3) Only (C) and (D)
(4) Only (D)

First Human
discovered by :
(1) Rono Konopka
(2) Seymour

(3) Ying-Hui-fu
(4) Hee Supshia

In Crustacean's moulting meaning of

"Anecdysic cycle" is :

(1) Intermoult is short and premoult
is long.

(2) Intermoult is long and premoult
is short.

(3) Intermoult and premoult are of
same duration.

(4) Formation of new exoskeleton is
incomplete and needed ecdysone
hormone for completion of
exoskeleton.

clock gene was
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(3) FId (EEEH | SuRYT TeH

(4) TIEHT FaSSH

Level-3/311

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[29]

[A]

143. Consider the following statements,

el

ot

ot

select correct ones :

(A) Larynx is associated with
breathing movements.

(B) Trachea is lined with ciliated
squamous epithelium.

(C) Croup is
reproductive tract.

a disease of the

(D) Lung pinprick condition is an
immunological disease.

The correct statements are :

(1) All

(2) (A), (B) and (C)

(3) (B), (C) and (D)

(4) (A) and (D)

The number of categories of

ecosystem services as defined in
MEA 2005 is :

(1) Three
(3) Five

(2) Four

(4) Six

Genetically different type of pollen

grains are brought to the stigma

during :

(1) Chasmogamy

(2) Geitonogamy

(3) Xenogamy

(4) Cleistogamy

Ribozymes are :

(1) Proteinaceous biocatalyst

(2) Allosteric enzymes

(3) Enzymes
ribosomes

present only in
(4) Non-proteinaceous biocatalyst

P.T.O.
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mRNA & Hifeq FAl &, A FrrRad
7 4 - Jud 36k oTged
“TEEE RNA” &1 @vg &rft ?

(1) 5 AUGUUUAGCGCC 3'

(2) 5 CCGCGAUUUGUA 3'

(3) 5' UACAAAUCGCGG 3'

(4) 5' GGCGCUAAACAU 3'
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Select correct statement :

(1) Predators maintain the diversity
1n a community.

(2) Limited resource supply leads to
unlimited growth of population.

(3) All plants show seed dormancy.

(4) The species that invade a bare
area is called climax.

Suppose a gene contain the
following double stranded sequence :
5'- ATGTTTAGCGCC 3'

3'- TACAAATCGCGG 5'

If the top strand is the "sense strand"
and codes for a mRNA, which of the
following would be the sequence of
the corresponding segment of
"antisense RNA" ?

(1) 5 AUGUUUAGCGCC 3'

(2) 5' CCGCGAUUUGUA 3'

(3) 5 UACAAAUCGCGG 3

(4) 5' GGCGCUAAACAU 3

Consider the following statements

and select the incorrect one in

reference to the genetic code :

(1) There are 64 codons.

(2) The codon AUG has
functions.

(3) Three codons do not code for
any amino acid.

(4) Each amino acid is coded by a
separate codon.

dual

The ultimate source of energy for a
detritus food chain is :

(1) Green plants (2) Dead wood
(3) Sun (4) Soil
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AN - I (PART -1I)

[3]

[A]

99 9% 9 fRMS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

Th TR & s qe, PeH e
& HISAE WY HA: Soal & qdT g9
I AT BT & ¢

[1] smisseh aderT
[2] siferd adierer
[3] i e
[4] FoaRs aderer

e NG e B N e | I E G
faf¥r= draen &R a feemia & Bie
e, Al fawE & A ' w
e M % e falRm mer @
diem @ idfafeEt @ ST HXd 8
[1] Tg-Headl e

[2] & fveror

[3] ®WewRl Al

[4] SRR A

BR & A aee, e
Mhee & e UMY O G B 7

[1] SfieTer SUFH

[2] UhIT SUFH

(3] 9 HgrT U
[4] ANTGLAYCT SURH

Level-3/911
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1.

[

1od

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test

[4] Performance Test

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning

[2] Team teaching

[3] Co-operative learning

[4] Programmed learning

classification of
to which
approach of personality assessment ?

Spranger's

personality is related

[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach

P.T.O.
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[A]

4.

|

|®

frefofag & @ a9-a1 fEniRiEr &
IR NS WA B T 787 8 7

[1] I g § &
[2] Sfles § HeH
[3] AT el T HIEAT H S

[4] Sraifee Rt € g

‘S T AR IR AT 9 sk
fEm & oremd & B, O 98 1O
Y YN Bl WIE T Ybe &Y ol &I’
7€ fH TH &l TSR I & Th
ST & 7

[1] &\

[2] Sicr™=

[3] g&qer

[4] fereemes

e & e Gem R @
APER, ‘GEHHh G H B
T 306, S 66 G HaeR
3 fraraas § Aeg G ), Feaml
?

[1] Tes1 gfrt

[2] 7 sigfer

[3] BT

[4] GT&or

Level-3/911
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[4]

4.

g

|®

Which of the following is not a
symptom of good mental health of

students ?
[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and

limitations

[4] Free from undesirable worries

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which

type of defence mechanism ?
[1] Repression

[2] Regression

[3] Projection

[4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive

behaviour', is termed as :
[1] Reflexes

[2] Basic Instincts

[3] Schema

[4] Conservation



Telegram - @TeachingExam

[5] [AE]
1. “HHS & & AL A o G b 7. "Emotional Intelligence may be
I T A B AN P T H defined as the capacity to reason with
o fear ST @t § — " @l emotion in four areas — to perceive
%@ﬁ, 3'@( far o Qzﬁ?Ed W, ?{{}[ emotion, to integrate it in thought, to
TP olR 38 wef| & understand it and to manage it."
AT ﬂ@ g8 R fhee & Who gave this definition of
g ? emotional intelligence ?
[1] SFEa THs [1] Daniel Goleman
[2] ¥R T4 deX |ad [2] Mayer and Peter Salovey
[3] dleX UG AEed [3] Peter and Michael
[4] BITaET [4] Halverson
8. Fffad & & E-wi ARG Ao 8. Which one of the following is not a
P TP T [ e ? direct method for measurement of
attitude ?
[1] A& [1] Interview
[2] w&qoT [2] Projection
[3] gsas [3] Questionnaire
[4] STaqe [4] Observation
9. TH Eh% H U b U @RI ST Heha 9. 'A horse can be brought near water,
g, fog U & o s W fpem S but cannot be forced to drink." This
qadll’ I8 YA ‘ﬁﬁ@%‘cﬁ ® 9ed & statement reveals the truth of
fpe oM %I T T YT © 7 Thorndike's which law of learning ?
[1] e & M [1] Law of Readiness
[2] =9 &1 [2] Law of Exercise
[3] 9 1 frH [3] Law of Effect
[4] sEdfcishar & fEm [4] Law of Multi Responses
10. ffafed § @ d9-a1 R & ') 10. Which of the following is not a level
TETE 7 of teaching ?
[1] STEMT &} [1] Basic Level
[2] ‘Eﬂﬁf Y [2] Memory Level
[3] STaay &R [3] Understanding Level
[4] RidT &R [4] Reflective Level
Level-3/917 P.T.O.
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[A]

11.

frefofeg & 9 #9-a1 SFBER B
qiRfefoe a5 Risia & 9FT 788 ?

[1] wgshl e
[2] %Br Rreed
[3] AR feew
[4] 74 Rreed
SERRCI L I i
T el TJeT o !

T FSREI
[1] g S LEIN]
[2] SR ~ U
[3] sme=d S SR
[4] 9T - A

(RO WS 11 S e T M |
HI-H TR Faiieen IUgH 8 ¢

[1] ST W) ==

[2] FESTs qedi W Hee SieEi
[3] EHfeeh el 1 AR

[4] @fSTh Heegi T gre

ARl & AEEh TEghd e &

AR, ‘AN H AR [
U I aTHal & ?

[1] ek
[2] QISR
[3] Mfs®

[4] HaTH®

Level-3/911
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[6]

11.

Which one of the following is not a
part of Bronfenbrenner's Ecological

System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference

to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape

Which way is the most appropriate

for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

Need

Hierarchical theory, 'Esteem Needs'

According to  Maslow's

are which type of need ?
[1] Personal

[2] Social

[3] Intellectual

[4] Emotional
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15. FHefad § § -1 & 9

Ngal B YORTHEAT qOEeT § gefad
7 T 7
[1] STETEReT IYANT deiel

[2] g™ &% A O GGl q gefed
Eoei

[3] IE YR G FE

[4] T8I T STAM el deef Hri

frefofeg & @ ®F-T1 Fu99 Jgas
fafrTarel & ded & 9 7& e ?

[1] % & & =fF gl &= T2
&l Hehdll

[2] i fafran STre-oTer &=t
q G & Tt g

[3] Jafe faftrae faem & fafm
ST &l gifad HYr 2

[4] s e Faw
HFARIBAT & HROT A Bl |

Aok AAIT A & B
% BT He I o 7

[1] Sffqare
2] gead

[3] AT
[4] el

Level-3/911
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[Z]

15.

[A]

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

improvement related

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1]

No two persons can be exactly

alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport

[2] Woodworth

[3] McDougall

[4] Eysenck
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[A]

18. TN dHiswt & FEAREd g d 8

BIF-T1 Gl I H B Fer e 7

[1] g iR fore

(2] SerT ST qeeT

[3] G AR T

[4] Sier R e

P Rfsia & ofgar, e |
q B9 Y& H T TER TeT S ¢

[1] fagyomee

[2] §oT-IcHD

[3] dsifas

[4] GRS

Fleae & HEAHaR, 98 FH &)
1 At B, 99 Afvear § @-wiegd
Ao fosia affaa & o § 7

[1] yE-&ieT

[2] e

[3] STR-Thew
[4] T @ B T

21. Hfefad § @ fF-9 fearmaen &

T G g 787 R ?

[1] T5 HiEBIoT &l ofaee B

[2] T STEaRdiabrsll Bl ST 3
[3] T& TEOH @ IS F T o
[4] 78 A RH P &S 2l

Level-3/911
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[8]

18. Which of the following pairs of

19.  According

21.

communication skills is correct for

receiving the information ?
[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,

which of the following is not a type
of intelligence ?

[1] Analytical
[2] Creative
[3] Theoretical
[4] Practical

According to Kohlberg's theory,

what level of morality is it, when

morality  includes  self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional

[4] None of these

Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.
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22.

Al ABAT B TR ey
weer fees & faeta e
™7

[1] M & 9F =

[2] &

3] emgelss

[4] e wd e

23. 99 % MiEd @ ¥ yfaseae &

& 8 AR ® JHEAH SeH
for Smar 2, @ T8 fRE v @
g STEEA © 7

[1] i orgur

PR EERERISRERRIG

[3] MidEd sfaua

[4] uREaHelid Sfaaa

et &+ faem  Rsagar,
fepaMrareen & -

[1] e areataes & e
[2] TEE B AfceRar i T
[3] R Afcresr & srew
[4] @ Afar @i oTae

25. MHeRad § @ SF-91 dE ST

P THREH & G THIGT Bl & 7
[1] PN fawresyg
[2] GRYEAT i A
[3] SARRET & HH

[4] GerTes Hiagfe

Level-3/911
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[91]

22.

25.

[A]

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback
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[A]

26. R U@ U BF TEU I GEE

FAT 51 T8 T SaRT ©
[1] ofiaRe SIREReT %
[2] ST&I AR &

[3] STHSTIT SARERET &
[4] 39 q %13 T

21. Uh 15 a9 & dh Hl gfE el

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110

% e & s § oy ot @

SERICC Y B CCot: I M |
Frefofad § & @iF-a1 w6 787 w41 7

[1] Aferear P M
[2] 9 & G BT

[3] Hfcfsrar &l wcsa
[4] FTErl RidT 1 aiEr

29. Fe o ‘= @ R & AT & g,

FE ©

[1] fdfleres @iea

[2] SifraAfsed

[3] &b

[4] g

T @ 9 5 TR @ AR © 7

[2] et
[4] @IS

[1] s=a
[3] ST

[10]

27. What

Rohit helps others to get praise. This

is an example of :

[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

be the
quotient of a 15 year old boy, when

will intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality

[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking
Development which proceeds from
'centre to the periphery', is known as :
[1] Cephalic Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/911
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[11]

[A]

[T - II (PART - II)
A1 (< g 37T [LANGUAGES (HINDI & ENGLISH)]
& (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31. WEEEl @ 3 ¥ orgrg e

g
[1] T - oo, d9me<,
"o
2] ™ - dq9, HEM, FEH
[3] TR - e, aREEI,
agfe
[4] @@ - ¥R, 3R, MY

32. 59 fasew ¥ Fotares 9d9M &1 SR

g 7

[1] &5 SO M &d HI =1ieT
[2] A dfT gERY, Skt @ QR

[3] &9 8 &1 FB Tl e bl
[4] ST U, S B A

33. ‘Y=l gU-9 Il B aEd |

fohe U & FRE-fasiver @1 JERT gam
g 7

[1] IaTeh
[2] Jfcares
[3] GRHATTETES

[4] TS

Level-3/911
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34.

qugd s =l & oo e &
Ifte & §97 faseq R ¢

[1] €& - 38 dfed; T8 - 4™
(2] g3 - T AT - A
[3] el - Th; Gl - oy
[4] @S - &Y; Sao1 -

5. O [ @d d@ R aw A

TR ‘AT I diE-6 6§ &
JETEI B 7

[1] YeEares qs1

[2] Sicrarres sl

[3] WEaES HEll

[4] HieTareeh He

36. FTH | BHI-G1 A FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaan 2

[3] 98 Ufa § ST IAR @ 2
[4] s # IO Aver ) T B

37. 9 9= ¥ % ¥ oY SUTN @

ST e & 7
[1] A& [2] ST=duoT
[3] g™ [4] =fey
P.T.O
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[A] [12]
38. U &l gie § oG faehed T ¢ 42. 4 9 9 9= H ‘AE TT wW
(1] T - i AT 787 gl § ?
2] WA - e [1] TRiEe [2] &eTEe
3@ - B [3] §TEe [4] &
[4] ¥HS - g 43. I=NT # 3 § @ IO B IR
T 8
39. fb® foebeq o foert e 1 wET gen
37 [1] siss
[1] gfefex (21 5
2] T 31 g
3] TR [4] &
[4] FeeR 44. vy 9= § Ff A B
40. EHY H AUILHH B g q ‘HBT [1] Trriees
g 39 | 9 9= & T e ? 2] v
[1] 9 3] v
121 [4] 9
[3] W E
[4] =ffeb 45. ‘TEH-IEHE B T F SFHIT [T
a1 P o g & o P SR - I
[1] SUhr - T 1) e -
Rl - hEE 21Ty -
[3] @ - g (3] 9T - T
[4] &l - SR [4] 766 - HREN

Level-3/911
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[13] [A]
31l (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (iv), (ii1), (i1)
overlooked. [2] (1), (iv), (1), (ii1)
[4] Although he is not cute, but he [3] (iii), (iv), (ii), (i)
cannot be overlooked. [4] (iv), (i), (1), (iii)
41. Change the narration : o ]
Kavin said to Mr. Cowper, "Please, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... :
be kind to him.
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be
please kind to me. [3] has been raining
[4] Kavin asked Mr. Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that

form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/911
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is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



Telegram - @TeachingExam

[A]

53.

Choose the part of the sentence that
1s grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.

[1] have [2] has

[3] had [4] did

55. Fill in the blank with correct 'Modal

Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)
[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[14]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking
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[15]

[A]

91T - III (PART - III)
MY 1999 (GENERAL STUDIES)
TR ARG, i SINEHAT o 9T &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : e 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

qed & g9 X J Y I B -

TR W TE Ys 2l A Y H WeR
XMW@, @Y & Ye
g Remd & ?

[1] SdY
[2] afror

3] @@
[4] UiS=™

62. TH -E, fhel Mivem g0 & 9w &l

fasm # 3 €¢ #, Safh o 4.5 €¢ H
T FA B AR AW @ oA 3 R
gl der B, @ VG 9@ ¥ G @l
e B -

[1] 10 febHt et ger
[2] 12 feHt ufey et
[3] 13 febHt uier ger
[4] 15 TebHt et ger

10.5 @1 Boar & b Grg
fUamey, 3.5 §° Beer qur 3 &
SR A FE B gHe § e R
ST Bl T&IER, 36 SHR a1 0 B
g fer et ?
[1] 112

[3] 132

2] 126
[4] 138

Level-3/911
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61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East
[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138
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[A]

64. IR FHIF gRT Ak =hgles =T &

HYR W 3 a9 H whYE AN
Gﬁwsgwam,ﬁwaﬁ
i & ©

[11 1624

1
2] 33-%
(2] 337

[3] 33%
[4] 50%

1865 @RI | |, 660 SIS s T
g A 1305 fft 99 & ©, W
120 & I & & B o 9w T
ST a8, O e AT QT AT
I T & 7

[1] 220
[2] 440
[3] 120
[4] 1085

66. TEA B HEd F 20% B FH & TN

W & AEH 800 &9 § 12.5 TR
5| M| R R S o B | 5
g B S e feeel B

[1] 12 59
[2] 14 59
[3] 1589
[4] 16 B9
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64.

If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

1] 16%%

1
2] 33-%
(2] 333

[3] 33%

[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons

can speak both languages ?
[1] 220
[2] 440
[3] 120
[4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12
[2] Rs. 14
[3] Rs. 15

[4] Rs. 16
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61.

frae & Uh AqMed H o faeT,
AR B 12 A JT AEA H S
T 81 AR IEH UGS 36 &, A AT
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

kB e ORS L e  | [< L

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl d@m @ 5, 9, 13 4 fowka

HE U HIM: 2, 6 TA 10 AT T
T UE 999 Bid e ®

[1] 602 [2] 592

[3] 572 [4] 582

Uh FiREd g 9o § "PARTICLE"
& "USBQFMDJ" @1 "GENERATE"
% "FOFHFUBS" forar Sirm &, o g4
M H2 9 H, "DOCUMENT" &
foran s -

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

Level-3/911
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[A]

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,

then the dividend is :
[1] 2726 [2] 2736
[3] 2796 [4] 2826

Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10

respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" 1S written  as
"USBQFMDJ" and "GENERATE"
18 written as "FOFHFUBS", then in
same code language "DOCUMENT"

will be written as :
[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF
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[A]

11.

12. 7}

AN T P, Q @M R &1 U 0% 5 He
¥ W &1 9@ R, Q & g M @
T Q, P ¥ I M & @ 8, A
A A P BN % B A H A
g T ?

[1] 226 [2] 25 €&

[3] 3082 [4] 3542
ngj adqr y:%, @

(x2+y2) H HE B

[1] 14 [2] 12

[3] 13 [4] 16

dsfeat @t e uRe H, A St iR A
103 T WX q1 B &t X ¥ 149
N W g, A% J oo Rufedr wweR
Se odl 8, a1 A IFf ok {249
WM W & e 2, ute § asfeat @i
Her fpat ' °
[1] 31

[3] 37

[2] 33
[4] 39

74. Th GHER TF & B 15% 9 |

JoAl B, TR 364 39 18 B9 31
4 =1 B, @ I§H aH 18% &
Sl 39 a&] 1 %9 9 (B0 H) ® ¢
[1] 360
[2] 540
[3] 600
[4] 640
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11.

A tank is filled in 5 hours by three
pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P

alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs
[3] 30 hrs [4] 35 hrs
1a. Jf xzﬁ and y:E, then the
J3-1 \/§+1
value of (x> +y?) is :
[1] 14 [2] 12
[3] 13 [4] 16

In a row of girls, A is 10th from the
left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How

many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640
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15.

Th HE P SEE@ 9000 B, AT gEui
P TEE e W 5% AR wiewnst
H e W 8% & Td TH a§ H
SEE 9600 B, 1 Y& i e
g

[1] 3000
[2] 4000
[3] 5000
[4] 5600

D,CTNE @ @1 &, A, E q a1
T e R, C, Ad T, D, B A
ARE TN TG B, A TH W DA
qI9 T 8 7

[1] A
2] B
3] C

[4] D

11. TF TSH & BEA® H AKX G

XA BT X ¥ &el fh ‘a8 A e S
% B G H dsH o7, W ASH!
X ¥ g yer d@dg B ?

[1] R
[2] 1§
[3] S8

[4] FraT
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15.

[A]

The population of a town i1s 9000. If

the males increase by 5% and

females by 8%, the population would
be 9600 in a year. The number of

males is :
[1] 3000
[2] 4000
[3] 5000
[4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among

them ?
[1] A
2] B
3] C

[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the

girl related to X ?
[1] Father

[2] Brother

[3] Sister

[4] Mother
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[A]

18, T A &N A YT o & qRem

P SR S W & T IAX A IRT B
IR & T @, Ao IubT ol fha
fesm & S 7

[1] So-To

[2] So-Yo

3] To-Yo

[4] To-To

=1 e Aoft 1 o UE R

3,13,22,32,59, 69, 120, 130, ?

[1] 201

[2] 211

[3] 227

[4] 232

9 s A H AT 1 %, I I

A ST @Sl d P HT R
ST, @ S Ed e 8 SR ?

[1] @& §H= T
[2] 1% gig &Rl
[3] 1.5 @I gfa Brit
[4] 2 @ g =Brlt
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78. A steam engine train runs from east to

west and wind is blowing from north to
south, then the smoke from the train

would blow in which direction ?
[1] N-W

[2] N-E

[3] S-E

[4] S-W

79. The next term of the following

number series is :

3,13,22,32,59, 69, 120, 130, ?
[1] 201
[2] 211
[3] 227

[4] 232

The average of nine consecutive

numbers i1s n. If the next two

numbers are also included, the new

average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5

[4] increase by 2
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8l1.

BRATT & T W ® AR

TR 9 & ded TIaX W & &9

T arfergfer fear T E ?

[1] YR TSE & X fHeEm
FeIg ARG

2] TR TEE I AR g™
Felg ARG

[3] X g9oild TR &R &R
REPRTE aeiid STHad

[4] SgMEX  FEE  AWARYG AR

G- g=aoild TRy

82. ifhd FeMi W fa=aR R :

() eRAmm § omgE Hen o @l
AT a9 2002 F & T8 o

(i) =Y W O eRAen U &
EENERIEIRES D

[1] ®= (i) ¥el 2
[2] ®ad (i) & B
[3] () wd (i) ST & 2
[4] (1) T (i) T T L

83. BRAM & fFE X B TS o6 ax

BT % ®q § ST AT B 7
[1] ToIH [2] AT
[3] 9aa [4] Prarit

Level-3/911

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others

[21]

8l.

[A]

Which places of Haryana have been

notified as Ramsar site under

Ramsar convention of UNESCO ?

Park &
Bhindawas Wildlife Sanctuary

[1] Sultanpur National

[2] Kalesar Park &
Khaparwas Wildlife Sanctuary

National

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram [2] Sonipat
[3] Panipat [4] Bhiwani

P.T.O.
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[A]

84. M ¥ FHMEGd ©Rel H 9

86.

fre g @i ®Re @ g urd
g7

(i) G TG F THIA
(ii) S¥1 AR dras

(iii) HrRAr AT B
@& HE F T HIT
[1] (i) &R i)

[2] (i) R (iii)

[3] () A (iii)

[4] (i), (i) & (i)

85. BRAMM & ofEfes &1 # SfaRyd

giaerett &1 fahE w @ g e A
q B-d der FRRR B 7

[1] BRgH

[2] &1

[3] CHUEARAEEE!
[4] Rt S &=

Freiffed & & &9 sfamn &
oI & ERT ga 787 Bl © ¢

[1] sREmT &% Fegus
[2] GoT9 TG ERAOT I <A &l
T

[3] eRAOT @ FAT SN @
e

[4] R AFEEHR SRR H 95
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(1) Sheikh Tayyab's Tomb

(i1) Shobha Sagar Pond

(111) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the
Haryana ?

Governor of

[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission
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81.

e | T B | S [ A 2 | = A
I T AABIE o7 ?

[1] g GoT i
[2] STogE ol BTl
[3] &fveh AT Hed
[4] 919 YREE

IR 9899 99 AT % AR A

frfafaa el @ afeT ¢

(i) I8 AT IRER B & THE @
w0 4 RBfeTd &l B R T
BRATT & GHE URERl B Th
fasaeg  de-oni®  Sered
TR K @ 2

(i) 9% URAR H TH S bl Hl
fa@eer gRaR YA Sfafved @i
S W ? R weEM (ID) &
S, g U4 qaied Relgd d
ST S

(iii) AR JeaM Se@d ¥ Su@e ST
ST AT B AT st
4 @ 99 8] B Sem @ik
ROt & @F deett & [

ST A Dl STAIHA -T&) arlll
7& FT B AT HIT
[1] 3o (i) T B
[2] () &R (i) && B
[3] (i) &R (i) && B
[4] (i), (i) &N (i) @& |
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81.

[A]
Who among the following Governors
of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi
[3] Dhanik Lal Mandal
[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(i11)) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.

[4] (1), (i1) and (iii) are correct.

P.T.O.
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[A]

89. BN & TUE & ey H

frrfafad wemi WX faR iR

() T& eI FHE [eafEE @
e 2

(ii) 98 T & foell ot @9 & 9 B
qRYT P T 2|

(i)ge 3P T HE QEEd,
BRA To9 T § TeE B

(iv) 3% daae F oFFd B
wiaaag afd < &t

SEH d § H-A/8 BT g oo !

[1] (D), (i), (iii) 3T (iv)

[2] (ii), (iii) 3R (iv)

[3] ®ad (iii)

[4] (ii) A (iii) I

gRaen § @ | ok TS | @
e 2

[1] 7 3R 4

[2] 10 3R 4

[3] 108iR 5

[4] 128R 5

[24]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(i1)) He can hold any office of the
profit in the State.

(i11) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary power granted

under the Constitution.
Which of the above statement(s)
is/are correct ?
[1] (D), (i1), (iii) and (iv)
[2] (ii), (iii) and (iv)
[3] Only (iii)
[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10and 5

[4] 12 and 5

Level-3/911
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[25] [A]
AN - IV (PART - IV)
g s (BIOLOGY)
3T : R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91. M1 & q 9-TT PEE AN A 91. Which of the following codon do not
STirad (SEEE) 787 Hr 7 specify arginine ?
[1] CGC [1] CGC
[2] AGA [2] AGA
[3] CGG [3] CGG
[4] AGU [4] AGU
92. M & q B- e X-foiw o 92. Which one of the following is a
9 7 ? X-linked recessive disease ?
[1] EFiter [1] Haemophilia
[2] SAEES sHUed [2] Diabetes insipidus
[3] E@ﬁ%@:ﬁ [3] Pseudorickets
[4] SRIRCEHIRTE [4] Hypertrichosis
93. &[ﬂﬁﬁ T IR & oTOwd BN & oY 93. Which of the following is
e & 9 P9-1 SAREr © 7 responsible for failure of vaccine in
infants ?
[1] HmaT &l S (IITQ_’ Qﬁ‘ﬂgﬁﬁ) [1] Maternal antibodies
[2] SAaUEay [2] Endotoxins
[3] 99 S [3] Serum protease
[4] ‘Ffﬁ?ﬁlﬁzﬁﬁ_{ﬂ [4] Glucocorticoids
Level-3/9117 P.T.O.
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[A]

94. Ut & IR ¥ = F ¥ 991 T
g7

[1]2@3(6@)@3@%%
|

[2] 39 A&l SURed Bl 2
[3] TR o1eR a0 & @as 8l 2

[4] @4 ageivd ® & o
SEEREIN I

95. HARSEN # g A & N H

97.

e B 7

[1] ST [2] Ao
[3] @RI [4] TgE

FSH (wifeeger N
JehIgaIdd SHM) IEEES &9 H ©
[1] Egehiiiiye

[2] TR

[3] IR

[4] Refae

T (SfeTe) de @

[1] RTAT H T U8

AP H Th @, [k
HATeATHRT bl kel &

s
SiF

[2] SIUAT H IES H Il SFTRTAT
iferRet

[3] iR & @RS B T Hier
TERIA T Al HIRIHT B I

[4] % Gadq § qHeT aRT=
G T TS|
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95. Armadillo

96. Chemically

Which of the following is incorrect
for snakes ?

[1] Bones of palate are movable.

[2] Pectoral girdle is present.
[3] Ribs are free ventrally.

[4] Snakes are sensitive to air borne
vibration.

contributed to the

development of vaccine for :
[1] Tuberculosis [2] Leprosy
[3] Corona [4] AIDS

FSH
stimulating hormone) is :

[1] Glycolipids
[2] Glycoprotein

(follicular

[3] Phosphoglucoprotein
[4] Sphingolipid

91. Antisense technology is :

[1] When a piece of RNA that is
complementary in sequence 1is
used to stop expression of a
specific gene

[2] RNA polymerase that produce

DNA

[3] A cell displaying a foreign
antigen used for synthesis of

antigens

[4] Presence of somatoclonal

variants in tissue culture
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98.

frer & § ®9-w N AEdwied
SITT @] HEbE ST & g<H |
TFT S ?

[1] T G-C content (\‘rﬁ o @
W) ST Bl ol

[2] ¥ A IAET T God § AT
B Bl

[3] ¥ &R % UHK & ST 2id &

[4] T ToHH TIEN J ST B R

99. 9 ¥ ¥ -w ufadt =Iw @

Tagat & g P B 7

[1] Arest —» Re dtE o
AR — Hadl Gl — 769

[2] wiEUst — dadt dbe — A6ty
— W B — ARTE

[3] aPEME — Hadl dEeE —

HETo9] — X Il — Hieush

[4] SREE — Wh TR — T509
—> Gadr dfEer — ArEash
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[A]

98. Which of the following statement is

wrong about mitochondrial DNA
and nuclear DNA ?

[1] They differ in G-C content.

[2] They differ in their buoyant
density value.

[3] They differ in type of bases.

[4] They differ in melting temperature.

99. Which of the following is correct

sequence of the components in a

reflex arc ?

[1] Muscles — Motor neuron —
receptor — Sensory neuron —

Spinal cord

[2] Muscles — Sensory neuron —
Spinal cord — Motor neuron —

Receptors

[3] Receptors — Sensory neurons
— Spinal cord — Motor neuron

— Muscles

[4] Receptor — Motor neuron —
Spinal cord — Sensory neuron

— Muscles
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[A] [28]
100. UIH TIJHEDH Pl ITHT AT AT - 100. The first tetrapods originated in :
[1] SAREfaRE | o [1] Ordovician period
[2] feaita @ # [2] Devonian period
[3] g [3] Silurian
[4] HE~HE & [4] Carboniferous
101. @il § = § @ H9-dl BT 101. Which one of the following cells
Ul % JATE H AT @ & 7 maintain a current of water in
sponge ?
[1] GRS [1] Porocyte
[2] AMERe [2] Myocyte
[3] MRS [3] Chromocyte
[4] SITAERES [4] Choanocyte
102. = HIA B tIﬁ'Q uqq L RCET 102. Read following statements and
gﬁﬂ'\f : choose the correct option :
A. 99 UGS § TR # e A. Pyramid of number in grassland
e 2 B ecosystem is upright.
B. U URda # T @& e B. Pyramid of number in tree
ST BT gl ecosystem is inverted.
C. Tz uiga ¥ Sg-9) & fRis C. Pyramid of biomass in tree
i B | I ecosystem is inverted.
D. S| iR ¥ Si9-9R # e D. Pyramid of biomass in aquatic
ST Bl B ecosystem is inverted.
7el fame ® - Correct option is :
[1] A @aq D [1] Aand D
2] A, B @aq C [2] A,Band C
[3] B, CT@¥ D [3] B,Cand D
[4] A, B TH D [4] A, Band D

Level-3/911
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[29] [A]

103. FHi-plaiiol I B ¢

103. Conchology is the study of :

[1] BITEH & FHad H
[2] AR & STEXOT &l

[3] Aerehr & iR (gomdea)
Iiee 1

[4] AR B

o & o=t & 9 & @ d9-a
aa 78 &7

[1] S=THITHE
[2] ST i
[3] SHIgEHIA

[4] FhEsin A

BB WA § R $eX & aed
s 9 Mo @ @O 99 &9 9

fefea & & ¢
[1] Tehe Al (gred aRen) sr

[2] 9ETE d9XH &
[3] freer fiRfem &/

[4] wufes SR &R

Level-3/911

[1] Shell of Mollusca
[2] Mentle of Mollusca

[3] Suprapedal gland of Mollusca

[4] Mollusca

Which of the following is not true

about Virion ?
[1] Intracellular
[2] Extracellular
[3] Acellular

[4] Crystalizable

The union of sinus venosus with
right auricles in some cases in

mammals is marked externally by :

[1] Sulcus terminalis

[2] Sinus venarum

[3] Crista terminalis

[4] Appendix auricule

Join Telegram - @TeachingExam For Kvs Nvs DSSSB Ctet and others
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[A]

106.

1 & | -1 TeIeH AR
& I faee 9X 9 S @ 7

[1] ST B ufe TaRd e

[2] AFITAET SISt
[3] B-SHfRiley™ T~TEH
[4] OEge ey

g8 SUIRY Sifh X H fheaen &
I ARfsEd o (STams @
) FA @

[1] arigs
2] FriEs
[3] witweiifeq
[4] TReHTES

elgdl Swafilt T8 ooff & S 5 &
99 HET Bld § R o Siiae-h
% fdl uh §9g R 7 uRafidd &
21 Sgddr H I&TEIT ©

[1] a9 o= feer
[2] aife ot
KIISISI

[4] Rt wehE

Level-3/911
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106. Which of the following enzyme is

present on outer membrane of

mitochondria ?

[1] Carnitine fatty acid acyl

transferase
[2] Monoamine oxidase
[3] B-oxidation enzyme
[4] Citrate synthetase

The that the
laryngeal prominence during male

cartilage forms

adolescence is :
[1] Thyroid
[2] Cricoid
[3] Epiglottis
[4] Arytenoids

Protogynous hermaphrodites refer to
organisms that are born female and
some point in their life span change

sex to male.

protogyny is :

The example of

[1] Dwarf angle fish
[2] Clown fish
[3] Coeloplana

[4] Laevapex fuscus
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[31] [A]
109. 9 % H g9 Bl B ¢ 109. Nissel's granules are madeup of :
[1] ST Taq S | [1] DNA and Protein
[2] SIRTAT Taq TEEEy 9 [2] RNA and Ribosomes
[3] ST TEq BIiE 4§ [3] DNA and Cholesterol
[4] 9999 Td ST | [4] Thymine and DNA
110. ¥9 Ry @ "cg\?}f & AT | wEl/ 110. With the help of codes given below
TR A & 0 B T BT select the pair(s) of
spices/condiments :
A. faT AR qq A. Cinchona officinalis and
[EEEIEERSIIEE cinnamomum zeylanicum
B. URUY A=RIH Tqq v aer B. Piper nigrum and Plantago ovata
C. FeeRar A ey RmHeH C. Elettaria cardamomum  and
SISIGER cinnamomum zeylanicum
D. Usdifeswan ‘Eﬁ?ﬁ:ﬂ Tqq S| D. Rauwolfia serpentina and
Jhaer Plantago ovata
E. JERREH B Tqq HoaT E. Myristica fragrans and Ferula
STABIEEST asafoetida
Zc - Codes :
[1] A, C Taq E [1] A,Cand E
2] A, B Taq C [2] A,Band C
[3] C Taq E [3] Cand E
[4] B @aq D [4] Band D
Level-3/911 P.T. O.
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[A]

111. H9-971 Ao fqaas & &9 § &M

[
ol

[
[

T B 7
[1] ST [2] it
[3] Hfew [4] Wi

PBR-322 Wfif% FMT dE® H X8
T B ©, ©

[1] T SRafid JeeRad s
[2] TF g qERe SAE

3] T STaRERi TRiRE ()
[4] @ SUREfid arRa «ieHe

TE IR ST SRS o |
fhe T & IdRads & gy § ?

[1] wER gy SaRaa (%A Ride)
[2] @ SafRaaH (feaiiem)

[3] g SaRecH

[4] sfafafy SaRad (Sxi®e)

LFFICEE & AR TR & (o9

& A s 8 ®
[1] 7%a & [2] gogH &
[3] &9 H [4] ofi= |

Level-3/911
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111.

ol
o

ot
ot

Which is use as fish bait ?

[1] Leech [2] Nereis

[3] Pheretima [4] Arenicola

PBR-322 used as vector for cloning

1S :

[1] A modified bacterial plasmid
[2] An original viral genome

[3] A modified transposon

[4] A modified viral plasmid

Sickle cell anaemia is the result of

which type of mutation in the

haemoglobin gene ?

[1] Frame shift mutation

[2] Deletion

[3] Point mutation

[4] Duplication

114. While migrating larva of Ascaris

takes place its 4th moult in :
[1] Liver [2] Lung

[3] Heart [4] Intestine
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[33] [A]
115. 9 § § I9-T dRe feergom 115. Which one of the following is the
H ISiaes M © 7 systematic name for Lactate

dehydrogenase ?

[1] E.C.1.1.1.27 [1] E.C.1.1.1.27
2] E.C.1.1.1.1 2] E.C.1.1.1.1
[3] E.C.2.3.1.6 [3] E.C.2.3.1.6
[4] E.C.1.11.1.6 [4] E.C.1.11.1.6

116. CD8 HREHT fhg TX IuRed wfeemr 116. CDS cells recognize antigens present

P TEA § 7 on :
[1] 3eIHBIA [1] Interferon
[2] W’HI%E\'H [2] Plasmocytes
[3] EUCEETE [3] Hepatocytes
[4] 3ReEETE [4] Erythrocytes
117. UUEHA 96 9T S & ¢ 117. Epidermal scales are present in :
[1] e =&l § [1] Scoliodon
[2] @ & [2] Rabbit
3] fesuepatt & [3] Lizard
[4] de® | [4] Frog
Level-3/9117 P.T.O.
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[A]

118. UESH® UE § URieEd Hited U

(Acetyl CoA) &9 & aRH =1 & @
HIF-9T MATE & © 7

[1] ferdtgs ert

[2] TRFN TERImERE
[3] THIfeS

[4] To To o

GIATE HIA /T & TAT HH B A
Ru U e H FeEd q I

A. TECRE — RFH — BRRTE

B. UfreiNizd — WENEE —
KIEINIEE

C. feaitem  —
HIATH

g -

%< -

[1] A T B
[2] e B
[3] e C

[4] A Taq C

Level-3/911
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118.

Which one of the following is not
needed during formation of Acetyl

CoA from pyruvic acid ?

[1] Lipoic Acid

[2] Thiamine Pyrophosphate
[3] Aconitase

[4] N.A.D.

Select the incorrect sequence of
Geological periods/Era using the

codes given below :

A. Triassic - Jurassic —

Cretaceous

B. Paleozoic — Mesozoic —

Cenozoic

C. Devonian — Silurian —

Carboniferous
Codes :
[1] Aand B
[2] Only B
[3] Only C

[4] Aand C
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120. R & e § FHAC A @

[1] SHe] SR & (EieE)
[2] TEEE FR &l (SEHEE)
[3] T TR & (FHSIeE)
[4] Tehel THR i (TERmRiREeE)

121, UERY] H §&T G Iga i

[1] S=9 wigar 9 1 diEa & SR
I B T

[2] SI9 & MUY farell |, @
F S digar 9 N digar @
AT T

[3] forait & QuRyd THFGIRT | S
Bl THT

[4] STUeTY farell @ ST ®1 A

122, @R GG P TR AEG e o

[1] 3-4 9T i T
[2] 4-7 9T i T
[3] 5-8 9T ey
[4] @& dffa & Bl ®

Level-3/911
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[
N

el
[

[A]
Skull in members of ratitiae is :
[1] Schizognathous type
[2] Desmognathous type
[3] Dromaeognathous type

[4] Aegithognathous type

Select the correct definition of

0SMOSIS :

[1] Movement of water from higher

concentration to lower

concentration

[2] Movement of water from its
higher concentration to its lower
through

permeable membrane

concentration semi-

Movement

[3]

of water through

aquaporins present in membrane

Movement

[4]

of water through

semi-permeable membrane

122. The length of food chain is limited to :

[1] 3-4 trophic levels
[2] 4-7 trophic levels
[3] 5-8 trophic levels

[4] It is not limited
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[A]

123.

125.

PCR # Y& DNA Ufciiist ar< fean
S ®

[1] IfeE gRfHRE @

[2] TR gHeREE d
[3] g¥® THieHy |/

[4] M=o &

TRAY S @ Siaw e
ETHA (BOD) 3 & & fow
T ST R

[1] 999 FED G&Td H A=
[2] ST STHT & q=T

[3] Sa-FrieiE @ geref @
=

[4] SE-F=iwig wEEE T@ &
9 HENE @ O &
GiEl]

AMEHI~AT § Ik I+ B ®

[1] q&fa g

[2] < & &}
[3] % BT TUMER &R

[4] bk &TT

Level-3/911
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123.

The DNA polymerase used in PCR

is obtained from :

[1] Bacillus thuringiensis

[2] Agrobacterium tumefaciens

[3] Thermus aquaticus

[4] Methanogens

Biological Oxygen Demand (BOD)
of waste water is determined by

measuring the amount of :
[1] Total organic matter
[2] Oxygen consumption

[3] Biodegradable organic matter

[4] Ratio of Biodegradable organic

matter to the total organic matter

Vegetative propagation in Eichornia

takes place by :

[1] Offset

[2] Bulb

[3] Swollen leaf base

[4] Rhizome
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126. e & @ $F-A1 AgARE &9

T G S e 78 g 7

[1] T et
[2] ®R daX
[3] At

[4] TMes EH

FE7 BT HT AT BT
[1] &% % TEHE JO6RH & RraH

Bi< §9 gd, TUC gk & faegd
2 2l

[2] STEfE Uh TERA § Rt ofdd
go qaeEr w4 8 gl

[3] WEH Th TEHRT ofdd g o
JSEH BT B

[4] qUssh daa Th-foll g § Jod
JThH BT B

Level-3/911
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[37]

[A]

126. Which of the following is not an

example of genetically modified

organism ?

[1] Glo fish

[2] Flavr Savr

[3] Molly

[4] Golden Rice

Select the correct statement :

[1] Umbel is a cymose inflorescence

in which short flower stalks
spread from a  flattened
receptacle.

[2] Raceme is an inflorescence in

which sessile flowers are borne

basipetally.

[3] Spike 18 a racemose
inflorescence  having  sessile
flowers.

[4] Capitulum is an inflorescence

having only unisexual flowers.

P.T.O.
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[A]

128. o U9 GaX ST FI bl AfeishAr §

BN dRll Bl e g
g

[1] S R &R
PARESEAL I
[3] BIECERH BRI
[4] BRIl &R

TEIRITS] TIEH JUErl ©

[1] BrER-SE-TRX T4 & faga &
fog

[2] EESNH T & foaey & fou

[3] N-EHhdes o & [aaa
& fo@

[4] YueEsE T4} & fagem & fou

T Tl SUE el Ul od
SNl bl A Ol % MR W

UegT ST ¥, el §

[1] AFRTE
[2] s

[3] &afRaw
[4] Ager

Level-3/911
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128.

Photomorphogenesis in response to

red and far red light is regulated by :

[1] Universal chlorophyll
[2] Cryptochrome

[3] Phytochrome

[4] Phycobilins

Endonuclease enzyme are

responsible for the cleavage of :

[1] Phospho-di-ester bonds

[2] Hydrogen bonds

[3] N-glycosidic linkage

[4] Peptide bonds

The taxonomical aid where plants
and animals are recognised based on
contrasting characteristics is known

as :

[1] Monograph
[2] Key

[3] Herbarium

[4] Manual
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131, FOHSH SFEAE gEen § odse H

133.

AT N B ©
[1] ATP QS

[2] SAferdisT

[3] <R

[4] QrEdEpH €t

THHE d HHD TN Bl FE) AP
AT BT -

[1] €9 & — diT 9/F — g9 — 989

[2] dic 5 > 9% > ®©F 9@ —
LIS

[3] dffd dam — W A —
dic 919 — &y

4] TS O — TP Em —
M —> TEH ST

gueiig fem W dfes  Gfte
AT P T &

[1] S §
2] e |

[3] RE-EI-oa
[4] @I9TeT §

Level-3/911
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[39]

131.

[A]

The final acceptor of electrons in the

electron transport chain is :
[1] ATPase

[2] Oxygen

[3] Plastoquinone

[4] Cytochrome C

Select the correct order of serial

stages of Lithosere :

Stone wort — Peat moss —

[1]
Shrubs — Trees

Peat moss — Herbs — Stone

(2]

worts — Moss

Foliose Lichens — Crustose

[3]

Lichens — Peat moss — Shrubs

[4] Crustose Lichens — Foliose

Lichens — Herbs — Scrub stage

The World Summit on sustainable

development was held at :
[1] Johannesburg

[2] Kyoto

[3] Rio-de-Janeiro

[4] Copenhagen
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[A]

134.

[
(52}

IRy S| §, PAR @89 2
[1] BreRFAfeR ke WeusH &

[2] Mefrfet tacas WU &
[3] HRIFAfeR Tirea Red= &

[4] TsgER wFasE Redi=g &

e weMt W e #ifvie ik
A RU U R B weEd A @8
SR B T HIOT -
AR [A] TR H HIEH
ffr erguRer ekl 21
SR [R] : TSRS, R 9T
G B FEd
g gfeeifasl & 9fd
gt 8 &
%c -
[1] ATd R Gl 99 SR R, A &l
el THT B
[2] Aud R3Al 89 & gy R, A &
el TAHTT & B
[3] A¥d & fbg R o6 @

[4] A STH & g R 8

Freifafaa & @ @F-@1 Ja Sian
ggo Rl & arr S
7 87

[1] e
RIESIGRIERE

[2] FAETaT
CYRESKER

Level-3/911
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134.

136.

In plant world, PAR is the
abbreviation for :
[1] Photosynthetically Active

Radiation
[2] Productivity Activation Radiation

[3] Photosynthetically Active

Response
[4] Producer Activation Response
Consider the following statements

and choose the correct answer using
the codes given below :

Assertion [A] : Mycoplasma lacks a

cell wall.

Reason [R]: Mycoplasma are
resistant to antibiotics
that target cell wall
synthesis.

Codes :

[1] Both A and R are true but R is
the correct explanation of A

[2] Both A and R are true but R is
not the correct explanation of A

[3] A is true but R is false
[4] A is false but R is true

Which of the following is not a free
living nitrogen fixing bacteria ?

[1] Frankia [2] Klebsiella

[3] Clostridium [4] Beijerinckia
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131.

Frefafad woi (of@e A ©
FOT R) W @R #X @& SR &

T HIT

ARHYT (A) : CNG & LPG 9 3f9®
GG AT ST B

S (R): LPG FHE--sE-3ledEs
Begdl § o =@
TREATT Hied B

[1] A T R 31 98l € X R, A &t
el e Bl

[2] A wd R a4F &1 § g R, A
% HEl Al e B

[3] A & B fhg R & & 2
[4] A ®& & & Ry R @& &
Per-1 & Hew-1I § gafa Hife

ud d U R # weEd g8
S B II9 FHIOW -

P - I PiH - 11
(A) ST (i) v
S =56

(B) f&ifore
S =56

(C) faemferae
e 6

(D) TGRS
S 56

%c -

(A)
(iii)
@)
(iv)
(ii)

(i) OfehfRmifran
(iii) FrHErE

(iv) TeFeIpIud

(B)
(i)

(iv)
(ii)
(iii)

©
@iv)
(i)
(ii1)
o))

(D)
(ii)
(iii)
(i)

(iv)

[1]
(2]
[3]
[4]

Level-3/911
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[A]

137. Consider the following statements

(Assertion A and Reason R) and
select the correct answer :

Assertion (A) : CNG 1is considered
safer than LPG.

Reason (R) : LPG releases carbon-

di-oxide and s
difficult to disperse.

[1] Both A & R are correct and R is
the correct explanation of A.

[2] Both A and R are correct but R is
not the correct explanation of A.

[3] A is correct but R is not correct.
[4] A is not correct but R is correct.
Match Column-I with Column-II

and select the correct answer using
the codes given below :

Column - I Column - II
(A) Haplontic (i) Fucus
life cycle
(B) Diplontic (i) Polysiphonia
life cycle
(C) Diplohaplontic  (iii) Chlamydomonas
life cycle
(D) Triphasic (iv) Ectocarpus
life cycle
Codes :
A B © (@D
(11 G @ (iv) (1)
2] @ (v) @) (i)
31 Gv) @Gy (@) (@)
[41 Gy G @) (iv)
P.T.O.
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[A]

139.

Geiforar i & o gl @

[1] &isfisT A (-) T B (+)
[2] @St A () €isiist B (0)
[3] EsieT A (+) @iehis B (+)
[4] ST A (+) TS B (0)

WS B BAE BIH H OGN Dbl
d@r 16 B B @S @ g
ferrSTISlicT ifRreeT § HeThol Sae &
9 fhdq DNA &1 &1 ?

[1] 8
[2] 16
[3] 32

[4] 64

TRl BRI ARG REOET B
ARG Tl ARt # SIS G
B B

[1] BRI
PARSREKISIIER]
3] TR
[4] BTEs

Level-3/911
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139.

Commensalism can be represented

as :

[1] Species A (-) Species B (+)

[2] Species A (—) Species B (0)

[3] Species A (+) Species B (+)

[4] Species A (+) Species B (0)

The number of chromosomes in a
somatic cell of onion is 16. How
many DNA molecules are there in a
tip
metaphase stage of cell division ?

root cell of onion during

[1] 8
[2] 16
[3] 32

[4] 64

The oxygen scavenging in Frankia
induced root nodules for nitrogen
fixation, is carried out by :

[1] Heterocysts
[2] Leghaemoglobin
[3] Nitrogenase

[4] Hopanoids
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[43] [A]
142. T SR % G d gd wE W 142. Select the correct statement in
TG BT reference to the pollen tube.
TR iR SERid B B Pollen tube exhibits :
[1] T{:ﬁ\ﬂfﬁlﬁ T [1] Chemotactic movement
(2] @ﬂﬂzﬁﬁ?ﬁ Ty [2] Chemonastic movement
[3] T{:ﬁﬁﬂiﬁﬁ i [3] Chemotropic movement
[4] Wﬁﬁﬂﬁﬁ RIS | [4] Thigmotropic movement

143. FefoRed § § M- Th e @ 143. Which of the following is not an

Nl & 77 attribute of a population ?
[1] ey e [1] Age pyramid

[2] isfieT er=i=afshan [2] Species interaction
[3] fefmrgar [3] Sex ratio

[4] STH X [4] Natality

144. ﬁ’cl'g'\ IR ORe&ea Seaa # T 144. The Rivet Popper Hypothesis was

o : proposed by :
[1] 9@ Rae T 9@} THo T [1] Paul Rivet and Popper H.
(2] tl?l'{'a?, METR T A=Ble R [2] Farman, Gardiner and Shanklin
[3] THo dRo UMMR ERT [3] H. R. Popper
[4] Ui gefeta & [4] Paul Ehrlich
Level-3/911 P.T.O.
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[A]

145.

RUBISCO @ “‘Sfiedivmst”  foran
ST Il B -

[1] C; 3
[2] C4 b
[3] CAM =sh
[4] C, T

1SS | EC | <L i = =7 i

SEHISRATA ¢
[1] T o S
2] TSB! ® T
[3] WIS
[4] AT B

Frfofad & & ®F-a1 SaeT gl |
Hellie TR S § 7

[1] SR
[2] faf=

[3] Slo THo To

[4] Scgend

Level-3/911
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145.

The  'oxygenase'  activity  of

RUBISCO initiates :

[1] C;cycle

[2] C4 cycle

[3] CAM cycle

[4] C, cycle

Trichodesmium, the cause of redness

of Red sea is :

[1] An archae bacteria

[2] A Rhodophyceae member

[3] A Cyanobacter

[4] The Red mould

147. Which of the following is the most

abundant biomolecule on earth ?
[1] RUBISCO

[2] Lignin

[3] DNA

[4] Cellulose
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148. fHfRRed FFl W R fifke o

A U U Rl B wEEd 8
SR B II9 IO -

FYT (A):TE® P AN
ATHE FAD B UG
F9 Gaediad T PH
ST JoT Bl ol

TP EGIRE
SUTEl wE HRe
FC & @ oEarad
I Bl Bl

SR (R) :

%c -
[1] ATd R G99 & R, A &l
el TR &

[2] Aud RNl &9 & gy R, A &
el TFT e o

[3] A¥d & fg R 98 &

[4] ASEd & g REA &

qredl # g aReed & d@ed § 7o
HIT P T PO -

[1] 39 ofpm & foo o Rreen
1 | M e R G | S o Y

[2] T8 ‘Sreed’ Rae 2

[3] 29 9iskar § uRaed dq< 8l S
B

[4] T8 STEaROTHS UiehaT 2B

Level-3/911
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[A]

148. Consider the following statements

and choose the correct answer using

the codes given below :

Assertion (A) : Heartwood is less
susceptible to
fungus and contains

less moisture than

sapwood.

Reason (R):  Heartwood stores
secondary
metabolites and
have tylosis.

Codes :

[1] Both A and R are true and R is
the correct explanation of A

[2] Both A and R are true but R is
not the correct explanation of A

[3] A is true but R is false
[4] A is false but R is true

Select the incorrect statement

regarding facilitated transport in

plants :

[1] Special membrane proteins are
required for the process.

[2] Itis a downhill transport.

[3] In this process, the transport
saturates.

[4] Itis a non-selective process.

P.T.O.
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[A] [46]

150. &W-II § Ru 7w dafg & omfE 150. Match the expected phenotypic

RO ST # Ffem-1 § s ratios (Column-II) in progeny from
I fEdex el @ qRREl @ dihybrid parents with the conditions
ﬂ'ﬁﬁﬁf T - specified in Column-I :
Fia-1 Ftaq-11 Column-I Column-II
(A) ; @ 9:3:4 (A) Dominant i 9:3:4
T epistasis
(B) Sl eern (i) 9:3:3: 1 (B) Recessive Gi) 9:3:3:1
epistasis

(C)Wﬁfﬁ () 12:3:1
(C) Complementary (iii) 12:3:1

(D) F13 SA=AERAT (i) 9 : 7 genes
& (D) No interaction  (iv) 9:7

% - Codes :

A B (©) (D) (A) B) (€ (D)
(11 @ @)  @v) (i) [11 @) (i)  (@v) (i)
2]  Gi) (@) (v) (i) 2]  Gi) (@) (iv) (1)
[31 Gi)  Gi) @G (iv) 31 Gy  Gu) (@) (iv)
[41  Gv o ) GiD) ) 4 v @ @
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R @& @
IR TF F RN GHE B X 3§ O SR IA% T H
Sl

6. U & I, I % § Mg @i & F 9| @Ee . Answers to questions in answer sheet are to be
bl q T %} ér{:n o = e ™ % given by darkening complete circle using Black ball
@ . @ @ point pen as shown below :
MY ERT f&dr T IO T AT SO, afE IO @

The answer will be treated wrong;, if it is marked, as given
below :

o e ®

If you fill more than one circle it will be treated as a
wrong answer.

7. T A 9F-JRaH § 39 TeW & [T & T @R FE WX & # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

8. T T Fad OMR IR % W & Sifhd HT U IO AMYE® Sfehd HY IR Tae o 90 07 (The FIS) & TGN

s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

9. JU% U & foq Ru 109X faeedt & @ S fsed & T OMR ST ©% W 39 TF gq & & T aE & did 9Re 9
¥ T T IR I SiFT HW B 9% I TGl Tl S FHaT DA (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

10. sl gifEg & % 30 ST O # Al T N @ 3@ W HE Y AWM T T AR o AHEih I o A
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

11. 9%7- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬂl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. HQ‘I—W/W =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. oreaet i wlen /@ ¥ g o AR TeAW W & e Bl seR @ weg-anl, 3| a1 ewiafad & @ ure,
JoR, MeEA B, gslies SUBT A Rl oF UK & |l & S a1 IWM HIA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

14. TEF S I8 TN W GOE AR ST Fa Fe (I o) iR TN W i@ (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

15. &= e a1 THaes @ QA Bﬂqﬁf % o Eb:l"és ol ST WM A B (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

16. FAXT THE® & U SR TF [T faFT Ud s&mR o W 6N eweR e o sl qler e 2 s aR fed
el 7 gAY 9R SWER 9 W SWRR e Y A ¥ A e f 3En I T TE e’ & R T HET &
A AT STCT OMR SR 0% & Feiia @M W ol ol e o ey & oS & e e S 21 oS &
MM 10 999 59 99 W M @ ] [ @e @@ Aer § & a0 A i @Rt & AR T o 959 ot o 9 7 &
¥gd P1I (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

11. s%aa’rﬁzs/waﬁa TR H ST afsid 2 (Use of Electronic/Manual Calculator is prohibited.)

18. TURT i@ & STRW & [, oreeft faaxiorm & & & ufrn/fRen-FRy g a1 & o Fret @ e @ Gdw em W@ egRa
et 3 ol a0 dea 9 3 fremt w e @ SINGIN g (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

19. el g@a | HQ‘I—SFFIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

20. &N T BN W, ARl F/2 Bied § [@ SR F F-THAES H oad Al 3 Al o Y 3@ usA-gRaH & A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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